

# Amerigroup Community Care

Access Analysis
Atlanta

December 27, 2023

#### **PCPs** - Urban

December 27, 2023

Access Analysis

Adult\_PCP\_Urban(2 prov in 8 Miles)

Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) PCPs (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	PCPs	2 in 8 miles	24	51.4	1,130	91.6	103	8.4	3.1	3.3
Bartow, GA	1,471	PCPs	2 in 8 miles	71	20.7	1,338	91.0	133	9.0	3.3	3.6
Carroll, GA	1,483	PCPs	2 in 8 miles	79	18.8	1,368	92.2	115	7.8	3.2	3.7
Cherokee, GA	2,134	PCPs	2 in 8 miles	172	12.4	2,076	97.3	58	2.7	1.8	2.2
Clayton, GA	5,148	PCPs	2 in 8 miles	139	37.0	5,148	100.0	0	0.0	1.4	1.8
Cobb, GA		PCPs	2 in 8 miles	522	14.4	7,517		0	0.0		1.6
Coweta, GA		PCPs	2 in 8 miles	89	15.0	1,178	88.2	158	11.8		3.5
DeKalb, GA	10,007		2 in 8 miles	417	24.0	10,007	100.0	0	0.0		1.6
Douglas, GA		PCPs	2 in 8 miles	77	33.2	2,521	98.6	35	1.4	2.2	2.8
Fayette, GA		PCPs	2 in 8 miles	122	7.4	885	97.6	22	2.4	2.2	2.4
Forsyth, GA		PCPs	2 in 8 miles	114	7.8	879	99.0	9	1.0		2.6
Fulton, GA	13,033		2 in 8 miles	853	15.3	12,960	99.4	73	0.6		1.7
Gwinnett, GA		PCPs	2 in 8 miles	532	17.8	9,465	100.0	0	0.0	1.3	1.5
Henry, GA		PCPs	2 in 8 miles	189	25.3	4,791	100.0	0	0.0		2.0
Newton, GA		PCPs	2 in 8 miles	40	50.1	1,754	87.5	251	12.5	3.6	4.0
Paulding, GA		PCPs	2 in 8 miles	53	31.2	1,624	98.2	29	1.8	2.1	2.7
Rockdale, GA		PCPs	2 in 8 miles	97	15.8	1,530	100.0	0	0.0		1.5
Spalding, GA		PCPs	2 in 8 miles	47	17.8	824	98.6	12	1.4	2.2	2.4
Walton, GA	1,569	PCPs	2 in 8 miles	51	30.8	1,564	99.7	5	0.3	2.2	2.5
Grand Totals	69,562	PCPs	2 in 8 miles	3,688	18.9	68,559	98.6	1,003	1.4	1.7	2.0

#### **PCPs - Rural**

December 27, 2023

Access Analysis

Adult\_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members (ATLANTA\_RURAL) PCPs

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA	374	PCPs	2 in 15 miles	20			100.0		0	0.0	4.8	4.8
Haralson, GA		PCPs	2 in 15 miles	13	23.2		100.0		0	0.0	3.2	4.8
Jasper, GA		PCPs	2 in 15 miles	5			100.0		0	0.0	8.6	9.1
Pickens, GA		PCPs	2 in 15 miles	18	16.9	305	100.0		0	0.0	3.4	3.7
Grand Totals	1,167	PCPs	2 in 15 miles	56	20.8	1,167	100.0		0	0.0	4.6	5.2
© 2023 Quest Analytics III C												

#### **Pediatricians - Urban**

December 27, 2023

Pediatricians

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	4,263	Pediatricians	2 in 8 miles	24	177.6	3,980	93.4	283	6.6	2.9	3.2
Bartow, GA	4,740	Pediatricians	2 in 8 miles	71	66.8	4,398	92.8	342	7.2	3.1	3.5
Carroll, GA	4,670	Pediatricians	2 in 8 miles	79	59.1	4,348	93.1	322	6.9	3.2	3.8
Cherokee, GA	7,700	Pediatricians	2 in 8 miles	172	44.8	7,563	98.2	137	1.8	1.7	2.2
Clayton, GA	16,345	Pediatricians	2 in 8 miles	139	117.6	16,345	100.0	0	0.0	1.4	1.8
Cobb, GA	25,381	Pediatricians	2 in 8 miles	521	48.7	25,381	100.0	0	0.0	1.4	1.7
Coweta, GA	4,029	Pediatricians	2 in 8 miles	89	45.3	3,679	91.3	350	8.7	2.7	3.3
DeKalb, GA	32,113	Pediatricians	2 in 8 miles	417	77.0	32,113	100.0	0	0.0	1.2	1.5
Douglas, GA	7,894	Pediatricians	2 in 8 miles	77	102.5	7,797	98.8	97	1.2	2.2	2.8
Fayette, GA	2,897	Pediatricians	2 in 8 miles	122	23.7	2,845	98.2	52	1.8	2.1	2.4
Forsyth, GA	3,255	Pediatricians	2 in 8 miles	114	28.6	3,206	98.5	49	1.5	2.2	2.4
Fulton, GA	37,120	Pediatricians	2 in 8 miles	853	43.5	36,885	99.4	235	0.6	1.4	1.7
Gwinnett, GA	37,316	Pediatricians	2 in 8 miles	532	70.1	37,316	100.0	0	0.0	1.3	1.5
Henry, GA	14,152	Pediatricians	2 in 8 miles	189	74.9	14,152		0	0.0	1.9	2.1
Newton, GA	6,287	Pediatricians	2 in 8 miles	40	157.2	5,474	87.1	813	12.9	3.6	4.1
Paulding, GA	5,485	Pediatricians	2 in 8 miles	53	103.5	5,404	98.5	81	1.5	2.1	2.6
Rockdale, GA	4,729	Pediatricians	2 in 8 miles	97		4,729	100.0	0	0.0		1.6
Spalding, GA		Pediatricians	2 in 8 miles	47	46.5	2,161	98.8	26	1.2		2.3
Walton, GA	5,489	Pediatricians	2 in 8 miles	51	107.6	5,468	99.6	21	0.4	2.2	2.5
Grand Totals	226,052	Pediatricians	2 in 8 miles	3,687	61.3	223,244	98.8	2,808	1.2	1.7	2.0

#### **Pediatricians - Rural**

December 27, 2023

Access Analysis Child Pediatricians- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatricians

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,051	Pediatricians	2 in 15 miles	20	52.6	1,051	100.0	0	0.0	4.7	4.7		
Haralson, GA		Pediatricians	2 in 15 miles	13	69.2		100.0		0.0	3.4	4.9		
Jasper, GA		Pediatricians	2 in 15 miles	5		647	100.0	0	0.0				
Pickens, GA	983	Pediatricians	2 in 15 miles	18	54.6	983	100.0	0	0.0	3.6	3.9		
Grand Totals	3,581	Pediatricians	2 in 15 miles	56	63.9	3,581	100.0	0	0.0	4.6	5.2		
© 2023 Quest Analytics, LLC.		ļ	<u> </u>										

# **Adult Allergy/Immunology - Urban**

December 27, 2023

**Access Analysis** 

Adult\_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) Adult\_Allergy/Immunology (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Allergy/	1 in 30 miles	0		1,233	100.0	0	0.0	14.1	14.3
Bartow, GA	1,471	Adult_Allergy/	1 in 30 miles	0		1,258	85.5	213	14.5	21.9	23.4
Carroll, GA	1,483	Adult_Allergy/	1 in 30 miles	4	370.8	1,483	100.0	0	0.0	5.7	5.7
Cherokee, GA	2,134	Adult_Allergy/	1 in 30 miles	2	1,067.0	2,134	100.0	0	0.0	5.3	10.4
Clayton, GA	5,148	Adult_Allergy/	1 in 30 miles	0		5,148	100.0	0	0.0	10.0	10.5
Cobb, GA	7,517	Adult_Allergy/	1 in 30 miles	11	683.4	7,517	100.0	0	0.0	3.6	5.4
Coweta, GA	1,336	Adult_Allergy/	1 in 30 miles	4	334.0	1,336	100.0	0	0.0	6.6	7.1
DeKalb, GA	10,007	Adult_Allergy/	1 in 30 miles	22	454.9	10,007	100.0	0	0.0	5.2	6.0
Douglas, GA	2,556	Adult_Allergy/	1 in 30 miles	3	852.0	2,556	100.0	0	0.0	4.9	5.2
Fayette, GA	907	Adult_Allergy/	1 in 30 miles	1	907.0	907	100.0	0	0.0	7.0	12.0
Forsyth, GA		Adult_Allergy/	1 in 30 miles	3	296.0	888	100.0	0	0.0		5.6
Fulton, GA	13,033	Adult_Allergy/	1 in 30 miles	30	434.4	13,033	100.0	0	0.0	7.2	8.3
Gwinnett, GA	9,465	Adult_Allergy/	1 in 30 miles	20	473.3	9,465	100.0	0	0.0	3.9	4.6
Henry, GA	4,791	Adult_Allergy/	1 in 30 miles	2	2,395.5	4,791	100.0	0	0.0	8.2	8.8
Newton, GA	2,005	Adult_Allergy/	1 in 30 miles	0		2,005	100.0	0	0.0	14.0	20.8
Paulding, GA	1,653	Adult_Allergy/	1 in 30 miles	2	826.5	1,653		0	0.0	5.0	7.3
Rockdale, GA		Adult_Allergy/	1 in 30 miles	1	,	1,530		0	0.0	4.5	14.7
Spalding, GA	836	Adult_Allergy/	1 in 30 miles	1	836.0		100.0	0	0.0	4.1	18.7
Walton, GA	1,569	Adult_Allergy/	1 in 30 miles	0		1,568	99.9	1	0.1	13.3	14.3
Grand Totals	69,562	Adult_Allerg	1 in 30 miles	106	656.2	69,348	99.7	214	0.3	6.8	8.4

# **Adult Allergy/Immunology - Rural**

December 27, 2023

**Access Analysis** 

Adult\_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members (ATLANTA\_RURAL) Adult\_Allergy/Immunology (ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Allergy/	1 in 45 miles	0		0	0.0	374	100.0		
Haralson, GA	302	Adult_Allergy/	1 in 45 miles	0		0	0.0	302	100.0		
Jasper, GA	186	Adult_Allergy/	1 in 45 miles	0		0	0.0		100.0		
Pickens, GA	305	Adult_Allergy/	1 in 45 miles	0		0	0.0	305	100.0		
Grand Totals	1,167	Adult_Allerg	1 in 45 miles	0		0	0.0	1,167	100.0		
© 2023 Quest Analytics 11 C				<u> </u>							

#### **Adult Cardiology -Urban**

December 27, 2023

Access Analysis Adult\_Cardiology - Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Cardiology
(ATLANTA\_URBAN)

			Members W	/ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Cardiol	1 in 30 miles	43	28.7	1,233	100.0	0	0.0	3.4	4.3
Bartow, GA	1,471	Adult_Cardiol	1 in 30 miles	7	210.1	1,471	100.0	0	0.0	7.4	7.8
Carroll, GA	1,483	Adult_Cardiol	1 in 30 miles	19	78.1	1,483	100.0	0	0.0	4.5	4.8
Cherokee, GA	2,134	Adult_Cardiol	1 in 30 miles	133	16.0	2,134	100.0	0	0.0	3.7	3.9
Clayton, GA	5,148	Adult_Cardiol	1 in 30 miles	51	100.9	5,148	100.0	0	0.0	3.3	3.3
Cobb, GA	7,517	Adult_Cardiol	1 in 30 miles	87	86.4	7,517	100.0	0	0.0	2.8	3.7
Coweta, GA	1,336	Adult_Cardiol	1 in 30 miles	54	24.7	1,336	100.0	0	0.0	4.9	5.0
DeKalb, GA	10,007	Adult_Cardiol	1 in 30 miles	172	58.2	10,007	100.0	0	0.0	3.4	3.5
Douglas, GA	2,556	Adult_Cardiol	1 in 30 miles	25	102.2	2,556	100.0	0	0.0	3.8	4.3
Fayette, GA	907	Adult Cardiol	1 in 30 miles	40	22.7	907	100.0	0	0.0	5.1	5.1
Forsyth, GA	888	Adult_Cardiol	1 in 30 miles	131	6.8	888	100.0	0	0.0	4.7	4.8
Fulton, GA	13,033	Adult_Cardiol	1 in 30 miles	435	30.0	13,033	100.0	0	0.0	3.2	3.7
Gwinnett, GA	9,465	Adult_Cardiol	1 in 30 miles	280	33.8	9,465	100.0	0	0.0	2.8	3.1
Henry, GA	4,791	Adult_Cardiol	1 in 30 miles	62	77.3	4,791	100.0	0	0.0	5.1	5.4
Newton, GA	2,005	Adult Cardiol	1 in 30 miles	3	668.3	2,005	100.0	0	0.0	5.6	6.7
Paulding, GA	1,653	Adult Cardiol	1 in 30 miles	3	551.0	1,653		0	0.0	4.1	5.3
Rockdale, GA	1,530	Adult Cardiol	1 in 30 miles	55	27.8	1,530	100.0	0	0.0	2.4	3.8
Spalding, GA	836	Adult Cardiol	1 in 30 miles	15	55.7	836	100.0	0	0.0	3.8	4.0
Walton, GA	1,569	Adult_Cardiol	1 in 30 miles	40	39.2	1,569	100.0	0	0.0	3.3	3.4
Grand Totals	69,562	Adult_Cardio	1 in 30 miles	1,655	42.0	69,562	100.0	0	0.0	3.6	4.0
© 2023 Quest Analytics 11 C											

#### **Adult Cardiology - Rural**

December 27, 2023

Access Analysis Adult\_Cardiology - Rural

Member / Provider Groups

Adult Rural Members (ATLANTA\_RURAL) Adult\_Cardiology (ATLANTA\_RURAL)

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	374	Adult_Cardiol	1 in 45 miles	4	93.5	374	100.0	0	0.0	5.5	6.4		
Haralson, GA			1 in 45 miles	2			100.0	0	0.0	7.1	7.1		
Jasper, GA			1 in 45 miles	1			100.0			19.5			
Pickens, GA	305	Adult_Cardiol	1 in 45 miles	25	12.2	305	100.0	0	0.0	4.5	4.5		
Grand Totals	1,167	Adult_Cardio	1 in 45 miles	32	36.5	1,167	100.0	0	0.0	7.9	8.5		
© 2023 Quest Analytics, LLC.					ļ.								

#### **Adult Endocrinology - Urban**

December 27, 2023

Access Analysis
Adult\_Endocrinology - Urban

Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) Adult\_Endocrinology (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Endocri	1 in 30 miles	1	1,233.0	1,233	100.0	0	0.0	6.2	16.1
Bartow, GA	1,471	Adult_Endocri	1 in 30 miles	2	735.5	1,471	100.0	0	0.0	7.8	8.3
Carroll, GA	1,483	Adult_Endocri	1 in 30 miles	0		1,014	68.4	469	31.6	28.1	28.3
Cherokee, GA	2,134	Adult_Endocri	1 in 30 miles	4	533.5	2,134	100.0	0	0.0	5.4	6.9
Clayton, GA	5,148	Adult_Endocri	1 in 30 miles	4	1,287.0	5,148	100.0	0	0.0	4.9	5.4
Cobb, GA	7,517	Adult_Endocri	1 in 30 miles	8	939.6	7,517	100.0	0	0.0	4.0	5.3
Coweta, GA	1,336	Adult_Endocri	1 in 30 miles	5	267.2	1,336	100.0	0	0.0	5.8	7.6
DeKalb, GA	10,007	Adult_Endocri	1 in 30 miles	45	222.4	10,007	100.0	0	0.0	4.9	5.6
Douglas, GA	2,556	Adult_Endocri	1 in 30 miles	0		2,556	100.0	0	0.0	14.7	14.9
Fayette, GA	907	Adult_Endocri	1 in 30 miles	4	226.8	907	100.0	0	0.0	4.8	5.3
Forsyth, GA	888	Adult_Endocri	1 in 30 miles	1	888.0	888	100.0	0	0.0	8.0	12.2
Fulton, GA	13,033	Adult_Endocri	1 in 30 miles	59	220.9	13,033	100.0	0	0.0	6.7	7.0
Gwinnett, GA	9,465	Adult_Endocri	1 in 30 miles	13	728.1	9,465	100.0	0	0.0	5.6	7.7
Henry, GA	4,791	Adult_Endocri	1 in 30 miles	1	4,791.0	4,791	100.0	0	0.0	7.8	11.5
Newton, GA	2,005	Adult_Endocri	1 in 30 miles	0		2,005	100.0	0	0.0	13.2	20.4
Paulding, GA	1,653	Adult Endocri	1 in 30 miles	0		1,653	100.0	0	0.0	14.1	14.5
Rockdale, GA	1,530	Adult Endocri	1 in 30 miles	1	1,530.0	1,530		0	0.0	4.5	17.8
Spalding, GA		Adult Endocri	1 in 30 miles	0		836	100.0	0	0.0	19.3	20.7
Walton, GA		Adult_Endocri	1 in 30 miles	0		1,569		0	0.0	14.3	18.7
Grand Totals	69,562	Adult_Endoc	1 in 30 miles	148	470.0	69,093	99.3	469	0.7	7.3	9.1
	,	_				•					

#### **Adult Endocrinology - Rural**

December 27, 2023

Access Analysis
Adult\_Endocrinology - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Endocrinology
(ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Endocri	1 in 45 miles	0		0	0.0	374	100.0		
Haralson, GA	302	Adult_Endocri	1 in 45 miles	0		0	0.0		100.0		
Jasper, GA			1 in 45 miles	0		0			100.0		
Pickens, GA	305	Adult_Endocri	1 in 45 miles	0		0	0.0	305	100.0		
Grand Totals	1,167	Adult_Endoc	1 in 45 miles	0		0	0.0	1,167	100.0		

#### **Adult ENT - Urban**

December 27, 2023

Access Analysis
Adult\_ENT- Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_ENT
(ATLANTA\_URBAN)

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pi	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	1,233	Adult_ENT	1 in 30 miles	0		1,233	100.0	0	0.0	12.3	14.4		
Bartow, GA	1,471	Adult_ENT	1 in 30 miles	7	210.1	1,471		0	0.0	6.7	6.7		
Carroll, GA	1,483	Adult_ENT	1 in 30 miles	5		1,483		0	0.0		5.7		
Cherokee, GA	2,134	Adult_ENT	1 in 30 miles	12		2,134		0	0.0	4.3	4.7		
Clayton, GA	5,148	Adult_ENT	1 in 30 miles	6	858.0	5,148		0	0.0	3.2	3.8		
Cobb, GA	7,517	Adult_ENT	1 in 30 miles	26		7,517		0	0.0	3.9	3.9		
Coweta, GA	1,336	Adult_ENT	1 in 30 miles	2	668.0	1,336	100.0	0	0.0	5.5	9.5		
DeKalb, GA	10,007	Adult_ENT	1 in 30 miles	59	169.6	10,007	100.0	0	0.0	3.9	5.2		
Douglas, GA	2,556	Adult_ENT	1 in 30 miles	2	1,278.0	2,556	100.0	0	0.0	4.9	5.1		
Fayette, GA	907	Adult_ENT	1 in 30 miles	20	45.4	907	100.0	0	0.0	4.3	5.8		
Forsyth, GA	888	Adult_ENT	1 in 30 miles	21	42.3	888	100.0	0	0.0	5.3	5.6		
Fulton, GA	13,033	Adult_ENT	1 in 30 miles	158	82.5	13,033	100.0	0	0.0	3.5	4.8		
Gwinnett, GA	9,465	Adult_ENT	1 in 30 miles	33	286.8	9,465	100.0	0	0.0	4.0	4.8		
Henry, GA	4,791	Adult_ENT	1 in 30 miles	11	435.5	4,791	100.0	0	0.0	7.6	7.8		
Newton, GA	2,005	Adult_ENT	1 in 30 miles	1	2,005.0	2,005	100.0	0	0.0	7.0	12.8		
Paulding, GA	1,653	Adult_ENT	1 in 30 miles	2	826.5	1,653	100.0	0	0.0	5.3	5.4		
Rockdale, GA	1,530	Adult_ENT	1 in 30 miles	2	765.0	1,530	100.0	0	0.0	4.4	4.4		
Spalding, GA	836	Adult_ENT	1 in 30 miles	1	836.0	836	100.0	0	0.0	4.3	18.4		
Walton, GA	1,569	Adult_ENT	1 in 30 miles	3	523.0	1,569	100.0	0	0.0	6.2	6.7		
Grand Totals	69,562	Adult_ENT	1 in 30 miles	371	187.5	69,562	100.0	0	0.0	4.6	5.7		

#### **Adult ENT - Rural**

December 27, 2023

Access Analysis
Adult\_ENT - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_ENT
(ATLANTA\_RURAL)

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	374	Adult_ENT	1 in 45 miles	0		0	0.0	374	100.0	77.9			
Haralson, GA		Adult_ENT	1 in 45 miles	1			100.0	0					
Jasper, GA		Adult_ENT	1 in 45 miles	0		0			100.0				
Pickens, GA	305	Adult_ENT	1 in 45 miles	0		0	0.0	305	100.0	74.1			
Grand Totals	1,167	Adult_ENT	1 in 45 miles	1	1,167.0	302	25.9	865	74.1	60.3			
© 2023 Quest Analytics, LLC.									<u> </u>				

# **Adult Gastroenterology - Urban**

December 27, 2023

Access Analysis
Adult\_Gastreontology - Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Gastroenterology
(ATLANTA\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	1,233	Adult_Gastro	1 in 30 miles	4	308.3	1,233	100.0	0	0.0	5.7	5.8	
Bartow, GA	1,471	Adult_Gastro	1 in 30 miles	5	294.2	1,471		0	0.0	7.5	7.8	
Carroll, GA	1,483	Adult_Gastro	1 in 30 miles	5	296.6	1,483		0	0.0	5.7	9.5	
Cherokee, GA	2,134	Adult_Gastro	1 in 30 miles	44	48.5	2,134		0	0.0	4.3	4.3	
Clayton, GA	5,148	Adult_Gastro	1 in 30 miles	23	223.8	5,148	100.0	0	0.0	3.3	3.6	
Cobb, GA	7,517	Adult_Gastro	1 in 30 miles	178	42.2	7,517		0	0.0	3.0	3.2	
Coweta, GA	1,336	Adult_Gastro	1 in 30 miles	8	167.0	1,336	100.0	0	0.0	5.0	6.2	
DeKalb, GA	10,007	Adult_Gastro	1 in 30 miles	70	143.0	10,007	100.0	0	0.0	3.6	3.8	
Douglas, GA	2,556	Adult_Gastro	1 in 30 miles	30	85.2	2,556	100.0	0	0.0	4.3	4.4	
Fayette, GA	907	Adult_Gastro	1 in 30 miles	10	90.7	907	100.0	0	0.0	5.0	5.9	
Forsyth, GA	888	Adult_Gastro	1 in 30 miles	36	24.7	888	100.0	0	0.0	4.8	6.0	
Fulton, GA	13,033	Adult_Gastro	1 in 30 miles	268	48.6	13,033	100.0	0	0.0	3.8	4.1	
Gwinnett, GA	9,465	Adult_Gastro	1 in 30 miles	63	150.2	9,465	100.0	0	0.0	3.7	4.3	
Henry, GA	4,791	Adult_Gastro	1 in 30 miles	21	228.1	4,791	100.0	0	0.0	5.4	6.0	
Newton, GA	2,005	Adult_Gastro	1 in 30 miles	12	167.1	2,005	100.0	0	0.0	6.8	6.9	
Paulding, GA	1,653	Adult_Gastro	1 in 30 miles	11	150.3	1,653	100.0	0	0.0	5.0	5.1	
Rockdale, GA	1,530	Adult_Gastro	1 in 30 miles	12	127.5	1,530	100.0	0	0.0	4.2	4.2	
Spalding, GA	836	Adult_Gastro	1 in 30 miles	6	139.3	836	100.0	0	0.0	4.0	4.1	
Walton, GA	1,569	Adult_Gastro	1 in 30 miles	4	392.3	1,569	100.0	0	0.0	4.6	4.6	
Grand Totals	69,562	Adult_Gastr	1 in 30 miles	810	85.9	69,562	100.0	0	0.0	4.1	4.5	

# **Adult Gastroenterology - Rural**

December 27, 2023

Access Analysis
Adult\_Gastreontology- Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Gastroenterology
(ATLANTA\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA		Adult_Gastro	1 in 45 miles	0		0	0.0	374	100.0	77.9	77.9		
Haralson, GA	302	Adult_Gastro	1 in 45 miles	3		302	100.0						
Jasper, GA			1 in 45 miles	0		0			100.0		87.8		
Pickens, GA	305	Adult_Gastro	1 in 45 miles	3	101.7	305	100.0	0	0.0	5.5	5.5		
Grand Totals	1,167	Adult_Gastr	1 in 45 miles	6	194.5	607	52.0	560	48.0	42.2	42.2		
© 2023 Quest Analytics IIC													

# **Adult Hematology/Oncology - Urban**

December 27, 2023

#### **Access Analysis**

Adult\_Hemotology/Oncology-Urban

#### Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) Adult\_Hematology/Oncology (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Hemat	1 in 30 miles	1	1,233.0	1,233	100.0	0	0.0	5.6	12.4
Bartow, GA	1,471	Adult_Hemat	1 in 30 miles	3	490.3	1,471	100.0	0	0.0	7.6	8.1
Carroll, GA	1,483	Adult_Hemat	1 in 30 miles	16	92.7	1,483	100.0	0	0.0	5.3	5.3
Cherokee, GA	2,134	Adult_Hemat	1 in 30 miles	25	85.4	2,134	100.0	0	0.0	4.4	6.0
Clayton, GA	5,148	Adult_Hemat	1 in 30 miles	12	429.0	5,148	100.0	0	0.0	3.4	3.5
Cobb, GA	7,517	Adult_Hemat	1 in 30 miles	22	341.7	7,517	100.0	0	0.0	4.1	4.6
Coweta, GA	1,336	Adult_Hemat	1 in 30 miles	17	78.6	1,336	100.0	0	0.0	5.6	6.5
DeKalb, GA	10,007	Adult_Hemat	1 in 30 miles	152	65.8	10,007	100.0	0	0.0	4.1	4.7
Douglas, GA	2,556	Adult_Hemat	1 in 30 miles	4	639.0	2,556		0	0.0	4.9	5.0
Fayette, GA	907	Adult_Hemat	1 in 30 miles	17	53.4	907	100.0	0	0.0		5.8
Forsyth, GA	888	Adult_Hemat	1 in 30 miles	28	31.7	888	100.0	0	0.0	6.1	6.2
Fulton, GA	13,033	Adult_Hemat	1 in 30 miles	243	53.6	13,033		0	0.0		4.2
Gwinnett, GA	9,465	Adult_Hemat	1 in 30 miles	46	205.8	9,465		0	0.0	3.9	4.2
Henry, GA	4,791	Adult_Hemat	1 in 30 miles	19	252.2	4,791		0	0.0		7.8
Newton, GA	2,005	Adult_Hemat	1 in 30 miles	3	668.3	2,005	100.0	0	0.0	6.9	7.1
Paulding, GA	1,653	Adult_Hemat	1 in 30 miles	4	413.3	1,653	100.0	0	0.0		5.4
Rockdale, GA	1,530	Adult_Hemat	1 in 30 miles	12	127.5	1,530		0	0.0		3.6
Spalding, GA	836	Adult_Hemat	1 in 30 miles	6	139.3	836	100.0	0	0.0		4.4
Walton, GA	1,569	Adult_Hemat	1 in 30 miles	3	523.0	1,569	100.0	0	0.0	6.6	6.8
Grand Totals	69,562	Adult_Hemat	1 in 30 miles	633	109.9	69,562	100.0	0	0.0	4.6	5.1
© 2023 Quest Analytics 11 C											

# **Adult Hematology/Oncology - Rural**

December 27, 2023

**Access Analysis** 

Adult\_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members (ATLANTA\_RURAL) Adult\_Hematology/Oncology (ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Hemat	1 in 45 miles	0		0	0.0	374	100.0	77.9	77.9
Haralson, GA		Adult_Hemat	1 in 45 miles	2	151.0		100.0	0	0.0		
Jasper, GA			1 in 45 miles	0		0			100.0		88.7
Pickens, GA	305	Adult_Hemat	1 in 45 miles	0		0	0.0	305	100.0	74.1	74.1
Grand Totals	1 167	Adult_Hemat	1 in 45 miles	,	583.5	302	25.9	865	74.1	60.3	60.3
Grand Totals	1,107	Addit_Hemat	1 in 45 miles	2	503.5	302	25.9	000	74.1	60.3	60.3
© 2023 Quest Analytics, LLC.											

#### **Adult Nephrology - Urban**

December 27, 2023

Access Analysis
Adult\_Nephrology - Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Nephrology
(ATLANTA\_URBAN)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	1,233	Adult_Nephro	1 in 30 miles	11	112.1	1,233	100.0	0	0.0	3.5	4.9		
Bartow, GA	1,471	Adult_Nephro	1 in 30 miles	21	70.0	1,471	100.0	0	0.0	6.3	7.5		
Carroll, GA	1,483	Adult_Nephro	1 in 30 miles	28	53.0	1,483	100.0	0	0.0	4.7	4.7		
Cherokee, GA	2,134	Adult_Nephro	1 in 30 miles	59	36.2	2,134	100.0	0	0.0	3.5	4.1		
Clayton, GA	5,148	Adult_Nephro	1 in 30 miles	42	122.6	5,148	100.0	0	0.0	2.3	2.6		
Cobb, GA	7,517	Adult_Nephro	1 in 30 miles	200	37.6	7,517	100.0	0	0.0	2.0	2.3		
Coweta, GA	1,336	Adult_Nephro	1 in 30 miles	6	222.7	1,336	100.0	0	0.0	5.3	5.9		
DeKalb, GA	10,007	Adult_Nephro	1 in 30 miles	188	53.2	10,007	100.0	0	0.0	2.2	2.3		
Douglas, GA	2,556	Adult_Nephro	1 in 30 miles	52	49.2	2,556	100.0	0	0.0	2.8	3.2		
Fayette, GA	907	Adult_Nephro	1 in 30 miles	9	100.8	907	100.0	0	0.0	4.2	4.3		
Forsyth, GA	888	Adult_Nephro	1 in 30 miles	24	37.0	888	100.0	0	0.0	5.6	5.7		
Fulton, GA	13,033	Adult_Nephro	1 in 30 miles	244	53.4	13,033	100.0	0	0.0	2.1	2.2		
Gwinnett, GA	9,465	Adult_Nephro	1 in 30 miles	74	127.9	9,465	100.0	0	0.0	2.6	3.1		
Henry, GA	4,791	Adult_Nephro	1 in 30 miles	16	299.4	4,791	100.0	0	0.0	4.2	5.4		
Newton, GA	2,005	Adult_Nephro	1 in 30 miles	9	222.8	2,005	100.0	0	0.0	3.9	4.1		
Paulding, GA	1,653	Adult_Nephro	1 in 30 miles	52	31.8	1,653	100.0	0	0.0	3.2	3.6		
Rockdale, GA	1,530	Adult_Nephro	1 in 30 miles	13	117.7	1,530	100.0	0	0.0	2.3	2.6		
Spalding, GA	836	Adult_Nephro	1 in 30 miles	5	167.2	836	100.0	0	0.0	3.2	3.8		
Walton, GA	1,569	Adult_Nephro	1 in 30 miles	15	104.6	1,569	100.0	0	0.0	3.4	3.8		
Grand Totals	69,562	Adult_Nephr	1 in 30 miles	1,068	65.1	69,562	100.0	0	0.0	2.8	3.2		

#### **Adult Nephrology - Rural**

December 27, 2023

Access Analysis
Adult\_Nephrology - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)

Adult\_Nephrology (ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Nephro	1 in 45 miles	1	374.0	374	100.0	0	0.0		16.6
Haralson, GA			1 in 45 miles	8	37.8	302	100.0	0	0.0		7.6
Jasper, GA			1 in 45 miles	7	26.6		100.0				9.0
Pickens, GA	305	Adult_Nephro	1 in 45 miles	7	43.6	305	100.0	0	0.0	4.4	5.0
Grand Totals	1,167	Adult_Nephr	1 in 45 miles	23	50.7	1,167	100.0	0	0.0	6.2	10.1

#### **Adult Dermatology - Urban**

December 27, 2023

Access Analysis
Adult\_Dermatology - Urban
Member / Provider Groups

Member / Provider Group
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Dermatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	1,233	Adult_Dermat	1 in 30 miles	0		1,233	100.0	0	0.0	14.7	15.5		
Bartow, GA	1,471	Adult_Dermat	1 in 30 miles	3	490.3	1,471	100.0	0	0.0	7.3	7.5		
Carroll, GA	1,483	Adult_Dermat	1 in 30 miles	3	494.3	1,483	100.0	0	0.0	9.3	11.2		
Cherokee, GA	2,134	Adult_Dermat	1 in 30 miles	4	533.5	2,134	100.0	0	0.0	6.5	8.2		
Clayton, GA	5,148	Adult_Dermat	1 in 30 miles	11	468.0	5,148	100.0	0	0.0	4.9	4.9		
Cobb, GA	7,517	Adult_Dermat	1 in 30 miles	8	939.6	7,517	100.0	0	0.0	4.1	6.5		
Coweta, GA	1,336	Adult_Dermat	1 in 30 miles	7	190.9	1,336	100.0	0	0.0	5.4	5.9		
DeKalb, GA	10,007	Adult_Dermat	1 in 30 miles	29	345.1	10,007	100.0	0	0.0	6.7	6.8		
Douglas, GA	2,556	Adult_Dermat	1 in 30 miles	1	2,556.0	2,556	100.0	0	0.0	5.2	12.8		
Fayette, GA	907	Adult_Dermat	1 in 30 miles	8	113.4	907	100.0	0	0.0	4.3	4.3		
Forsyth, GA	888	Adult_Dermat	1 in 30 miles	9	98.7	888	100.0	0	0.0	4.5	5.3		
Fulton, GA	13,033	Adult_Dermat	1 in 30 miles	38	343.0	13,033	100.0	0	0.0	5.3	5.4		
Gwinnett, GA	9,465	Adult_Dermat	1 in 30 miles	8	1,183.1	9,465	100.0	0	0.0	6.9	6.9		
Henry, GA	4,791	Adult_Dermat	1 in 30 miles	2	2,395.5	4,791	100.0	0	0.0	7.9	11.9		
Newton, GA	2,005	Adult_Dermat	1 in 30 miles	0		1,968	98.2	37	1.8	21.5	24.7		
Paulding, GA	1,653	Adult Dermat	1 in 30 miles	4	413.3	1,653	100.0	0	0.0	5.6	5.6		
Rockdale, GA	1,530	Adult Dermat	1 in 30 miles	0		1,530	100.0	0	0.0	19.7	20.4		
Spalding, GA	836	Adult Dermat	1 in 30 miles	2	418.0	836	100.0	0	0.0	4.3	18.8		
Walton, GA	1,569	Adult_Dermat	1 in 30 miles	0		1,454	92.7	115	7.3	21.9	22.4		
Grand Totals	69,562	Adult_Derma	1 in 30 miles	137	507.8	69,410	99.8	152	0.2	7.2	8.5		

# **Adult Dermatology - Rural**

December 27, 2023

Access Analysis
Adult\_Dermatology - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Dermatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Butts, GA			1 in 45 miles	0			100.0		0.0	19.6	27.7			
Haralson, GA			1 in 45 miles	0			100.0		0.0		18.3			
Jasper, GA			1 in 45 miles	0			100.0		0.0		37.2			
Pickens, GA	305	Adult_Dermat	1 in 45 miles	0		305	100.0	0	0.0	18.5	18.6			
Grand Totals	1,167	Adult_Derma	1 in 45 miles	0		1,167	100.0	0	0.0	21.2	24.4			
© 2023 Quest Analytics, LLC.														

# **Adult Rheumatology - Urban**

December 27, 2023

Access Analysis
Adult\_Rheumatology- Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	1,233	Adult_Rheum	1 in 30 miles	0		1,233	100.0	0	0.0	12.5	12.9		
Bartow, GA	1,471	Adult_Rheum	1 in 30 miles	0		1,471	100.0	0	0.0	18.5	22.6		
Carroll, GA	1,483	Adult_Rheum	1 in 30 miles	0		624	42.1	859	57.9	30.7	33.9		
Cherokee, GA	2,134	Adult_Rheum	1 in 30 miles	3	711.3	2,134	100.0	0	0.0	6.2	9.0		
Clayton, GA	5,148	Adult_Rheum	1 in 30 miles	3	1,716.0	5,148	100.0	0	0.0	5.5	5.8		
Cobb, GA	7,517	Adult_Rheum	1 in 30 miles	7	1,073.9	7,517	100.0	0	0.0	5.6	7.4		
Coweta, GA	1,336	Adult_Rheum	1 in 30 miles	1	1,336.0	1,336	100.0	0	0.0	8.6	13.0		
DeKalb, GA	10,007	Adult_Rheum	1 in 30 miles	17	588.6	10,007	100.0	0	0.0	6.4	7.1		
Douglas, GA	2,556	Adult_Rheum	1 in 30 miles	0		2,556	100.0	0	0.0	18.9	20.2		
Fayette, GA	907	Adult_Rheum	1 in 30 miles	1	907.0	907	100.0	0	0.0	8.7	11.8		
Forsyth, GA	888	Adult_Rheum	1 in 30 miles	0		888	100.0	0	0.0	14.5	14.9		
Fulton, GA	13,033	Adult_Rheum	1 in 30 miles	34	383.3	13,033	100.0	0	0.0	7.1	7.7		
Gwinnett, GA	9,465	Adult_Rheum	1 in 30 miles	12	788.8	9,465	100.0	0	0.0	4.1	4.9		
Henry, GA	4,791	Adult_Rheum	1 in 30 miles	1	4,791.0	4,791	100.0	0	0.0	8.3	11.7		
Newton, GA	2,005	Adult_Rheum	1 in 30 miles	0		2,005	100.0	0	0.0	12.9	18.4		
Paulding, GA	1,653	Adult_Rheum	1 in 30 miles	0		1,653	100.0	0	0.0	16.6	17.7		
Rockdale, GA	1,530	Adult_Rheum	1 in 30 miles	1	1,530.0	1,530	100.0	0	0.0	4.6	14.6		
Spalding, GA	836	Adult_Rheum	1 in 30 miles	0		836	100.0	0	0.0	19.2	21.0		
Walton, GA	1,569	Adult_Rheum	1 in 30 miles	1	1,569.0	1,569	100.0	0	0.0	8.3	13.4		
Grand Totals	69,562	Adult_Rheu	1 in 30 miles	81	858.8	68,703	98.8	859	1.2	8.3	10.0		
© 2023 Quest Analytics II C													

#### **Adult Rheumatology - Rural**

December 27, 2023

Access Analysis
Adult\_Rheumatology - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Butts, GA		Adult_Rheum	1 in 45 miles	0			100.0		0.0	26.3	28.4			
Haralson, GA			1 in 45 miles	0			100.0				42.0			
Jasper, GA			1 in 45 miles	0			100.0		0.0					
Pickens, GA	305	Adult_Rheum	1 in 45 miles	0		305	100.0	0	0.0	15.3	17.7			
Grand Totals	1,167	Adult_Rheu	1 in 45 miles	0		1,167	100.0	0	0.0	26.9	30.1			
© 2023 Quest Analytics 11 C											oxdot			

#### **Adult Infectious Disease - Urban**

December 27, 2023

Access Analysis

Adult\_Infectious Disease\_Urban

Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) Adult\_Infectious Disease (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Infectio	1 in 30 miles	1	1,233.0	1,233	100.0	0	0.0	6.2	14.5
Bartow, GA	1,471	Adult_Infectio	1 in 30 miles	2	735.5		100.0	0	0.0	8.0	8.1
Carroll, GA	1,483	Adult_Infectio	1 in 30 miles	4	370.8	1,483	100.0	0	0.0	5.2	6.6
Cherokee, GA	2,134	Adult_Infectio	1 in 30 miles	1	2,134.0	2,134	100.0	0	0.0	6.1	7.5
Clayton, GA	5,148	Adult_Infectio	1 in 30 miles	10	514.8	5,148	100.0	0	0.0	3.2	4.0
Cobb, GA	7,517	Adult_Infectio	1 in 30 miles	13	578.2	7,517	100.0	0	0.0	4.5	5.9
Coweta, GA		Adult_Infectio	1 in 30 miles	4	334.0	1,336	100.0	0	0.0	6.6	6.6
DeKalb, GA	10,007	Adult_Infectio	1 in 30 miles	44	227.4	10,007	100.0	0	0.0	4.4	5.3
Douglas, GA	2,556	Adult_Infectio	1 in 30 miles	1	2,556.0	2,556	100.0	0	0.0	10.4	12.9
Fayette, GA	907	Adult_Infectio	1 in 30 miles	10	90.7		100.0	0	0.0	5.1	5.3
Forsyth, GA	888	Adult_Infectio	1 in 30 miles	8	111.0	888	100.0	0	0.0	6.2	6.9
Fulton, GA	13,033	Adult_Infectio	1 in 30 miles	82	158.9	13,033	100.0	0	0.0	3.7	4.3
Gwinnett, GA	9,465	Adult_Infectio	1 in 30 miles	17	556.8	9,465	100.0	0	0.0	4.3	4.9
Henry, GA	4,791	Adult_Infectio	1 in 30 miles	6	798.5	4,791	100.0	0	0.0	6.6	8.0
Newton, GA	2,005	Adult_Infectio	1 in 30 miles	4	501.3	2,005	100.0	0	0.0	6.6	7.1
Paulding, GA	1,653	Adult_Infectio	1 in 30 miles	0		1,653	100.0	0	0.0	12.2	14.7
Rockdale, GA	1,530	Adult_Infectio	1 in 30 miles	6	255.0	1,530	100.0	0	0.0	4.5	4.5
Spalding, GA	836	Adult_Infectio	1 in 30 miles	1	836.0	836	100.0	0	0.0	4.0	14.5
Walton, GA	1,569	Adult_Infectio	1 in 30 miles	6	261.5	1,569	100.0	0	0.0	6.3	6.7
Grand Totals	69,562	Adult_Infecti	1 in 30 miles	220	316.2	69,562	100.0	0	0.0	5.1	6.3
						,					

#### **Adult Infectious Disease - Rural**

December 27, 2023

Access Analysis
Adult\_Infectious Disease\_Rural

Member / Provider Groups

Adult Rural Members (ATLANTA\_RURAL) Adult\_Infectious Disease (ATLANTA\_RURAL)

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Butts, GA	374	Adult_Infectio	1 in 45 miles	0		0	0.0	374	100.0	86.6	86.6			
Haralson, GA	302	Adult_Infectio	1 in 45 miles	0		0	0.0	302	100.0	73.9	73.9			
Jasper, GA			1 in 45 miles	0		0	0.0		100.0		90.1			
Pickens, GA	305	Adult_Infectio	1 in 45 miles	4	76.3	305	100.0	0	0.0	5.2	5.2			
Grand Totals	1,167	Adult_Infecti	1 in 45 miles	4	291.8	305	26.1	862	73.9	62.6	62.6			
© 2023 Quest Analytics 11 C			!											

# **Adult General Surgery - Urban**

December 27, 2023

Access Analysis
Adult\_General Surgery\_Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_General Surgery
(ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Genera	1 in 30 miles	3	411.0	1,233	100.0	0	0.0	5.5	5.7
Bartow, GA	1,471	Adult_Genera	1 in 30 miles	16	91.9	1,471	100.0	0	0.0	3.9	4.9
Carroll, GA	1,483	Adult_Genera	1 in 30 miles	19	78.1	1,483	100.0	0	0.0	4.9	5.2
Cherokee, GA	2,134	Adult_Genera	1 in 30 miles	46	46.4	2,134		0	0.0	3.4	3.6
Clayton, GA	5,148	Adult_Genera	1 in 30 miles	32	160.9	5,148	100.0	0	0.0	2.6	3.0
Cobb, GA	7,517	Adult_Genera	1 in 30 miles	121	62.1	7,517		0	0.0	2.6	3.1
Coweta, GA	1,336	Adult_Genera	1 in 30 miles	27	49.5	1,336	100.0	0	0.0	4.8	5.2
DeKalb, GA	10,007	Adult_Genera	1 in 30 miles	211	47.4	10,007	100.0	0	0.0	2.4	2.8
Douglas, GA	2,556	Adult_Genera	1 in 30 miles	16	159.8	2,556	100.0	0	0.0	3.9	4.4
Fayette, GA	907	Adult_Genera	1 in 30 miles	41	22.1	907	100.0	0	0.0	2.5	3.5
Forsyth, GA	888	Adult_Genera	1 in 30 miles	48	18.5	888	100.0	0	0.0	4.1	4.7
Fulton, GA	13,033	Adult_Genera	1 in 30 miles	397	32.8	13,033	100.0	0	0.0	2.8	3.1
Gwinnett, GA	9,465	Adult_Genera	1 in 30 miles	154	61.5	9,465	100.0	0	0.0	3.0	3.2
Henry, GA	4,791	Adult_Genera	1 in 30 miles	39	122.8	4,791	100.0	0	0.0	4.1	5.4
Newton, GA	2,005	Adult_Genera	1 in 30 miles	14	143.2	2,005	100.0	0	0.0	6.9	7.0
Paulding, GA	1,653	Adult_Genera	1 in 30 miles	7	236.1	1,653	100.0	0	0.0	4.4	4.6
Rockdale, GA	1,530	Adult_Genera	1 in 30 miles	25	61.2	1,530	100.0	0	0.0	4.0	4.0
Spalding, GA	836	Adult_Genera	1 in 30 miles	7	119.4	836	100.0	0	0.0	3.2	3.9
Walton, GA	1,569	Adult_Genera	1 in 30 miles	11	142.6	1,569	100.0	0	0.0	4.1	4.6
Grand Totals	69,562	Adult_Gener	1 in 30 miles	1,234	56.4	69,562	100.0	0	0.0	3.2	3.7

# **Adult General Surgery - Rural**

December 27, 2023

Access Analysis
Adult\_General Surgery\_Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)

Adult\_General Surgery (ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA	374	Adult_Genera	1 in 45 miles	0			100.0		0	0.0	27.8	36.8
Haralson, GA			1 in 45 miles	8	37.8		100.0		0	0.0	7.1	7.1
Jasper, GA			1 in 45 miles	0		183			3	1.6	33.8	48.2
Pickens, GA	305	Adult_Genera	1 in 45 miles	16	19.1	305	100.0		0	0.0	4.5	5.2
Grand Totals	1,167	Adult_Gener	1 in 45 miles	24	48.6	1,164	99.7		3	0.3	17.3	22.6
© 2023 Quest Analytics II C												

#### **Adult Neurology- Urban**

December 27, 2023

Access Analysis
Adult\_Neurology - Urban

Member / Provider Groups Adult Urban Members (ATLANTA\_URBAN)

Adult\_Neurology (ATLANTA\_URBAN)

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult Neurol	1 in 30 miles	9	137.0	1,233	100.0	0	0.0	4.3	4.3
Bartow, GA	1,471	Adult_Neurol	1 in 30 miles	13	113.2	1,471	100.0	0	0.0	7.6	7.7
Carroll, GA	1,483	Adult Neurol	1 in 30 miles	20	74.2	1,483		0	0.0	5.0	5.3
Cherokee, GA	2,134	Adult_Neurol	1 in 30 miles	16	133.4	2,134	100.0	0	0.0	6.1	6.4
Clayton, GA	5,148	Adult_Neurol	1 in 30 miles	10	514.8	5,148	100.0	0	0.0	3.4	3.7
Cobb, GA	7,517	Adult_Neurol	1 in 30 miles	36	208.8	7,517	100.0	0	0.0	3.0	3.8
Coweta, GA	1,336	Adult_Neurol	1 in 30 miles	31	43.1	1,336	100.0	0	0.0	4.8	5.9
DeKalb, GA	10,007	Adult_Neurol	1 in 30 miles	192	52.1	10,007	100.0	0	0.0	3.8	3.9
Douglas, GA	2,556	Adult_Neurol	1 in 30 miles	6	426.0	2,556		0	0.0	4.0	4.8
Fayette, GA	907	Adult_Neurol	1 in 30 miles	26	34.9	907	100.0	0	0.0	3.9	5.9
Forsyth, GA	888	Adult_Neurol	1 in 30 miles	23	38.6		100.0	0	0.0		6.3
Fulton, GA		Adult_Neurol	1 in 30 miles	228	57.2	13,033		0	0.0	4.8	5.0
Gwinnett, GA		Adult_Neurol	1 in 30 miles	72	131.5	9,465		0	0.0	2.9	3.5
Henry, GA		Adult_Neurol	1 in 30 miles	17	281.8	4,791		0	0.0	6.7	8.0
Newton, GA		Adult_Neurol	1 in 30 miles	22	91.1	2,005		0	0.0	7.0	7.1
Paulding, GA		Adult_Neurol	1 in 30 miles	2		1,653		0	0.0	4.6	8.6
Rockdale, GA		Adult_Neurol	1 in 30 miles	10		1,530		0	0.0	4.4	4.4
Spalding, GA		Adult_Neurol	1 in 30 miles	2	418.0		100.0	0	0.0	4.2	18.0
Walton, GA	1,569	Adult_Neurol	1 in 30 miles	14	112.1	1,569	100.0	0	0.0	4.4	6.2
Grand Totals	69,562	Adult_Neurol	1 in 30 miles	749	92.9	69,562	100.0	0	0.0	4.3	5.0

#### **Adult Neurology - Rural**

December 27, 2023

Access Analysis Adult\_Neurology - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Neurology
(ATLANTA\_RURAL)

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Neurol	1 in 45 miles	1	374.0	374	100.0			6.2	51.1
Haralson, GA			1 in 45 miles	0		101	33.4	201	66.6	47.2	73.8
Jasper, GA			1 in 45 miles	0			100.0				58.3
Pickens, GA	305	Adult_Neurol	1 in 45 miles	18	16.9	305	100.0	0	0.0	5.2	5.3
Grand Totals	1,167	Adult_Neurol	1 in 45 miles	19	61.4	966	82.8	201	17.2	18.8	46.1
© 2023 Quest Analytics, LLC.											

#### **Adult Ophthalmology - Urban**

December 27, 2023

Access Analysis
Adult\_Ophthalmology- Urban
Member / Provider Groups

Adult Urban Members (ATLANTA\_URBAN) Adult\_Ophthalmology

			Members W	ith and W	ithout Access	\$					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Ophtha	1 in 30 miles	1	1,233.0	1,233	100.0	0	0.0	5.7	11.0
Bartow, GA	1,471	Adult_Ophtha	1 in 30 miles	4	367.8	1,471	100.0	0	0.0	7.6	7.6
Carroll, GA	1,483	Adult_Ophtha	1 in 30 miles	2	741.5	1,434	96.7	49	3.3	12.5	12.5
Cherokee, GA	2,134	Adult_Ophtha	1 in 30 miles	10	213.4	2,134	100.0	0	0.0	4.6	4.6
Clayton, GA	5,148	Adult_Ophtha	1 in 30 miles	13	396.0	5,148	100.0	0	0.0	3.9	5.8
Cobb, GA	7,517	Adult_Ophtha	1 in 30 miles	54	139.2	7,517	100.0	0	0.0	4.2	4.2
Coweta, GA	1,336	Adult_Ophtha	1 in 30 miles	7	190.9	1,336	100.0	0	0.0	6.1	6.1
DeKalb, GA	10,007	Adult_Ophtha	1 in 30 miles	46	217.5	10,007	100.0	0	0.0	3.8	5.6
Douglas, GA	2,556	Adult_Ophtha	1 in 30 miles	14	182.6	2,556	100.0	0	0.0	4.9	5.0
Fayette, GA	907	Adult_Ophtha	1 in 30 miles	25	36.3	907	100.0	0	0.0	4.4	4.4
Forsyth, GA	888	Adult_Ophtha	1 in 30 miles	13	68.3	888	100.0	0	0.0	4.7	5.9
Fulton, GA	13,033	Adult Ophtha	1 in 30 miles	117	111.4	13,033	100.0	0	0.0	4.0	4.6
Gwinnett, GA	9,465	Adult Ophtha	1 in 30 miles	37	255.8	9,465	100.0	0	0.0	3.9	4.7
Henry, GA			1 in 30 miles	10	479.1	4,791		0	0.0	7.5	7.8
Newton, GA			1 in 30 miles	2	1,002.5	2,005		0	0.0	5.7	5.8
Paulding, GA	1,653	Adult_Ophtha	1 in 30 miles	3	551.0		100.0	0	0.0	4.4	5.3
Rockdale, GA			1 in 30 miles	6	255.0	1,530		0	0.0	3.2	3.2
Spalding, GA		Adult Ophtha	1 in 30 miles	1	836.0	836	100.0	0	0.0	4.3	17.1
Walton, GA		Adult_Ophtha	1 in 30 miles	3	523.0		100.0	0	0.0	6.3	6.4
Crowd Totals	CO 5CO	Adult Ombth	4 in 20 miles	368	400.0	CO 542	99.9	49	0.1	4.7	5.6
Grand Totals	69,562	Adult_Ophth	1 in 30 miles	366	189.0	69,513	99.9	49	0.1	4.7	5.6

#### **Adult Ophthalmology - Rural**

December 27, 2023

Access Analysis
Adult\_Ophthalmology - Rural

Member / Provider Groups

Adult Rural Members
(ATLANTA\_RURAL)

Adult\_Ophthalmology

			Members W	ith and W	ithout Access	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Ophtha	1 in 45 miles	0		374	100.0	0	0.0	17.5	20.0
Haralson, GA		Adult_Ophtha	1 in 45 miles	0			100.0	0	0.0		17.5
Jasper, GA			1 in 45 miles	0			100.0	0	0.0		20.5
Pickens, GA	305	Adult_Ophtha	1 in 45 miles	0		305	100.0	0	0.0	17.4	17.4
Grand Totals	1,167	Adult_Ophth	1 in 45 miles	0		1,167	100.0	0	0.0	17.9	18.8

#### **Adult Orthopedics - Urban**

December 27, 2023

Access Analysis
Adult\_Orhopedics- Urban
Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Orthopedics

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Orthop	1 in 30 miles	7	176.1	1,233	100.0	0	0.0	3.8	4.1
Bartow, GA	1,471	Adult_Orthop	1 in 30 miles	23	64.0	1,471	100.0	0	0.0	4.2	6.6
Carroll, GA	1,483	Adult_Orthop	1 in 30 miles	3	494.3	1,483	100.0	0	0.0	5.6	8.8
Cherokee, GA	2,134	Adult_Orthop	1 in 30 miles	141	15.1	2,134		0	0.0	3.4	3.4
Clayton, GA	5,148	Adult_Orthop	1 in 30 miles	47	109.5	5,148		0	0.0	2.0	2.6
Cobb, GA	7,517	Adult_Orthop	1 in 30 miles	279	26.9	7,517		0	0.0	2.6	2.8
Coweta, GA	1,336	Adult_Orthop	1 in 30 miles	54	24.7	1,336	100.0	0	0.0	4.5	4.7
DeKalb, GA	10,007	Adult_Orthop	1 in 30 miles	197	50.8	10,007	100.0	0	0.0	2.7	3.3
Douglas, GA	2,556	Adult_Orthop	1 in 30 miles	59	43.3	2,556	100.0	0	0.0	3.0	4.2
Fayette, GA	907	Adult_Orthop	1 in 30 miles	138	6.6	907	100.0	0	0.0	3.1	3.2
Forsyth, GA	888	Adult_Orthop	1 in 30 miles	72	12.3	888	100.0	0	0.0	4.3	4.5
Fulton, GA	13,033	Adult_Orthop	1 in 30 miles	502	26.0	13,033	100.0	0	0.0	2.6	3.0
Gwinnett, GA	9,465	Adult_Orthop	1 in 30 miles	203	46.6	9,465	100.0	0	0.0	2.3	2.9
Henry, GA	4,791	Adult_Orthop	1 in 30 miles	123	39.0	4,791	100.0	0	0.0	2.9	3.7
Newton, GA	2,005	Adult_Orthop	1 in 30 miles	53	37.8	2,005	100.0	0	0.0	4.8	5.3
Paulding, GA	1,653	Adult_Orthop	1 in 30 miles	30	55.1	1,653	100.0	0	0.0	4.6	4.9
Rockdale, GA	1,530	Adult_Orthop	1 in 30 miles	8	191.3	1,530	100.0	0	0.0	2.2	3.2
Spalding, GA	836	Adult_Orthop	1 in 30 miles	17	49.2	836	100.0	0	0.0	2.9	3.0
Walton, GA	1,569	Adult_Orthop	1 in 30 miles	14	112.1	1,569	100.0	0	0.0	2.9	3.8
Grand Totals	69,562	Adult_Ortho	1 in 30 miles	1,970	35.3	69,562	100.0	0	0.0	2.9	3.5

#### **Adult Orthopedics - Rural**

December 27, 2023

Access Analysis
Adult\_Orhopedics- Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Orthopedics

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA		Adult_Orthop	1 in 45 miles	0			100.0	0	0.0		
Haralson, GA		Adult_Orthop	1 in 45 miles	0			100.0	0	0.0		
Jasper, GA			1 in 45 miles	1			100.0		0.0		
Pickens, GA	305	Adult_Orthop	1 in 45 miles	7	43.6	305	100.0	0	0.0	4.0	5.1
Grand Totals	4 467	Adult_Ortho	1 in 45 miles		145.9	4 467	100.0	0	0.0	11.3	13.8
Grand Totals	1,107	Addit_Ortho	1 III 45 IIIIles	8	145.9	1,107	100.0	U	0.0	11.3	13.0
© 2023 Quest Analytics, LLC.			!								

#### **Adult Optometry - Urban**

December 27, 2023

Access Analysis
Adult\_Optometry - Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)

Adult\_Optometry

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Optom	1 in 30 miles	3	411.0	1,233	100.0	0	0.0	4.6	5.5
Bartow, GA	1,471	Adult_Optom	1 in 30 miles	11	133.7	1,471	100.0	0	0.0	7.0	8.1
Carroll, GA	1,483	Adult_Optom	1 in 30 miles	0		1,483	100.0	0	0.0	12.1	12.4
Cherokee, GA	2,134	Adult_Optom	1 in 30 miles	43	49.6	2,134		0	0.0	3.3	3.7
Clayton, GA	5,148	Adult_Optom	1 in 30 miles	8	643.5	5,148	100.0	0	0.0	2.7	3.7
Cobb, GA	7,517	Adult_Optom	1 in 30 miles	39	192.7	7,517		0	0.0	2.8	3.5
Coweta, GA	1,336	Adult_Optom	1 in 30 miles	4	334.0	1,336	100.0	0	0.0	5.4	6.4
DeKalb, GA	10,007	Adult_Optom	1 in 30 miles	51	196.2	10,007	100.0	0	0.0	2.9	3.6
Douglas, GA	2,556	Adult_Optom	1 in 30 miles	7	365.1	2,556	100.0	0	0.0	3.9	4.3
Fayette, GA	907	Adult_Optom	1 in 30 miles	9	100.8	907	100.0	0	0.0	3.9	4.3
Forsyth, GA	888	Adult_Optom	1 in 30 miles	4	222.0	888	100.0	0	0.0	4.6	5.7
Fulton, GA	13,033	Adult_Optom	1 in 30 miles	96	135.8	13,033	100.0	0	0.0	2.8	3.8
Gwinnett, GA	9,465	Adult_Optom	1 in 30 miles	55	172.1	9,465	100.0	0	0.0	2.7	3.6
Henry, GA	4,791	Adult_Optom	1 in 30 miles	13	368.5	4,791	100.0	0	0.0	3.7	5.1
Newton, GA	2,005	Adult_Optom	1 in 30 miles	0		2,005	100.0	0	0.0	10.3	16.4
Paulding, GA	1,653	Adult_Optom	1 in 30 miles	3	551.0	1,653	100.0	0	0.0	4.3	5.8
Rockdale, GA	1,530	Adult_Optom	1 in 30 miles	1	1,530.0	1,530	100.0	0	0.0	4.1	11.9
Spalding, GA	836	Adult_Optom	1 in 30 miles	2	418.0	836	100.0	0	0.0	3.7	4.7
Walton, GA	1,569	Adult_Optom	1 in 30 miles	6	261.5	1,569	100.0	0	0.0	4.5	4.6
Grand Totals	69,562	Adult_Opto	1 in 30 miles	355	195.9	69,562	100.0	0	0.0	3.6	4.8

#### **Adult Optometry - Rural**

December 27, 2023

Access Analysis
Adult\_Optometry - Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Optometry

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA		Adult_Optom	1 in 45 miles	0			100.0		0	0.0		15.3
Haralson, GA			1 in 45 miles	2	151.0		100.0		0	0.0	7.0	7.0
Jasper, GA	186	Adult_Optom	1 in 45 miles	0		186	100.0		0	0.0	22.8	22.9
Pickens, GA	305	Adult_Optom	1 in 45 miles	1	305.0	305	100.0		0	0.0	5.0	14.9
Grand Totals	1,167	Adult_Opto	1 in 45 miles	3	389.0	1,167	100.0		0	0.0	11.4	14.3
© 2023 Quest Analytics II C												

#### **Adult Urology - Urban**

December 27, 2023

Access Analysis
Adult\_Urology- Urban

Member / Provider Groups
Adult Urban Members
(ATLANTA\_URBAN)
Adult\_Urology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Urology	1 in 30 miles	2	616.5	1,233	100.0	0	0.0	5.9	5.9
Bartow, GA	1,471	Adult_Urology	1 in 30 miles	13	113.2	1,471	100.0	0	0.0	7.2	7.4
Carroll, GA	1,483	Adult_Urology	1 in 30 miles	8	185.4	1,483	100.0	0	0.0	5.1	5.4
Cherokee, GA	2,134	Adult_Urology	1 in 30 miles	52	41.0	2,134	100.0	0	0.0	3.8	3.9
Clayton, GA	5,148	Adult_Urology	1 in 30 miles	12	429.0	5,148	100.0	0	0.0	2.8	3.2
Cobb, GA	7,517	Adult_Urology	1 in 30 miles	81	92.8	7,517	100.0	0	0.0	3.5	3.8
Coweta, GA	1,336	Adult_Urology	1 in 30 miles	5	267.2	1,336	100.0	0	0.0	5.4	6.5
DeKalb, GA	10,007	Adult_Urology	1 in 30 miles	92	108.8	10,007	100.0	0	0.0	4.5	4.8
Douglas, GA	2,556	Adult_Urology	1 in 30 miles	28	91.3	2,556	100.0	0	0.0	4.7	4.7
Fayette, GA	907	Adult_Urology	1 in 30 miles	8	113.4	907	100.0	0	0.0	5.4	5.6
Forsyth, GA	888	Adult_Urology	1 in 30 miles	52	17.1	888	100.0	0	0.0	4.4	5.6
Fulton, GA	13,033	Adult_Urology	1 in 30 miles	205	63.6	13,033	100.0	0	0.0	3.8	4.1
Gwinnett, GA	9,465	Adult_Urology	1 in 30 miles	66	143.4	9,465	100.0	0	0.0	4.2	4.7
Henry, GA	4,791	Adult_Urology	1 in 30 miles	5	958.2	4,791	100.0	0	0.0	6.8	7.2
Newton, GA	2,005	Adult_Urology	1 in 30 miles	3	668.3	2,005	100.0	0	0.0	6.9	7.0
Paulding, GA	1,653	Adult_Urology	1 in 30 miles	8	206.6	1,653	100.0	0	0.0	5.0	5.0
Rockdale, GA	1,530	Adult_Urology	1 in 30 miles	11	139.1	1,530	100.0	0	0.0	4.4	4.6
Spalding, GA	836	Adult Urology	1 in 30 miles	0		836	100.0	0	0.0	4.3	18.8
Walton, GA	1,569	Adult_Urology	1 in 30 miles	5	313.8	1,569	100.0	0	0.0	6.6	6.6
Grand Totals	69,562	Adult_Urology	1 in 30 miles	656	106.0	69,562	100.0	0	0.0	4.5	5.0

## **Adult Urology - Rural**

December 27, 2023

Access Analysis

Adult\_Urology- Rural

Member / Provider Groups
Adult Rural Members
(ATLANTA\_RURAL)
Adult\_Urology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA		Adult_Urology	1 in 45 miles	0			100.0		0.0	17.9	22.7
Haralson, GA		Adult_Urology	1 in 45 miles	2	151.0	302	100.0		0.0		7.1
Jasper, GA		Adult_Urology	1 in 45 miles	0		186	100.0		0.0		20.4
Pickens, GA		Adult_Urology	1 in 45 miles	3	101.7	305	100.0		0.0	4.5	5.1
Grand Totals	1,167	Adult_Urology	1 in 45 miles	5	233.4	1,167	100.0		0.0	11.8	13.7
© 2023 Quest Analytics 11 C											

# **Adult Vascular Surgery - Urban**

December 27, 2023

Access Analysis
Adult\_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members
(ATLANTA\_URBAN)

Adult\_Vascular Surgery

			Members W	ith and W	ithout Acces	S					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	1,233	Adult_Vascula	1 in 30 miles	0		1,233	100.0	0	0.0	10.5	11.4
Bartow, GA	1,471	Adult_Vascula	1 in 30 miles	5	294.2	1,471	100.0	0	0.0	7.3	7.8
Carroll, GA	1,483	Adult_Vascula	1 in 30 miles	11	134.8	1,483	100.0	0	0.0	5.3	5.4
Cherokee, GA	2,134	Adult_Vascula	1 in 30 miles	12			100.0	0	0.0	4.2	4.3
Clayton, GA	5,148	Adult_Vascula	1 in 30 miles	2	2,574.0	5,148	100.0	0	0.0	5.4	7.1
Cobb, GA	7,517	Adult_Vascula	1 in 30 miles	20	375.9		100.0		0.0	4.4	5.0
Coweta, GA	1,336	Adult_Vascula	1 in 30 miles	7	190.9	1,336	100.0	0	0.0	6.0	6.6
DeKalb, GA	10,007	Adult_Vascula	1 in 30 miles	41	244.1	10,007	100.0	0	0.0	4.0	4.4
Douglas, GA	2,556	Adult_Vascula	1 in 30 miles	5	511.2	2,556	100.0	0	0.0	4.8	4.9
Fayette, GA	907	Adult_Vascula	1 in 30 miles	7	129.6	907	100.0	0	0.0	5.9	6.2
Forsyth, GA	888	Adult_Vascula	1 in 30 miles	9	98.7	888	100.0	0	0.0	5.6	5.9
Fulton, GA	13,033	Adult_Vascula	1 in 30 miles	81	160.9	13,033	100.0	0	0.0	4.1	4.3
Gwinnett, GA	9,465	Adult_Vascula	1 in 30 miles	31	305.3	9,465	100.0	0	0.0	4.3	4.8
Henry, GA	4,791	Adult_Vascula	1 in 30 miles	7	684.4	4,791	100.0	0	0.0	7.9	8.3
Newton, GA	2,005	Adult_Vascula	1 in 30 miles	0		2,005	100.0	0	0.0	12.9	13.0
Paulding, GA	1,653	Adult_Vascula	1 in 30 miles	5	330.6	1,653	100.0	0	0.0	5.4	5.4
Rockdale, GA	1,530	Adult_Vascula	1 in 30 miles	8	191.3	1,530	100.0	0	0.0	4.3	4.5
Spalding, GA	836	Adult_Vascula	1 in 30 miles	0		836	100.0	0	0.0	19.0	19.0
Walton, GA	1,569	Adult_Vascula	1 in 30 miles	0		1,569	100.0	0	0.0	12.4	12.5
Grand Totals	69,562	Adult_Vascul	1 in 30 miles	251	277.1	69,562	100.0	0	0.0	5.5	5.9
		•									

# **Adult Vascular Surgery - Rural**

December 27, 2023

Access Analysis
Adult\_Vascular Surgery- Rural

Member / Provider Groups

Adult Rural Members
(ATLANTA\_RURAL)

Adult\_Vascular Surgery

			Members W	ith and W	lithout Acces	s					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	374	Adult_Vascula	1 in 45 miles	0		374	100.0	0	0.0	26.1	26.2
Haralson, GA			1 in 45 miles	3			100.0				7.1
Jasper, GA			1 in 45 miles	0			100.0		0.0		
Pickens, GA	305	Adult_Vascula	1 in 45 miles	4	76.3	305	100.0	0	0.0	5.1	5.2
Grand Totals	1,167	Adult_Vascul	1 in 45 miles	7	166.7	1,167	100.0	0	0.0	16.0	16.4
© 2023 Quest Analytics II C											

# **Audiology- Urban**

December 27, 2023

Access Analysis
Audiology- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Audiology

			Members W	ith and W	ithout Acces	s					
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Audiology	1 in 30 miles	0		5,496	100.0	0	0.0	13.1	15.9
Bartow, GA	6,211	Audiology	1 in 30 miles	7	887.3	6,211	100.0	0	0.0	7.1	7.5
Carroll, GA	6,153	Audiology	1 in 30 miles	0		5,863	95.3	290	4.7	17.2	20.1
Cherokee, GA	9,834	Audiology	1 in 30 miles	5	1,966.8	9,834	100.0	0	0.0	4.8	6.2
Clayton, GA	21,493	Audiology	1 in 30 miles	6	3,582.2	21,493	100.0	0	0.0	5.6	5.6
Cobb, GA	32,898	Audiology	1 in 30 miles	17	1,935.2	32,898	100.0	0	0.0	3.6	4.0
Coweta, GA	5,365	Audiology	1 in 30 miles	3	1,788.3	5,365	100.0	0	0.0	6.2	6.2
DeKalb, GA	42,120	Audiology	1 in 30 miles	3	14,040.0	42,120	100.0	0	0.0	6.6	6.6
Douglas, GA	10,450	Audiology	1 in 30 miles	5	2,090.0	10,450	100.0	0	0.0	4.0	5.2
Fayette, GA	3,804	Audiology	1 in 30 miles	4	951.0	3,804	100.0	0	0.0	6.1	6.1
Forsyth, GA	4,143	Audiology	1 in 30 miles	0		4,143	100.0	0	0.0	5.9	11.7
Fulton, GA	50,153	Audiology	1 in 30 miles	37	1,355.5	50,153	100.0	0	0.0	7.2	7.3
Gwinnett, GA	46,781	Audiology	1 in 30 miles	19	2,462.2	46,781	100.0	0	0.0	4.6	5.1
Henry, GA	18,943	Audiology	1 in 30 miles	6	3,157.2	18,943	100.0	0	0.0	6.4	6.4
Newton, GA	8,292	Audiology	1 in 30 miles	0		8,280	99.9	12	0.1	20.2	20.2
Paulding, GA	7,138	Audiology	1 in 30 miles	4	1,784.5	7,138	100.0	0	0.0	4.3	5.2
Rockdale, GA		Audiology	1 in 30 miles	0		6,259		0	0.0	15.2	15.2
Spalding, GA	3,023	Audiology	1 in 30 miles	1	3,023.0	3,023	100.0	0	0.0	4.0	10.9
Walton, GA	7,058	Audiology	1 in 30 miles	0		6,773	96.0	285	4.0	14.6	14.6
Grand Totals	295,614	Audiology	1 in 30 miles	117	2,526.6	295,027	99.8	587	0.2	6.8	7.3

## **Audiology - Rural**

December 27, 2023

Access Analysis Audiology- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Audiology

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA		Audiology	1 in 45 miles	0		1,425	100.0		0.0		15.8
Haralson, GA		Audiology	1 in 45 miles	0		1,202	100.0				25.9
Jasper, GA			1 in 45 miles	0		833	100.0		0.0		25.8
Pickens, GA	1,288	Audiology	1 in 45 miles	0			100.0		0.0	18.3	18.3
Grand Totals	4,748	Audiology	1 in 45 miles	0		4,748	100.0	(	0.0	20.0	20.8
© 2023 Quest Analytics II C											

### **Behavioral Health - Urban**

December 27, 2023

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Behavioral Health

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Behavioral He	1 in 30 miles	220	25.0	5,496	100.0	0	0.0	2.7	3.2
Bartow, GA	6,211	Behavioral He	1 in 30 miles	113		6,211	100.0	0	0.0	3.3	4.6
Carroll, GA	6,153	Behavioral He	1 in 30 miles	92	66.9	6,153	100.0	0	0.0	3.4	4.1
Cherokee, GA	9,834	Behavioral He	1 in 30 miles	158	62.2	9,834		0	0.0	2.0	2.4
Clayton, GA	21,493	Behavioral He	1 in 30 miles	134	160.4	21,493	100.0	0	0.0	1.0	1.4
Cobb, GA	32,898	Behavioral He	1 in 30 miles	561	58.6	32,898	100.0	0	0.0	1.1	1.4
Coweta, GA	5,365	Behavioral He	1 in 30 miles	145	37.0	5,365	100.0	0	0.0	2.5	2.9
DeKalb, GA	42,120	Behavioral He	1 in 30 miles	804	52.4	42,120	100.0	0	0.0	1.1	1.3
Douglas, GA	10,450	Behavioral He	1 in 30 miles	94	111.2	10,450	100.0	0	0.0	1.7	2.0
Fayette, GA	3,804	Behavioral He	1 in 30 miles	215	17.7	3,804	100.0	0	0.0	1.8	2.0
Forsyth, GA	4,143	Behavioral He	1 in 30 miles	298	13.9	4,143	100.0	0	0.0	2.0	2.6
Fulton, GA	50,153	Behavioral He	1 in 30 miles	1,786	28.1	50,153	100.0	0	0.0	1.2	1.4
Gwinnett, GA	46,781	Behavioral He	1 in 30 miles	636	73.6	46,781	100.0	0	0.0	1.2	1.5
Henry, GA	18,943	Behavioral He	1 in 30 miles	181	104.7	18,943	100.0	0	0.0	2.4	3.0
Newton, GA	8,292	Behavioral He	1 in 30 miles	78	106.3	8,292	100.0	0	0.0	3.0	3.3
Paulding, GA	7,138	Behavioral He	1 in 30 miles	58	123.1	7,138	100.0	0	0.0	2.1	2.5
Rockdale, GA	6,259	Behavioral He	1 in 30 miles	57	109.8	6,259	100.0	0	0.0	1.3	1.6
Spalding, GA	3,023	Behavioral He	1 in 30 miles	28	108.0	3,023	100.0	0	0.0	1.9	2.1
Walton, GA	7,058	Behavioral He	1 in 30 miles	32	220.6	7,058	100.0	0	0.0	2.0	3.0
Grand Totals	295,614	Behavioral H	1 in 30 miles	5,690	52.0	295,614	100.0	0	0.0	1.5	1.9

### **Behavioral Health - Rural**

December 27, 2023

Access Analysis
Behavioral Health- Rural
Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Behavioral Health

			Members W	ith and W	ithout Acces	s					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	1,425	Behavioral He	1 in 45 miles	10	142.5	1,425	100.0	(	0.0	5.2	5.3
Haralson, GA	1,202	Behavioral He	1 in 45 miles	28	42.9	1,202	100.0	(	0.0	4.2	5.9
Jasper, GA	833	Behavioral He	1 in 45 miles	1	833.0		100.0		0.0	8.1	12.3
Pickens, GA	1,288	Behavioral He	1 in 45 miles	14	92.0	1,288	100.0	(	0.0	3.4	3.9
Grand Totals	4,748	Behavioral H	1 in 45 miles	53	89.6	4,748	100.0		0.0	5.0	6.3
© 2023 Quest Analytics II C											

### **Behavioral Health Facilities - Urban**

December 27, 2023

**Access Analysis** 

Behavioral Health Facilities-Urban

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Behavioral Health Facilities

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Behavioral He	1 in 30 miles	104	52.8	5,496	100.0	0	0.0	3.9	4.7
Bartow, GA	6,211	Behavioral He	1 in 30 miles	28	221.8	6,211	100.0	0	0.0	3.7	5.1
Carroll, GA	6,153	Behavioral He	1 in 30 miles	1	6,153.0	6,153	100.0	0	0.0	8.5	17.3
Cherokee, GA	9,834	Behavioral He	1 in 30 miles	45	218.5	9,834	100.0	0	0.0	3.1	3.8
Clayton, GA	21,493	Behavioral He	1 in 30 miles	29	741.1	21,493	100.0	0	0.0	1.8	2.3
Cobb, GA	32,898	Behavioral He	1 in 30 miles	185	177.8	32,898	100.0	0	0.0	1.9	2.3
Coweta, GA	5,365	Behavioral He	1 in 30 miles	44	121.9	5,365	100.0	0	0.0	3.6	3.9
DeKalb, GA	42,120	Behavioral He	1 in 30 miles	175	240.7	42,120	100.0	0	0.0	1.9	2.4
Douglas, GA	10,450	Behavioral He	1 in 30 miles	21	497.6	10,450	100.0	0	0.0	3.0	3.5
Fayette, GA	3,804	Behavioral He	1 in 30 miles	79	48.2	3,804	100.0	0	0.0	2.5	2.8
Forsyth, GA	4,143	Behavioral He	1 in 30 miles	129	32.1	4,143	100.0	0	0.0	2.8	3.3
Fulton, GA	50,153	Behavioral He	1 in 30 miles	703	71.3	50,153	100.0	0	0.0	2.4	3.0
Gwinnett, GA	46,781	Behavioral He	1 in 30 miles	217	215.6	46,781	100.0	0	0.0	2.0	2.4
Henry, GA	18,943	Behavioral He	1 in 30 miles	44	430.5	18,943	100.0	0	0.0	3.8	4.9
Newton, GA	8,292	Behavioral He	1 in 30 miles	24	345.5	8,292	100.0	0	0.0	4.3	4.9
Paulding, GA	7,138	Behavioral He	1 in 30 miles	18	396.6	7,138	100.0	0	0.0	2.8	3.7
Rockdale, GA	6,259	Behavioral He	1 in 30 miles	5	1,251.8	6,259	100.0	0	0.0	2.3	3.0
Spalding, GA	3,023	Behavioral He	1 in 30 miles	1	3,023.0	3,023	100.0	0	0.0	4.9	14.4
Walton, GA	7,058	Behavioral He	1 in 30 miles	5	1,411.6	7,058	100.0	0	0.0	3.9	4.6
Grand Totals	295,614	Behavioral H	1 in 30 miles	1,857	159.2	295,614	100.0	0	0.0	2.6	3.5

# **Behavioral Health Facilities - Rural**

December 27, 2023

**Access Analysis** 

Behavioral Health Facilities-Rural

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Behavioral Health Facilities

Haralson, GA       1,202       Behavioral He       1 in 45 miles       0        1,202       100.0       0       0.0       15.4       17.4         Jasper, GA       833       Behavioral He       1 in 45 miles       0        833       100.0       0       0.0       12.6       17.7		Members With and Without Access											
County         #         Group         Standard         #         to Providers         #         %         #         %         1         2           Butts, GA         1,425         Behavioral He         1 in 45 miles         1         1,425.0         1,425         100.0         0         0.0         6.1         15.7           Haralson, GA         1,202         Behavioral He         1 in 45 miles         0          1,202         100.0         0         0.0         15.4         17.4           Jasper, GA         833         Behavioral He         1 in 45 miles         0          833         100.0         0         0.0         12.6         17.7           Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1		Member	Pro	vider	Counts	Patio Members	With Acc	ess	Without A	ccess	Average	Distance	
Haralson, GA       1,202       Behavioral He       1 in 45 miles       0        1,202       100.0       0       0.0       15.4       17.4         Jasper, GA       833       Behavioral He       1 in 45 miles       0        833       100.0       0       0.0       12.6       17.7         Pickens, GA       1,288       Behavioral He       1 in 45 miles       1       1,288.0       1,288       100.0       0       0.0       5.5       14.1	County		Group	Standard	#	to Providers	#	%					
Jasper, GA     833     Behavioral He     1 in 45 miles     0      833     100.0     0     0.0     12.6     17.7       Pickens, GA     1,288     Behavioral He     1 in 45 miles     1     1,288.0     1,288     100.0     0     0.0     5.5     14.1	Butts, GA	1,425	Behavioral He	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	6.1	15.7	
Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1	Haralson, GA	1,202	Behavioral He	1 in 45 miles	0					0.0	15.4	17.4	
Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1	Jasper, GA	833	Behavioral He	1 in 45 miles	0		833	100.0	0	0.0	12.6	17.7	
Grand Totals 4,748 Behavioral H 1 in 45 miles 2 2,374.0 4,748 100.0 0 0.0 9.4 16.1	Pickens, GA	1,288	Behavioral He	1 in 45 miles	1	1,288.0				0.0	5.5	14.1	
	Grand Totals	4,748	Behavioral H	1 in 45 miles	2	2,374.0	4,748	100.0	0	0.0	9.4	16.1	

### **Dental - Urban**

December 27, 2023

Access Analysis
Dental- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Dental

			Members W	ith and W	ithout Acces	s					
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Dental	1 in 30 miles	6	916.0	5,496	100.0	0	0.0	3.5	4.3
Bartow, GA	6,211	Dental	1 in 30 miles	48	129.4	6,211	100.0	0	0.0	5.0	5.6
Carroll, GA	6,153	Dental	1 in 30 miles	88	69.9	6,153	100.0	0	0.0	8.2	8.4
Cherokee, GA	9,834	Dental	1 in 30 miles	141	69.7	9,834	100.0	0	0.0	3.3	3.7
Clayton, GA	21,493	Dental	1 in 30 miles	181	118.7	21,493	100.0	0	0.0	1.4	2.0
Cobb, GA	32,898	Dental	1 in 30 miles	315	104.4	32,898		0	0.0	2.1	2.4
Coweta, GA	5,365	Dental	1 in 30 miles	5	1,073.0	5,365	100.0	0	0.0	4.3	5.4
DeKalb, GA	42,120	Dental	1 in 30 miles	389	108.3	42,120	100.0	0	0.0	1.8	2.2
Douglas, GA	10,450	Dental	1 in 30 miles	121	86.4	10,450	100.0	0	0.0	3.8	3.8
Fayette, GA	3,804	Dental	1 in 30 miles	104	36.6	3,804	100.0	0	0.0	3.0	3.2
Forsyth, GA	4,143	Dental	1 in 30 miles	304	13.6	4,143	100.0	0	0.0	2.5	3.6
Fulton, GA	50,153	Dental	1 in 30 miles	617	81.3	50,153	100.0	0	0.0	1.6	2.1
Gwinnett, GA	46,781	Dental	1 in 30 miles	649	72.1	46,781	100.0	0	0.0	1.7	2.0
Henry, GA	18,943	Dental	1 in 30 miles	318	59.6	18,943	100.0	0	0.0	3.0	4.0
Newton, GA	8,292	Dental	1 in 30 miles	2	4,146.0	8,292	100.0	0	0.0	5.5	6.1
Paulding, GA	7,138	Dental	1 in 30 miles	24	297.4	7,138	100.0	0	0.0	4.9	5.0
Rockdale, GA	6,259	Dental	1 in 30 miles	112	55.9	6,259	100.0	0	0.0	2.0	3.0
Spalding, GA	3,023	Dental	1 in 30 miles	4	755.8	3,023	100.0	0	0.0	3.5	3.9
Walton, GA	7,058	Dental	1 in 30 miles	91	77.6	7,058	100.0	0	0.0	3.6	3.7
Grand Totals	295,614	Dental	1 in 30 miles	3,519	84.0	295,614	100.0	0	0.0	2.5	2.9

### **Dental - Rural**

December 27, 2023

Access Analysis Dental- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Dental

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,425	Dental	1 in 45 miles	2	712.5	1,425	100.0	0	0.0	5.6	6.3	
Haralson, GA		Dental	1 in 45 miles	0		1,202	100.0	0	0.0		13.9	
Jasper, GA	833	Dental	1 in 45 miles	3	277.7		100.0				8.8	
Pickens, GA	1,288	Dental	1 in 45 miles	0		1,288	100.0	0	0.0	12.7	12.8	
Grand Totals	4,748	Dental	1 in 45 miles	5	949.6	4,748	100.0	0	0.0	10.1	10.4	

## **Dental Subspeciality - Urban**

December 27, 2023

Access Analysis
Dental Subspeciality- Urban
Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)

Dental Subspecialty

			Members W	ith and W	ithout Acces	<b>S</b>					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Dental Subsp	1 in 30 miles	0		5,496	100.0	0	0.0	11.9	12.3
Bartow, GA	6,211	Dental Subsp	1 in 30 miles	12	517.6	6,211	100.0	0	0.0	5.6	6.1
Carroll, GA	6,153	Dental Subsp	1 in 30 miles	5	1,230.6	6,153	100.0	0	0.0	6.0	6.0
Cherokee, GA	9,834	Dental Subsp	1 in 30 miles	18	546.3	9,834	100.0	0	0.0	3.6	4.4
Clayton, GA	21,493	Dental Subsp	1 in 30 miles	19	1,131.2	21,493	100.0	0	0.0	2.2	2.3
Cobb, GA	32,898	Dental Subsp	1 in 30 miles	42	783.3	32,898	100.0	0	0.0	3.0	3.4
Coweta, GA	5,365	Dental Subsp	1 in 30 miles	1	5,365.0	5,365	100.0	0	0.0	5.7	12.7
DeKalb, GA	42,120	Dental Subsp	1 in 30 miles	40	1,053.0	42,120	100.0	0	0.0	2.7	3.1
Douglas, GA	10,450	Dental Subsp	1 in 30 miles	13	803.8	10,450	100.0	0	0.0	3.4	3.4
Fayette, GA	3,804	Dental Subsp	1 in 30 miles	6	634.0	3,804	100.0	0	0.0	3.2	5.0
Forsyth, GA	4,143	Dental Subsp	1 in 30 miles	13	318.7	4,143	100.0	0	0.0	3.8	3.8
Fulton, GA	50,153	Dental Subsp	1 in 30 miles	85	590.0	50,153	100.0	0	0.0	2.9	3.3
Gwinnett, GA	46,781	Dental Subsp	1 in 30 miles	83	563.6	46,781	100.0	0	0.0	2.5	3.1
Henry, GA	18,943	Dental Subsp	1 in 30 miles	31	611.1	18,943	100.0	0	0.0	4.9	5.0
Newton, GA	8,292	Dental Subsp	1 in 30 miles	0		8,292	100.0	0	0.0	8.7	8.7
Paulding, GA	7,138	Dental Subsp	1 in 30 miles	18	396.6	7,138	100.0	0	0.0	4.8	5.3
Rockdale, GA			1 in 30 miles	3		6,259	100.0	0	0.0	3.3	4.0
Spalding, GA	3,023	Dental Subsp	1 in 30 miles	0			100.0	0	0.0	14.7	14.7
Walton, GA	7,058	Dental Subsp	1 in 30 miles	3	2,352.7	7,058	100.0	0	0.0	7.6	7.7
Grand Totals	295,614	Dental Subs	1 in 30 miles	392	754.1	295,614	100.0	0	0.0	3.8	4.3

## **Dental Subspeciality - Rural**

December 27, 2023

Access Analysis
Dental Subspeciality- Rural
Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Dental Subspecialty

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	Dental Subsp	1 in 45 miles	0		1,425	100.0	0	0.0	16.8	16.8		
Haralson, GA	1,202	Dental Subsp	1 in 45 miles	0			100.0		0.0		16.9		
Jasper, GA	833	Dental Subsp	1 in 45 miles	0		833	100.0	0	0.0	23.9	24.9		
Pickens, GA	1,288	Dental Subsp	1 in 45 miles	0		1,288	100.0	0	0.0	16.8	17.3		
Grand Totals	4,748	Dental Subs	1 in 45 miles	0		4,748	100.0	0	0.0	18.1	18.4		
			l										

# **Dialysis - Urban**

December 27, 2023

Access Analysis
Dialysis- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Dialysis

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	Dialysis	1 in 30 miles	1	5,496.0	5,496	100.0	0	0.0	4.2	7.8		
Bartow, GA	6,211	Dialysis	1 in 30 miles	119	52.2	6,211	100.0	0	0.0	6.6	6.8		
Carroll, GA	6,153	Dialysis	1 in 30 miles	168	36.6	6,153	100.0	0	0.0	5.0	5.0		
Cherokee, GA	9,834	Dialysis	1 in 30 miles	62	158.6	9,834	100.0	0	0.0	4.3	5.2		
Clayton, GA	21,493	Dialysis	1 in 30 miles	286	75.2	21,493	100.0	0	0.0	2.2	2.3		
Cobb, GA	32,898	Dialysis	1 in 30 miles	285	115.4	32,898	100.0	0	0.0	2.8	3.2		
Coweta, GA	5,365	Dialysis	1 in 30 miles	137	39.2	5,365	100.0	0	0.0	4.0	4.7		
DeKalb, GA	42,120	Dialysis	1 in 30 miles	680	61.9	42,120	100.0	0	0.0	2.4	2.9		
Douglas, GA	10,450	Dialysis	1 in 30 miles	131	79.8	10,450	100.0	0	0.0	3.3	3.4		
Fayette, GA	3,804	Dialysis	1 in 30 miles	98	38.8	3,804	100.0	0	0.0	3.4	3.5		
Forsyth, GA	4,143	Dialysis	1 in 30 miles	20	207.2	4,143	100.0	0	0.0	5.4	5.9		
Fulton, GA	50,153	Dialysis	1 in 30 miles	598	83.9	50,153	100.0	0	0.0	2.3	2.4		
Gwinnett, GA	46,781	Dialysis	1 in 30 miles	180	259.9	46,781	100.0	0	0.0	3.3	4.4		
Henry, GA	18,943	Dialysis	1 in 30 miles	141	134.3	18,943	100.0	0	0.0	3.9	4.3		
Newton, GA	8,292	Dialysis	1 in 30 miles	4	2,073.0	8,292	100.0	0	0.0	4.1	4.8		
Paulding, GA	7,138	Dialysis	1 in 30 miles	63	113.3	7,138	100.0	0	0.0	3.8	4.1		
Rockdale, GA		Dialysis	1 in 30 miles	10	625.9	6,259	100.0	0	0.0	2.4	3.0		
Spalding, GA		Dialysis	1 in 30 miles	26			100.0	0	0.0	3.2	3.7		
Walton, GA		Dialysis	1 in 30 miles	60	117.6		100.0	0	0.0	4.1	5.9		
Grand Totals	295,614	Dialysis	1 in 30 miles	3,069	96.3	295,614	100.0	0	0.0	3.1	3.7		

# **Dialysis - Rural**

December 27, 2023

Access Analysis Dialysis- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Dialysis

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA		Dialysis	1 in 45 miles	24	59.4	1,425	100.0	0	0.0	5.9	5.9		
Haralson, GA		Dialysis	1 in 45 miles	57	21.1	1,202	100.0	0	0.0		7.4		
Jasper, GA		Dialysis	1 in 45 miles	0			100.0		0.0		17.1		
Pickens, GA		Dialysis	1 in 45 miles	1	1,288.0	1,288	100.0	0	0.0	5.1	15.3		
Grand Totals	4,748	Dialysis	1 in 45 miles	82	57.9	4,748	100.0	0	0.0	7.9	10.8		

### **DME** - Urban

December 27, 2023

Access Analysis

DME- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
DME

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	DME	1 in 30 miles	13	422.8	5,496	100.0	0	0.0	3.4	5.0		
Bartow, GA	6,211	DME	1 in 30 miles	11	564.6	6,211	100.0	0	0.0	4.5	4.8		
Carroll, GA	6,153	DME	1 in 30 miles	18	341.8	6,153	100.0	0	0.0	5.0	5.9		
Cherokee, GA	9,834		1 in 30 miles	15		9,834	100.0	0	0.0	3.1	5.0		
Clayton, GA	21,493	DME	1 in 30 miles	22	977.0	21,493	100.0	0	0.0	2.9	3.1		
Cobb, GA	32,898		1 in 30 miles	52		32,898		0	0.0	3.9	4.6		
Coweta, GA	5,365		1 in 30 miles	24		5,365		0	0.0	4.5	5.1		
DeKalb, GA	42,120		1 in 30 miles	23		42,120		0	0.0	3.6	4.0		
Douglas, GA	10,450	DME	1 in 30 miles	12		10,450		0	0.0	3.3	3.9		
Fayette, GA	3,804		1 in 30 miles	18		3,804		0	0.0	2.6	3.4		
Forsyth, GA	4,143	DME	1 in 30 miles	16	258.9	4,143	100.0	0	0.0	2.4	3.4		
Fulton, GA	50,153	DME	1 in 30 miles	27	1,857.5	50,153	100.0	0	0.0	5.0	5.6		
Gwinnett, GA	46,781	DME	1 in 30 miles	56	835.4	46,781	100.0	0	0.0	3.2	4.0		
Henry, GA	18,943	DME	1 in 30 miles	35	541.2	18,943	100.0	0	0.0	3.1	3.7		
Newton, GA	8,292	DME	1 in 30 miles	14	592.3	8,292	100.0	0	0.0	3.7	4.3		
Paulding, GA	7,138	DME	1 in 30 miles	13	549.1	7,138	100.0	0	0.0	2.9	3.6		
Rockdale, GA	6,259	DME	1 in 30 miles	24	260.8	6,259	100.0	0	0.0	2.5	2.8		
Spalding, GA	3,023	DME	1 in 30 miles	11	274.8	3,023	100.0	0	0.0	2.1	3.1		
Walton, GA	7,058	DME	1 in 30 miles	15	470.5	7,058	100.0	0	0.0	4.1	5.0		
Grand Totals	295,614	DME	1 in 30 miles	419	705.5	295,614	100.0	0	0.0	3.7	4.4		

### **DME - Rural**

December 27, 2023

Access Analysis DME- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
DME

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	ıt Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA	1,425		1 in 45 miles	10			100.0		0	0.0	2.4	3.5
Haralson, GA	1,202		1 in 45 miles	10			100.0		0	0.0	10.4	10.6
Jasper, GA		DME	1 in 45 miles	10	83.3		100.0		0	0.0	3.5	4.9
Pickens, GA	1,288	DME	1 in 45 miles	14	92.0	1,288	100.0		0	0.0	3.7	4.7
Grand Totals	4,748	DME	1 in 45 miles	44	107.9	4,748	100.0		0	0.0	5.0	5.9
© 2023 Quest Analytics 11 C												

### **FQHCs AND RHCs - Urban**

December 27, 2023

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
FQHCs and RHCs

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	FQHCs and R…	1 in 30 miles	0		5,437	98.9	59	1.1	23.7	28.4		
Bartow, GA	6,211	FQHCs and R	1 in 30 miles	0		578	9.3	5,633	90.7	34.0	35.1		
Carroll, GA	6,153	FQHCs and R	1 in 30 miles	2	3,076.5	6,153	100.0	0	0.0	7.6	11.5		
Cherokee, GA	9,834	FQHCs and R	1 in 30 miles	0		8,898	90.5	936	9.5	26.9	27.0		
Clayton, GA	21,493	FQHCs and R	1 in 30 miles	3	7,164.3	21,493	100.0	0	0.0	4.0	6.7		
Cobb, GA	32,898	FQHCs and R	1 in 30 miles	0		32,898		0	0.0	15.1	15.8		
Coweta, GA	5,365	FQHCs and R	1 in 30 miles	0		5,365	100.0	0	0.0	16.0	16.2		
DeKalb, GA	42,120	FQHCs and R	1 in 30 miles	15	2,808.0	42,120	100.0	0	0.0	4.8	6.5		
Douglas, GA	10,450	FQHCs and R	1 in 30 miles	3	3,483.3	10,450	100.0	0	0.0	6.3	6.4		
Fayette, GA	3,804	FQHCs and R	1 in 30 miles	0		3,804	100.0	0	0.0	9.4	11.2		
Forsyth, GA	4,143	FQHCs and R	1 in 30 miles	0		3,672	88.6	471	11.4	24.4	24.4		
Fulton, GA	50,153	FQHCs and R	1 in 30 miles	38	1,319.8	50,153	100.0	0	0.0	5.2	5.8		
Gwinnett, GA	46,781	FQHCs and R	1 in 30 miles	2	23,390.5	46,717	99.9	64	0.1	11.9	12.2		
Henry, GA	18,943	FQHCs and R	1 in 30 miles	0		18,943	100.0	0	0.0	9.3	14.4		
Newton, GA	8,292	FQHCs and R	1 in 30 miles	0		8,253	99.5	39	0.5	20.7	27.4		
Paulding, GA	7,138	FQHCs and R	1 in 30 miles	0		7,138	100.0	0	0.0	16.4	16.5		
Rockdale, GA	6,259	FQHCs and R	1 in 30 miles	0		6,259	100.0	0	0.0	19.4	19.9		
Spalding, GA	3,023	FQHCs and R	1 in 30 miles	3	1,007.7	3,023	100.0	0	0.0	3.9	4.0		
Walton, GA	7,058	FQHCs and R…	1 in 30 miles	0		6,538	92.6	520	7.4	22.1	24.4		
Grand Totals	295,614	FQHCs and	1 in 30 miles	66	4,479.0	287,892	97.4	7,722	2.6	11.2	12.6		

### **FQHCs AND RHCs - Rural**

December 27, 2023

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups

Rural Members (ATLANTA\_RURAL) FQHCs and RHCs

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	FQHCs and R	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	6.0	19.8		
Haralson, GA	1,202	FQHCs and R	1 in 45 miles	3			100.0	0	0.0	3.8	8.9		
Jasper, GA		FQHCs and R		0			100.0	0	0.0				
Pickens, GA	1,288	FQHCs and R	1 in 45 miles	0		1,288	100.0	0	0.0	15.2	15.2		
Grand Totals	4,748	FQHCs and	1 in 45 miles	4	1,187.0	4,748	100.0	0	0.0	10.3	17.9		
© 2023 Quest Analytics, LLC.													

# **Home Health Infusion Services - Urban**

December 27, 2023

#### **Access Analysis**

Home Health and Infusion Services- Urban

#### Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Home Health and Infusion Services

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Patio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	Home Health	1 in 30 miles	39	140.9	5,496	100.0	0	0.0	3.3	4.0		
Bartow, GA	6,211	Home Health	1 in 30 miles	37	167.9	6,211	100.0	0	0.0	6.3	6.8		
Carroll, GA	6,153	Home Health	1 in 30 miles	41	150.1	6,153	100.0	0	0.0	5.0	7.2		
Cherokee, GA	9,834	Home Health	1 in 30 miles	5	1,966.8	9,834	100.0	0	0.0	4.9	6.5		
Clayton, GA	21,493	Home Health	1 in 30 miles	10	2,149.3	21,493	100.0	0	0.0	2.2	3.2		
Cobb, GA	32,898	Home Health	1 in 30 miles	49	671.4	32,898	100.0	0	0.0	3.2	4.4		
Coweta, GA	5,365	Home Health	1 in 30 miles	42	127.7	5,365	100.0	0	0.0	4.7	5.1		
DeKalb, GA	42,120	Home Health	1 in 30 miles	52	810.0	42,120	100.0	0	0.0	2.8	3.8		
Douglas, GA	10,450	Home Health	1 in 30 miles	41	254.9	10,450	100.0	0	0.0	3.2	4.0		
Fayette, GA	3,804	Home Health	1 in 30 miles	44	86.5	3,804	100.0	0	0.0	3.8	4.5		
Forsyth, GA	4,143	Home Health	1 in 30 miles	6	690.5	4,143	100.0	0	0.0	2.8	4.1		
Fulton, GA		Home Health	1 in 30 miles	50	1,003.1	50,153	100.0	0	0.0	3.9	4.8		
Gwinnett, GA	46,781	Home Health	1 in 30 miles	51	917.3	46,781	100.0	0	0.0	4.4	5.5		
Henry, GA		Home Health	1 in 30 miles	49	386.6	18,943		0	0.0	3.5	4.4		
Newton, GA	8,292	Home Health	1 in 30 miles	43	192.8		100.0	0	0.0	3.0	3.6		
Paulding, GA	7,138	Home Health	1 in 30 miles	43	166.0		100.0	0	0.0	3.1	4.0		
Rockdale, GA		Home Health	1 in 30 miles	43			100.0	0	0.0	2.4	3.2		
Spalding, GA		Home Health	1 in 30 miles	6			100.0	0	0.0	2.6	4.2		
Walton, GA	7,058	Home Health	1 in 30 miles	46	153.4		100.0	0	0.0	4.2	5.6		
Grand Totals	295,614	Home Health	1 in 30 miles	697	424.1	295,614	100.0	0	0.0	3.6	4.6		
		•		-			-						

### **Home Health Infusion Services - Rural**

December 27, 2023

Access Analysis

Home Health and Infusion Services- Rural

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Home Health and Infusion Services

Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	Home Health	1 in 45 miles	4	356.3	1,425	100.0	0	0.0	2.9	5.5		
Haralson, GA			1 in 45 miles	4	300.5		100.0		0.0	10.2	10.4		
Jasper, GA			1 in 45 miles	6			100.0		0.0	4.5	6.9		
Pickens, GA	1,288	Home Health	1 in 45 miles	3	429.3	1,288	100.0	0	0.0	4.9	10.8		
Grand Totals	4,748	Home Health	1 in 45 miles	17	279.3	4,748	100.0	0	0.0	5.6	8.4		
© 2023 Quest Analytics, LLC.													

# **Hospitals - Urban**

December 27, 2023

Access Analysis Hospitals- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Hospitals

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	Hospitals	1 in 30 miles	1	5,496.0	5,496	100.0	0	0.0	6.2	13.2		
Bartow, GA	6,211	Hospitals	1 in 30 miles	1	6,211.0	6,211	100.0	0	0.0	6.6	7.7		
Carroll, GA	6,153	Hospitals	1 in 30 miles	1	6,153.0	6,153	100.0	0	0.0	12.5	20.6		
Cherokee, GA	9,834	Hospitals	1 in 30 miles	0		9,834	100.0	0	0.0	13.1	15.2		
Clayton, GA	21,493	Hospitals	1 in 30 miles	0		21,493	100.0	0	0.0	13.8	14.4		
Cobb, GA	32,898	Hospitals	1 in 30 miles	8	4,112.3	32,898	100.0	0	0.0	5.6	7.8		
Coweta, GA	5,365	Hospitals	1 in 30 miles	3	1,788.3	5,365	100.0	0	0.0	5.8	10.5		
DeKalb, GA	42,120	Hospitals	1 in 30 miles	9	4,680.0	42,120	100.0	0	0.0	4.9	5.6		
Douglas, GA	10,450	Hospitals	1 in 30 miles	1	10,450.0	10,450	100.0	0	0.0	5.2	14.4		
Fayette, GA	3,804	Hospitals	1 in 30 miles	2	1,902.0	3,804	100.0	0	0.0	7.0	7.0		
Forsyth, GA	4,143	Hospitals	1 in 30 miles	2	1,381.0	4,143	100.0	0	0.0	5.8	8.6		
Fulton, GA	50,153	Hospitals	1 in 30 miles	9	5,572.6	50,153	100.0	0	0.0	7.3	8.3		
Gwinnett, GA	46,781	Hospitals	1 in 30 miles	4	11,695.3	46,781	100.0	0	0.0	5.0	8.3		
Henry, GA	18,943	Hospitals	1 in 30 miles	0		18,943	100.0	0	0.0	12.3	12.8		
Newton, GA	8,292	Hospitals	1 in 30 miles	1	8,292.0	8,292	100.0	0	0.0	7.0	12.5		
Paulding, GA	7,138	Hospitals	1 in 30 miles	0		7,138	100.0	0	0.0	14.1	14.9		
Rockdale, GA		Hospitals	1 in 30 miles	1	6,259.0	6,259		0	0.0	4.4	9.6		
Spalding, GA	3,023	Hospitals	1 in 30 miles	3	1,007.7	3,023	100.0	0	0.0	3.4	3.8		
Walton, GA	7,058	Hospitals	1 in 30 miles	1	7,058.0	7,058	100.0	0	0.0	6.8	12.8		
Grand Totals	295,614	Hospitals	1 in 30 miles	48	6,158.6	295,614	100.0	0	0.0	7.4	9.8		

# **Hospitals -Rural**

December 27, 2023

Access Analysis Hospitals- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Hospitals

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA		Hospitals	1 in 45 miles	1	1,425.0	1,425	100.0		0.0		15.0		
Haralson, GA		Hospitals	1 in 45 miles	1	1,202.0	1,202	100.0		0.0		19.9		
Jasper, GA		Hospitals	1 in 45 miles	1	833.0	833	100.0		0.0		15.5		
Pickens, GA	1,288	Hospitals	1 in 45 miles	1	1,288.0	1,288	100.0		0.0	5.5	25.7		
Grand Totals	4,748	Hospitals	1 in 45 miles	4	1,187.0	4,748	100.0		0.0	6.6	19.2		
© 2023 Quest Analytics II C													

# **Outpatient Laboratory Services - Urban**

December 27, 2023

**Access Analysis** 

Outpatient Laboratory Services-Urban

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Outpatient Laboratory Services

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	5,496	Outpatient La	1 in 30 miles	1	5,496.0	5,496	100.0	0	0.0	7.5	13.0		
Bartow, GA	6,211	Outpatient La	1 in 30 miles	5	1,242.2	6,211	100.0	0	0.0	5.6	6.5		
Carroll, GA	6,153	Outpatient La	1 in 30 miles	26	236.7	6,153	100.0	0	0.0	8.4	9.1		
Cherokee, GA	9,834	Outpatient La	1 in 30 miles	2	4,917.0	9,834	100.0	0	0.0	5.7	8.9		
Clayton, GA	21,493	Outpatient La	1 in 30 miles	30	716.4	21,493	100.0	0	0.0	2.7	3.6		
Cobb, GA	32,898	Outpatient La	1 in 30 miles	44	747.7	32,898	100.0	0	0.0	3.5	3.9		
Coweta, GA	5,365	Outpatient La	1 in 30 miles	7	766.4	5,365	100.0	0	0.0	4.7	5.6		
DeKalb, GA	42,120	Outpatient La	1 in 30 miles	117	360.0	42,120	100.0	0	0.0	3.4	3.8		
Douglas, GA	10,450	Outpatient La	1 in 30 miles	1	10,450.0	10,450	100.0	0	0.0	4.5	9.4		
Fayette, GA	3,804	Outpatient La	1 in 30 miles	6	634.0	3,804	100.0	0	0.0	4.6	6.0		
Forsyth, GA	4,143	Outpatient La	1 in 30 miles	2	2,071.5	4,143	100.0	0	0.0	5.2	8.6		
Fulton, GA	50,153	Outpatient La	1 in 30 miles	156	321.5	50,153	100.0	0	0.0	3.3	3.9		
Gwinnett, GA	46,781	Outpatient La	1 in 30 miles	32	1,461.9	46,781	100.0	0	0.0	5.1	5.6		
Henry, GA	18,943	Outpatient La	1 in 30 miles	13	1,457.2	18,943	100.0	0	0.0	5.1	6.7		
Newton, GA	8,292	Outpatient La	1 in 30 miles	5			100.0	0	0.0	5.2	5.9		
Paulding, GA	7,138	Outpatient La	1 in 30 miles	6		7,138	100.0	0	0.0	3.0	4.8		
Rockdale, GA		Outpatient La	1 in 30 miles	9			100.0	0	0.0	2.8	3.2		
Spalding, GA		Outpatient La	1 in 30 miles	4	755.8		100.0	0	0.0	2.9	4.9		
Walton, GA		Outpatient La	1 in 30 miles	3			100.0	0	0.0	6.6	8.2		
Grand Totals	295.614	Outpatient L	1 in 30 miles	469	630.3	295,614	100.0	0	0.0	4.2	5.3		
		l		L									

# **Outpatient Laboratory Services - Rural**

December 27, 2023

**Access Analysis** 

Outpatient Laboratory Services-Rural

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Outpatient Laboratory Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,425	Outpatient La	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	5.8	12.4	
Haralson, GA		Outpatient La	1 in 45 miles	2	601.0		100.0	0	0.0	10.7	10.9	
Jasper, GA			1 in 45 miles	1			100.0		0.0		17.3	
Pickens, GA	1,288	Outpatient La	1 in 45 miles	4	322.0	1,288	100.0	0	0.0	4.9	5.0	
Grand Totals	4,748	Outpatient L	1 in 45 miles	8	593.5	4,748	100.0	0	0.0	7.6	10.9	
© 2023 Quest Analytics. LLC												

# **Obstetrics/Gynecology -Urban**

December 27, 2023

Access Analysis
Obstetrics/Gynecology- Urban

Member / Provider Groups
Female Urban Members
(ATLANTA\_URBAN)
Obstetrics/Gynecology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	1,564	Obstetrics/Gy	2 in 30 miles	4	391.0	1,564	100.0	0	0.0	5.6	5.8	
Bartow, GA	1,851	Obstetrics/Gy	2 in 30 miles	27	68.6	1,851	100.0	0	0.0	6.5	6.7	
Carroll, GA	1,880	Obstetrics/Gy	2 in 30 miles	14	134.3	1,880	100.0	0	0.0	5.0	5.4	
Cherokee, GA	2,822	Obstetrics/Gy	2 in 30 miles	163	17.3	2,822		0	0.0	3.1	3.3	
Clayton, GA	6,670	Obstetrics/Gy	2 in 30 miles	87	76.7	6,670	100.0	0	0.0	2.0	2.4	
Cobb, GA	9,937	Obstetrics/Gy	2 in 30 miles	163	61.0	9,937	100.0	0	0.0	2.6	2.9	
Coweta, GA	1,664	Obstetrics/Gy	2 in 30 miles	39	42.7	1,664	100.0	0	0.0	4.7	5.3	
DeKalb, GA	12,929	Obstetrics/Gy	2 in 30 miles	271	47.7	12,929	100.0	0	0.0	2.1	2.5	
Douglas, GA	3,291	Obstetrics/Gy	2 in 30 miles	21	156.7	3,291	100.0	0	0.0	3.5	4.1	
Fayette, GA	1,173	Obstetrics/Gy	2 in 30 miles	28	41.9	1,173	100.0	0	0.0	3.3	4.3	
Forsyth, GA	1,188	Obstetrics/Gy	2 in 30 miles	167	7.1	1,188	100.0	0	0.0	4.1	4.3	
Fulton, GA	16,666	Obstetrics/Gy	2 in 30 miles	549	30.4	16,666	100.0	0	0.0	2.1	2.4	
Gwinnett, GA	12,989	Obstetrics/Gy	2 in 30 miles	180	72.2	12,989	100.0	0	0.0	2.3	2.7	
Henry, GA	6,057	Obstetrics/Gy	2 in 30 miles	82	73.9	6,057	100.0	0	0.0	3.3	3.4	
Newton, GA	2,633	Obstetrics/Gy	2 in 30 miles	33	79.8	2,633	100.0	0	0.0	5.6	5.6	
Paulding, GA	2,110	Obstetrics/Gy	2 in 30 miles	10	211.0	2,110	100.0	0	0.0	3.8	4.3	
Rockdale, GA	1,943	Obstetrics/Gy	2 in 30 miles	50	38.9	1,943	100.0	0	0.0	2.5	2.9	
Spalding, GA	994	Obstetrics/Gy	2 in 30 miles	19	52.3	994	100.0	0	0.0	3.4	3.4	
Walton, GA	2,082	Obstetrics/Gy	2 in 30 miles	6	347.0	2,082	100.0	0	0.0	3.7	3.9	
Grand Totals	90,443	Obstetrics/G	2 in 30 miles	1,913	47.3	90,443	100.0	0	0.0	2.8	3.2	

# **Obstetrics/Gynecology -Rural**

December 27, 2023

Access Analysis
Obstetrics/Gynecology- Rural

Member / Provider Groups
Female Rural Members
(ATLANTA\_RURAL)
Obstetrics/Gynecology

Haralson, GA       390 Obstetrics/Gy       2 in 45 miles       2       195.0       390 100.0       0       0.0       7.2       7.4         Jasper, GA       249 Obstetrics/Gy       2 in 45 miles       1       249.0       249 100.0       0       0.0       14.7       15.2	Members With and Without Access												
County         #         Group         Standard         #         to Providers         #         %         #         %         1         2           Butts, GA         450         Obstetrics/Gy         2 in 45 miles         4         112.5         450         100.0         0         0.0         5.7         6.1           Haralson, GA         390         Obstetrics/Gy         2 in 45 miles         2         195.0         390         100.0         0         0.0         7.2         7.4           Jasper, GA         249         Obstetrics/Gy         2 in 45 miles         1         249.0         249         100.0         0         0.0         14.7         15.2           Pickens, GA         400         Obstetrics/Gy         2 in 45 miles         9         44.4         400         100.0         0         0.0         5.1         5.1		Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
Haralson, GA       390 Obstetrics/Gy       2 in 45 miles       2 195.0       390 100.0       0 0.0       7.2       7.4         Jasper, GA       249 Obstetrics/Gy       2 in 45 miles       1 249.0       249 100.0       0 0.0       14.7       15.2         Pickens, GA       400 Obstetrics/Gy       2 in 45 miles       9 44.4       400 100.0       0 0.0       5.1       5.1	County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Jasper, GA     249 Obstetrics/Gy     2 in 45 miles     1     249.0     249 100.0     0     0     0.0     14.7     15.2       Pickens, GA     400 Obstetrics/Gy     2 in 45 miles     9     44.4     400 100.0     0     0.0     5.1     5.1	Butts, GA	450	Obstetrics/Gy	2 in 45 miles	4	112.5				0	0.0		
Jasper, GA     249 Obstetrics/Gy     2 in 45 miles     1     249.0     249 100.0     0     0     0.0     14.7     15.2       Pickens, GA     400 Obstetrics/Gy     2 in 45 miles     9     44.4     400 100.0     0     0.0     5.1     5.1	Haralson, GA	390	Obstetrics/Gy	2 in 45 miles	2	195.0	390	100.0		0	0.0	7.2	7.4
	Jasper, GA	249	Obstetrics/Gy	2 in 45 miles	1	249.0	249	100.0		0	0.0	14.7	15.2
Grand Totals 1,489 Obstetrics/G 2 in 45 miles 16 93.1 1,489 100.0 0 0.0 7.4 7.7	Pickens, GA	400	Obstetrics/Gy	2 in 45 miles	9	44.4	400	100.0		0	0.0	5.1	5.1
	Grand Totals	1,489	Obstetrics/G	2 in 45 miles	16	93.1	1,489	100.0		0	0.0	7.4	7.7
	© 2023 Quest Analytics 11 C												

# Pediatric Allergy/Immunology - Urban

December 27, 2023

**Access Analysis** 

Pediatric Allergy/Immunology-Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Allergy/Immunology

	Members With and Without Access										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	4,263	Pediatric_Alle	1 in 30 miles	0		4,263	100.0	0	0.0	12.2	13.4
Bartow, GA	4,740	Pediatric_Alle	1 in 30 miles	0		4,740	100.0	0	0.0	18.4	22.2
Carroll, GA	4,670	Pediatric_Alle	1 in 30 miles	4	1,167.5	4,670	100.0	0	0.0	5.8	5.9
Cherokee, GA	7,700	Pediatric_Alle	1 in 30 miles	2	3,850.0	7,700	100.0	0	0.0	5.2	10.5
Clayton, GA	16,345	Pediatric_Alle	1 in 30 miles	0		16,345	100.0	0	0.0	10.1	10.6
Cobb, GA	25,381	Pediatric_Alle	1 in 30 miles	11	2,307.4	25,381	100.0	0	0.0	3.7	5.5
Coweta, GA	4,029	Pediatric_Alle	1 in 30 miles	4	1,007.3	4,029	100.0	0	0.0	6.5	7.1
DeKalb, GA	32,113	Pediatric_Alle	1 in 30 miles	22	1,459.7	32,113	100.0	0	0.0	4.9	5.6
Douglas, GA	7,894	Pediatric_Alle	1 in 30 miles	3	2,631.3	7,894	100.0	0	0.0	5.0	5.2
Fayette, GA	2,897	Pediatric_Alle	1 in 30 miles	1	2,897.0	2,897		0	0.0	6.9	11.8
Forsyth, GA		Pediatric_Alle	1 in 30 miles	3	1,085.0	3,255		0	0.0		5.5
Fulton, GA	37,120	Pediatric_Alle	1 in 30 miles	30	1,237.3	37,120	100.0	0	0.0	7.2	8.4
Gwinnett, GA	37,316	Pediatric_Alle	1 in 30 miles	20	1,865.8	37,316	100.0	0	0.0	3.8	4.6
Henry, GA	14,152	Pediatric_Alle	1 in 30 miles	2	7,076.0	14,152	100.0	0	0.0	8.3	8.9
Newton, GA	6,287	Pediatric_Alle	1 in 30 miles	0		6,287	100.0	0	0.0	14.1	20.9
Paulding, GA	5,485	Pediatric_Alle	1 in 30 miles	2	2,742.5	5,485		0	0.0	5.0	7.3
Rockdale, GA	4,729	Pediatric_Alle	1 in 30 miles	1	4,729.0	4,729		0	0.0	4.5	14.4
Spalding, GA	2,187	Pediatric_Alle	1 in 30 miles	1	2,187.0	2,187		0	0.0	4.0	18.5
Walton, GA	5,489	Pediatric_Alle	1 in 30 miles	0		5,489	100.0	0	0.0	12.5	13.6
Grand Totals	226,052	Pediatric_All	1 in 30 miles	106	2,132.6	226,052	100.0	0	0.0	6.5	8.2

# Pediatric Allergy/Immunology -Rural

December 27, 2023

**Access Analysis** 

Pediatric Allergy/Immunology-Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Allergy/Immunology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Alle	1 in 45 miles	0		1,051	100.0	0	0.0	18.1	19.5	
Haralson, GA	900	Pediatric_Alle	1 in 45 miles	0			100.0				17.5	
Jasper, GA			1 in 45 miles	0			100.0				29.6	
Pickens, GA	983	Pediatric_Alle	1 in 45 miles	0		983	100.0	0	0.0	18.3	27.0	
Grand Totals	3,581	Pediatric_All	1 in 45 miles	0		3,581	100.0	0	0.0	19.6	22.9	
© 2023 Quest Analytics 11 C												

## **Pediatric Cardiology - Urban**

December 27, 2023

Access Analysis
Pediatric Cardiology- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Cardiology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Car	1 in 30 miles	43	99.1	4,263	100.0	0	0.0	3.3	4.2	
Bartow, GA	4,740	Pediatric_Car	1 in 30 miles	7	677.1	4,740	100.0	0	0.0	6.2	7.4	
Carroll, GA	4,670	Pediatric_Car	1 in 30 miles	19	245.8	4,670	100.0	0	0.0	4.5	4.8	
Cherokee, GA	7,700	Pediatric_Car	1 in 30 miles	133	57.9	7,700	100.0	0	0.0	3.6	3.8	
Clayton, GA	16,345	Pediatric_Car	1 in 30 miles	51	320.5	16,345	100.0	0	0.0	3.3	3.4	
Cobb, GA	25,381	Pediatric_Car	1 in 30 miles	87	291.7	25,381	100.0	0	0.0	2.9	3.8	
Coweta, GA	4,029	Pediatric_Car	1 in 30 miles	54	74.6	4,029	100.0	0	0.0	4.9	5.0	
DeKalb, GA	32,113	Pediatric_Car	1 in 30 miles	175	183.5	32,113	100.0	0	0.0	3.3	3.4	
Douglas, GA	7,894	Pediatric_Car	1 in 30 miles	25	315.8	7,894	100.0	0	0.0	3.9	4.3	
Fayette, GA	2,897	Pediatric_Car	1 in 30 miles	40	72.4	2,897	100.0	0	0.0	5.0	5.0	
Forsyth, GA	3,255	Pediatric_Car	1 in 30 miles	133	24.5	3,255	100.0	0	0.0	4.3	4.4	
Fulton, GA	37,120	Pediatric_Car	1 in 30 miles	438	84.7	37,120	100.0	0	0.0	3.3	3.7	
Gwinnett, GA	37,316	Pediatric_Car	1 in 30 miles	280	133.3	37,316	100.0	0	0.0	2.9	3.2	
Henry, GA	14,152	Pediatric_Car	1 in 30 miles	62	228.3	14,152	100.0	0	0.0	5.2	5.4	
Newton, GA	6,287	Pediatric_Car	1 in 30 miles	3	2,095.7	6,287	100.0	0	0.0	5.6	6.7	
Paulding, GA	5,485	Pediatric_Car	1 in 30 miles	3		5,485	100.0	0	0.0	4.2	5.3	
Rockdale, GA			1 in 30 miles	55	86.0	4,729	100.0	0	0.0	2.4	3.8	
Spalding, GA	2,187	Pediatric_Car	1 in 30 miles	15	145.8	2,187	100.0	0	0.0	3.7	4.0	
Walton, GA	5,489	Pediatric_Car	1 in 30 miles	40	137.2	5,489	100.0	0	0.0	3.3	3.4	
Grand Totals	226,052	Pediatric_Ca	1 in 30 miles	1,663	135.9	226,052	100.0	0	0.0	3.6	4.0	

## **Pediatric Cardiology - Rural**

December 27, 2023

Access Analysis

Pediatric Cardiology- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Cardiology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Car	1 in 45 miles	4	262.8	1,051	100.0	0	0.0	5.3	6.2	
Haralson, GA	900	Pediatric_Car	1 in 45 miles	2	450.0		100.0		0.0		7.7	
Jasper, GA	647	Pediatric_Car	1 in 45 miles	1	647.0	647	100.0	0	0.0	14.8	16.4	
Pickens, GA	983	Pediatric_Car	1 in 45 miles	25	39.3		100.0		0.0	4.5	4.5	
Grand Totals	3,581	Pediatric_Ca	1 in 45 miles	32	111.9	3,581	100.0	0	0.0	7.2	8.0	

## **Pediatric Dermatology - Urban**

December 27, 2023

Access Analysis
Pediatric Dermatology- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Dermatology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Der	1 in 30 miles	0		4,263	100.0	0	0.0	14.7	15.5	
Bartow, GA	4,740	Pediatric_Der	1 in 30 miles	3	1,580.0	4,740	100.0	0	0.0	7.3	7.5	
Carroll, GA	4,670	Pediatric_Der	1 in 30 miles	3	1,556.7	4,670	100.0	0	0.0	9.6	11.4	
Cherokee, GA	7,700	Pediatric_Der	1 in 30 miles	4	1,925.0	7,700		0	0.0	6.3	7.9	
Clayton, GA	16,345	Pediatric_Der	1 in 30 miles	12	1,362.1	16,345	100.0	0	0.0	4.9	5.0	
Cobb, GA	25,381	Pediatric_Der	1 in 30 miles	8	3,172.6	25,381		0	0.0	4.2	6.6	
Coweta, GA	4,029	Pediatric_Der	1 in 30 miles	7	575.6	4,029	100.0	0	0.0	5.4	5.9	
DeKalb, GA	32,113	Pediatric_Der	1 in 30 miles	29	1,107.3	32,113	100.0	0	0.0	6.3	6.4	
Douglas, GA	7,894	Pediatric_Der	1 in 30 miles	1	7,894.0	7,894	100.0	0	0.0	5.2	12.8	
Fayette, GA	2,897	Pediatric_Der	1 in 30 miles	8	362.1	2,897	100.0	0	0.0	4.3	4.3	
Forsyth, GA	3,255	Pediatric_Der	1 in 30 miles	9	361.7	3,255	100.0	0	0.0	4.5	5.3	
Fulton, GA	37,120	Pediatric_Der	1 in 30 miles	40	928.0	37,120	100.0	0	0.0	5.5	5.6	
Gwinnett, GA	37,316	Pediatric_Der	1 in 30 miles	9	4,146.2	37,316	100.0	0	0.0	6.7	6.7	
Henry, GA	14,152	Pediatric_Der	1 in 30 miles	2	7,076.0	14,152	100.0	0	0.0	8.0	11.8	
Newton, GA	6,287	Pediatric_Der	1 in 30 miles	0		6,186	98.4	101	1.6	21.7	24.9	
Paulding, GA	5,485	Pediatric_Der	1 in 30 miles	4	1,371.3	5,485	100.0	0	0.0	5.5	5.5	
Rockdale, GA	4,729	Pediatric Der	1 in 30 miles	0		4,729	100.0	0	0.0	19.8	20.4	
Spalding, GA	2,187	Pediatric Der	1 in 30 miles	2	1,093.5	2,187	100.0	0	0.0	4.3	18.7	
Walton, GA	5,489	Pediatric_Der	1 in 30 miles	0		5,098	92.9	391	7.1	21.8	22.3	
Grand Totals	226,052	Pediatric_De	1 in 30 miles	141	1,603.2	225,560	99.8	492	0.2	7.2	8.4	

## **Pediatric Dermatology - Rural**

December 27, 2023

Access Analysis

Pediatric Dermatology- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Dermatology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Der	1 in 45 miles	0		1,051	100.0	(	0.0	19.6	27.9	
Haralson, GA	900	Pediatric_Der	1 in 45 miles	0		900	100.0	(	0.0	19.0	19.0	
Jasper, GA			1 in 45 miles	0			100.0				37.2	
Pickens, GA			1 in 45 miles	0		983	100.0	(	0.0	18.7	18.8	
Grand Totals	3,581	Pediatric_De	1 in 45 miles	0		3,581	100.0	(	0.0	21.7	24.8	
© 2023 Quest Analytics 11 C		•	-	-				-	-	-		

# **Pediatric Endocrinology - Urban**

December 27, 2023

Access Analysis

Pediatric Endocrinology- Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Endocrinology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_End	1 in 30 miles	1	4,263.0	4,263	100.0	0	0.0	5.9	12.8	
Bartow, GA	4,740	Pediatric_End	1 in 30 miles	2	2,370.0	4,740	100.0	0	0.0	6.9	8.1	
Carroll, GA	4,670	Pediatric_End	1 in 30 miles	0		3,378	72.3	1,292	27.7	26.9	28.1	
Cherokee, GA	7,700	Pediatric_End	1 in 30 miles	4	1,925.0	7,700	100.0	0	0.0	5.5		
Clayton, GA	16,345	Pediatric_End	1 in 30 miles	4	4,086.3	16,345	100.0	0	0.0	5.0	5.5	
Cobb, GA	25,381	Pediatric_End	1 in 30 miles	8		25,381	100.0	0	0.0	4.0	5.3	
Coweta, GA	4,029	Pediatric_End	1 in 30 miles	5	805.8	4,029	100.0	0	0.0	5.9	7.6	
DeKalb, GA	32,113	Pediatric_End	1 in 30 miles	45	713.6	32,113	100.0	0	0.0	4.8	5.4	
Douglas, GA	7,894	Pediatric_End	1 in 30 miles	0		7,894	100.0	0	0.0	14.7	14.9	
Fayette, GA	2,897	Pediatric_End	1 in 30 miles	4	724.3	2,897	100.0	0	0.0	4.9	5.4	
Forsyth, GA	3,255	Pediatric_End	1 in 30 miles	1	3,255.0	3,255	100.0	0	0.0	7.6	11.6	
Fulton, GA	37,120	Pediatric_End	1 in 30 miles	59	629.2	37,120	100.0	0	0.0	6.7	7.1	
Gwinnett, GA	37,316	Pediatric_End	1 in 30 miles	13	2,870.5	37,316	100.0	0	0.0	5.3	7.3	
Henry, GA	14,152	Pediatric_End	1 in 30 miles	1	14,152.0	14,152	100.0	0	0.0	7.9	11.5	
Newton, GA	6,287	Pediatric_End	1 in 30 miles	0		6,287	100.0	0	0.0	13.3	20.6	
Paulding, GA	5,485	Pediatric_End	1 in 30 miles	0		5,485	100.0	0	0.0	13.4	14.3	
Rockdale, GA	4,729	Pediatric_End	1 in 30 miles	1	4,729.0	4,729	100.0	0	0.0	4.4	17.7	
Spalding, GA	2,187	Pediatric_End	1 in 30 miles	0		2,187	100.0	0	0.0	19.1	20.4	
Walton, GA	5,489	Pediatric_End	1 in 30 miles	0		5,489	100.0	0	0.0	14.2	18.6	
Grand Totals	226,052	Pediatric_En	1 in 30 miles	148	1,527.4	224,760	99.4	1,292	0.6	7.1	8.9	

## **Pediatric Endocrinology - Rural**

December 27, 2023

Access Analysis

Pediatric Endocrinology- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Endocrinology

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_End	1 in 45 miles	0		1,051	100.0	0	0.0	26.2	27.7	
Haralson, GA			1 in 45 miles	0			100.0	0	0.0		33.6	
Jasper, GA	647	Pediatric_End	1 in 45 miles	0			100.0		0.0	29.0	29.7	
Pickens, GA	983	Pediatric_End	1 in 45 miles	0		983	100.0	0	0.0	21.8	24.2	
Grand Totals	3,581	Pediatric_En	1 in 45 miles	0		3,581	100.0	0	0.0	26.4	28.6	

### **Pediatric ENT - Urban**

December 27, 2023

Access Analysis
Pediatric ENT- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_ENT

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_ENT	1 in 30 miles	0		4,263	100.0	0	0.0	11.0	11.3		
Bartow, GA	4,740	Pediatric_ENT	1 in 30 miles	7	677.1	4,740	100.0	0	0.0	6.5	6.6		
Carroll, GA	4,670	Pediatric_ENT	1 in 30 miles	5	934.0	4,670	100.0	0	0.0	5.5	5.9		
Cherokee, GA	7,700	Pediatric_ENT	1 in 30 miles	12	641.7	7,700	100.0	0	0.0	4.2	4.7		
Clayton, GA	16,345	Pediatric_ENT	1 in 30 miles	6	2,724.2	16,345	100.0	0	0.0	3.2	3.8		
Cobb, GA	25,381	Pediatric_ENT	1 in 30 miles	27	940.0	25,381	100.0	0	0.0	3.9	4.1		
Coweta, GA	4,029	Pediatric_ENT	1 in 30 miles	2	2,014.5	4,029	100.0	0	0.0	5.5	9.4		
DeKalb, GA	32,113	Pediatric_ENT	1 in 30 miles	60	535.2	32,113	100.0	0	0.0	3.9	5.0		
Douglas, GA	7,894	Pediatric_ENT	1 in 30 miles	2	3,947.0	7,894	100.0	0	0.0	5.0	5.2		
Fayette, GA	2,897	Pediatric_ENT	1 in 30 miles	20	144.9	2,897	100.0	0	0.0	4.3	5.7		
Forsyth, GA	3,255	Pediatric_ENT	1 in 30 miles	21	155.0	3,255	100.0	0	0.0	5.3	5.3		
Fulton, GA	37,120	Pediatric ENT	1 in 30 miles	166	223.6	37,120		0	0.0	3.6	4.9		
Gwinnett, GA	37,316	Pediatric ENT	1 in 30 miles	33	1,130.8	37,316	100.0	0	0.0	4.0	4.8		
Henry, GA	14,152	Pediatric ENT	1 in 30 miles	11	1,286.5	14,152	100.0	0	0.0	7.7	7.9		
Newton, GA		Pediatric ENT	1 in 30 miles	1	6,287.0	6,287		0	0.0	7.0	12.9		
Paulding, GA	5,485	Pediatric_ENT	1 in 30 miles	2	2,742.5	5,485	100.0	0	0.0	5.3	5.4		
Rockdale, GA		Pediatric ENT	1 in 30 miles	2	2,364.5	4,729		0	0.0	4.3	4.4		
Spalding, GA		Pediatric ENT	1 in 30 miles	1		2,187		0	0.0	4.3	16.8		
Walton, GA		Pediatric_ENT	1 in 30 miles	3	1,829.7	5,489		0	0.0	6.3	6.8		
Grand Totals	226,052	Pediatric_ENT	1 in 30 miles	381	593.3	226,052	100.0	0	0.0	4.6	5.6		

#### **Pediatric ENT - Rural**

December 27, 2023

Access Analysis
Pediatric ENT- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_ENT

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_ENT	1 in 45 miles	0			100.0		0.0	17.2	20.3	
Haralson, GA		Pediatric_ENT	1 in 45 miles	1	900.0	900	100.0	0	0.0	7.7	17.4	
Jasper, GA			1 in 45 miles	0			100.0		0.0		27.2	
Pickens, GA	983	Pediatric_ENT	1 in 45 miles	0		983	100.0	0	0.0	16.2	16.3	
Grand Totals	3,581	Pediatric_ENT	1 in 45 miles	1	3,581.0	3,581	100.0	0	0.0	15.4	19.7	

## **Pediatric Gastroenterology - Urban**

December 27, 2023

**Access Analysis** 

Pediatric Gastroenterology-

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Gastroenterology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Gas	1 in 30 miles	4	1,065.8	4,263	100.0	0	0.0	5.6	5.6	
Bartow, GA	4,740	Pediatric_Gas	1 in 30 miles	5	948.0	4,740	100.0	0	0.0	7.2		
Carroll, GA	4,670	Pediatric_Gas	1 in 30 miles	5	934.0	4,670	100.0	0	0.0	5.6	8.7	
Cherokee, GA	7,700	Pediatric_Gas	1 in 30 miles	45	171.1	7,700	100.0	0	0.0	4.0		
Clayton, GA	16,345	Pediatric_Gas	1 in 30 miles	23	710.7	16,345	100.0	0	0.0	3.4	3.6	
Cobb, GA	25,381	Pediatric_Gas	1 in 30 miles	184	137.9	25,381	100.0	0	0.0	3.1	3.3	
Coweta, GA	4,029	Pediatric_Gas	1 in 30 miles	8	503.6	4,029	100.0	0	0.0	5.0	6.2	
DeKalb, GA	32,113	Pediatric_Gas	1 in 30 miles	73	439.9	32,113	100.0	0	0.0	3.5	3.8	
Douglas, GA	7,894	Pediatric_Gas	1 in 30 miles	31	254.6	7,894	100.0	0	0.0	4.4	4.5	
Fayette, GA	2,897	Pediatric_Gas	1 in 30 miles	10	289.7	2,897	100.0	0	0.0	4.9	5.9	
Forsyth, GA	3,255	Pediatric_Gas	1 in 30 miles	37	88.0	3,255	100.0	0	0.0	4.4	5.4	
Fulton, GA	37,120	Pediatric_Gas	1 in 30 miles	278	133.5	37,120	100.0	0	0.0	3.8	4.2	
Gwinnett, GA	37,316	Pediatric_Gas	1 in 30 miles	65	574.1	37,316	100.0	0	0.0	3.6	4.2	
Henry, GA	14,152	Pediatric_Gas	1 in 30 miles	22	643.3	14,152	100.0	0	0.0	5.4	6.0	
Newton, GA	6,287	Pediatric_Gas	1 in 30 miles	12	523.9	6,287	100.0	0	0.0	6.7	6.9	
Paulding, GA	5,485	Pediatric_Gas	1 in 30 miles	12	457.1	5,485	100.0	0	0.0	4.9	5.1	
Rockdale, GA	4,729	Pediatric Gas	1 in 30 miles	13	363.8	4,729	100.0	0	0.0	4.1	4.1	
Spalding, GA	2,187	Pediatric Gas	1 in 30 miles	6	364.5	2,187	100.0	0	0.0	4.0	4.1	
Walton, GA	5,489	Pediatric_Gas	1 in 30 miles	4	1,372.3	5,489	100.0	0	0.0	4.7	4.7	
Grand Totals	226,052	Pediatric_Ga	1 in 30 miles	837	270.1	226,052	100.0	0	0.0	4.1	4.5	

## **Pediatric Gastroenterology - Rural**

December 27, 2023

**Access Analysis** 

Pediatric Gastroenterology-Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Gastroenterology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051		1 in 45 miles	0			100.0		0.0	11.8	12.6	
Haralson, GA			1 in 45 miles	3	300.0		100.0		0.0		7.7	
Jasper, GA		Pediatric_Gas	1 in 45 miles	0			100.0				19.4	
Pickens, GA			1 in 45 miles	3	327.7	983	100.0	(	0.0	5.8	5.8	
Grand Totals	3,581	Pediatric_Ga	1 in 45 miles	6	596.8	3,581	100.0	(	0.0	10.5	10.8	
© 2023 Quest Analytics 11 C												

## **Pediatric General Surgery - Urban**

December 27, 2023

**Access Analysis** 

Pediatric General Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_General Surgery

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Ge	1 in 30 miles	3	1,421.0	4,263	100.0	0	0.0	5.5	5.6	
Bartow, GA	4,740	Pediatric_Ge	1 in 30 miles	16	296.3	4,740	100.0	0	0.0	3.8	4.7	
Carroll, GA	4,670	Pediatric_Ge	1 in 30 miles	19	245.8	4,670	100.0	0	0.0	4.8	5.1	
Cherokee, GA	7,700	Pediatric_Ge	1 in 30 miles	46	167.4	7,700	100.0	0	0.0	3.1	3.5	
Clayton, GA	16,345	Pediatric_Ge	1 in 30 miles	32	510.8	16,345	100.0	0	0.0	2.6	3.1	
Cobb, GA	25,381	Pediatric_Ge	1 in 30 miles	121	209.8	25,381		0	0.0	2.7	3.2	
Coweta, GA	4,029	Pediatric_Ge	1 in 30 miles	27	149.2	4,029	100.0	0	0.0	4.8	5.2	
DeKalb, GA	32,113	Pediatric_Ge	1 in 30 miles	211	152.2	32,113	100.0	0	0.0		2.8	
Douglas, GA	7,894	Pediatric_Ge	1 in 30 miles	16	493.4	7,894	100.0	0	0.0	3.9	4.4	
Fayette, GA	2,897	Pediatric_Ge	1 in 30 miles	41	70.7	2,897	100.0	0	0.0	2.4	3.5	
Forsyth, GA	3,255	Pediatric_Ge	1 in 30 miles	48	67.8	3,255	100.0	0	0.0	3.8	4.3	
Fulton, GA	37,120	Pediatric_Ge	1 in 30 miles	400	92.8	37,120	100.0	0	0.0	2.8	3.2	
Gwinnett, GA	37,316	Pediatric_Ge	1 in 30 miles	155	240.7	37,316	100.0	0	0.0	3.0	3.3	
Henry, GA	14,152	Pediatric_Ge	1 in 30 miles	39	362.9	14,152	100.0	0	0.0	4.2	5.5	
Newton, GA	6,287	Pediatric_Ge	1 in 30 miles	14	449.1	6,287	100.0	0	0.0	6.9	6.9	
Paulding, GA	5,485	Pediatric_Ge	1 in 30 miles	7	783.6	5,485	100.0	0	0.0	4.3	4.6	
Rockdale, GA	4,729	Pediatric_Ge	1 in 30 miles	26	181.9	4,729	100.0	0	0.0	3.9	3.9	
Spalding, GA	2,187	Pediatric_Ge	1 in 30 miles	7	312.4	2,187	100.0	0	0.0	3.2	3.9	
Walton, GA	5,489	Pediatric_Ge	1 in 30 miles	11	499.0	5,489	100.0	0	0.0	4.0	4.5	
Grand Totals	226,052	Pediatric_Ge	1 in 30 miles	1,239	182.4	226,052	100.0	0	0.0	3.3	3.7	

## **Pediatric General Surgery - Rural**

December 27, 2023

**Access Analysis** 

Pediatric General Surgery-

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_General Surgery

Haralson, GA       900       Pediatric_Ge       1 in 45 miles       8       112.5       900       100.0       0       0.0       7.7       7.7         Jasper, GA       647       Pediatric_Ge       1 in 45 miles       0        647       100.0       0       0.0       17.0       17.2	Members With and Without Access												
County         #         Group         Standard         #         to Providers         #         %         #         %         1         2           Butts, GA         1,051         Pediatric_Ge         1 in 45 miles         0          1,051         100.0         0         0.0         12.7         13.1           Haralson, GA         900         Pediatric_Ge         1 in 45 miles         8         112.5         900         100.0         0         0.0         7.7         7.7           Jasper, GA         647         Pediatric_Ge         1 in 45 miles         0          647         100.0         0         0.0         17.0         17.2           Pickens, GA         983         Pediatric_Ge         1 in 45 miles         16         61.4         983         100.0         0         0.0         4.3         5.1		Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acc	cess	Average	Distance
Haralson, GA       900       Pediatric_Ge       1 in 45 miles       8       112.5       900       100.0       0       0.0       7.7       7.7         Jasper, GA       647       Pediatric_Ge       1 in 45 miles       0        647       100.0       0       0.0       17.0       17.2         Pickens, GA       983       Pediatric_Ge       1 in 45 miles       16       61.4       983       100.0       0       0.0       4.3       5.1	County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Jasper, GA     647     Pediatric_Ge     1 in 45 miles     0      647     100.0     0     0.0     17.0     17.2       Pickens, GA     983     Pediatric_Ge     1 in 45 miles     16     61.4     983     100.0     0     0.0     4.3     5.1	Butts, GA	1,051	Pediatric_Ge	1 in 45 miles	0					0	0.0	12.7	13.1
Pickens, GA 983 Pediatric_Ge 1 in 45 miles 16 61.4 983 100.0 0 0.0 4.3 5.1	Haralson, GA	900	Pediatric_Ge	1 in 45 miles	8	112.5	900	100.0		0	0.0	7.7	7.7
	Jasper, GA				0					0			
Grand Totals 3,581 Pediatric_Ge 1 in 45 miles 24 149.2 3,581 100.0 0 0.0 9.9 10.3	Pickens, GA	983	Pediatric_Ge	1 in 45 miles	16	61.4	983	100.0		0	0.0	4.3	5.1
	Grand Totals	3,581	Pediatric_Ge	1 in 45 miles	24	149.2	3,581	100.0		0	0.0	9.9	10.3
	© 2023 Quest Analytics 11 C												

# **Pediatric Hematology/Oncology - Urban**

December 27, 2023

Access Analysis

Pediatric Hematology/Oncology- Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Hematology/Oncology

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_He	1 in 30 miles	1	4,263.0	4,263	100.0	0	0.0	5.5	10.8	
Bartow, GA	4,740	Pediatric_He	1 in 30 miles	3	1,580.0	4,740	100.0	0	0.0	7.1	7.7	
Carroll, GA	4,670	Pediatric_He	1 in 30 miles	16	291.9	4,670	100.0	0	0.0	5.5	5.5	
Cherokee, GA	7,700	Pediatric_He	1 in 30 miles	25		7,700	100.0	0	0.0	4.3	5.6	
Clayton, GA	16,345	Pediatric_He	1 in 30 miles	12	1,362.1	16,345	100.0	0	0.0	3.5	3.6	
Cobb, GA	25,381	Pediatric_He	1 in 30 miles	23	1,103.5	25,381		0	0.0		4.4	
Coweta, GA		Pediatric_He	1 in 30 miles	17	237.0	4,029		0	0.0	5.7	6.5	
DeKalb, GA		Pediatric_He	1 in 30 miles	158		32,113		0	0.0		4.8	
Douglas, GA		Pediatric_He	1 in 30 miles	4	1,973.5	7,894		0	0.0		5.0	
Fayette, GA		Pediatric_He	1 in 30 miles	17	170.4	2,897		0	0.0		5.8	
Forsyth, GA		Pediatric_He	1 in 30 miles	28		3,255		0	0.0	6.0	6.2	
Fulton, GA		Pediatric_He	1 in 30 miles	247	150.3	37,120		0	0.0		4.3	
Gwinnett, GA		Pediatric_He	1 in 30 miles	46	811.2	37,316		0	0.0		4.2	
Henry, GA		Pediatric_He	1 in 30 miles	19		14,152		0	0.0		7.9	
Newton, GA		Pediatric_He	1 in 30 miles	3		6,287		0	0.0		7.0	
Paulding, GA		Pediatric_He	1 in 30 miles	4	1,371.3	5,485		0	0.0	-	5.4	
Rockdale, GA		Pediatric_He	1 in 30 miles	12		4,729		0	0.0	3.6	3.6	
Spalding, GA		Pediatric_He	1 in 30 miles	6		2,187		0	0.0		4.4	
Walton, GA	5,489	Pediatric_He	1 in 30 miles	3	1,829.7	5,489	100.0	0	0.0	6.6	6.8	
Grand Totals	226,052	Pediatric_He	1 in 30 miles	644	351.0	226,052	100.0	0	0.0	4.5	5.1	

## **Pediatric Hematology/Oncology -Rural**

December 27, 2023

**Access Analysis** 

Pediatric Hematology/Oncology- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Hematology/Oncology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_He	1 in 45 miles	0		1,051	100.0	0		18.4	18.4	
Haralson, GA		Pediatric_He	1 in 45 miles	2	450.0		100.0	0	0.0	7.7	7.7	
Jasper, GA			1 in 45 miles	0			100.0				20.6	
Pickens, GA	983	Pediatric_He	1 in 45 miles	0		983	100.0	0	0.0	5.3	6.0	
Grand Totals	3,581	Pediatric_He	1 in 45 miles	2	1,790.5	3,581	100.0	0	0.0	12.5	12.7	

## **Pediatric Infectious Disease - Urban**

December 27, 2023

Access Analysis

Pediatric Infectious Disease-

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Infectious Disease

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Infe	1 in 30 miles	1	4,263.0	4,263	100.0	0	0.0	5.9	11.5	
Bartow, GA	4,740	Pediatric_Infe	1 in 30 miles	2	2,370.0	4,740	100.0	0	0.0	8.0	8.1	
Carroll, GA	4,670	Pediatric_Infe	1 in 30 miles	4	1,167.5	4,670	100.0	0	0.0	5.3	6.8	
Cherokee, GA	7,700	Pediatric_Infe	1 in 30 miles	1	7,700.0	7,700	100.0	0	0.0	5.8	7.1	
Clayton, GA	16,345	Pediatric_Infe	1 in 30 miles	10	1,634.5	16,345	100.0	0	0.0	3.2	4.0	
Cobb, GA	25,381	Pediatric_Infe	1 in 30 miles	13	1,952.4	25,381	100.0	0	0.0	4.6	6.1	
Coweta, GA	4,029	Pediatric_Infe	1 in 30 miles	4	1,007.3	4,029	100.0	0	0.0	6.6	6.6	
DeKalb, GA	32,113	Pediatric_Infe	1 in 30 miles	44	729.8	32,113	100.0	0	0.0	4.2	5.1	
Douglas, GA	7,894	Pediatric_Infe	1 in 30 miles	1	7,894.0	7,894	100.0	0	0.0	10.4	13.0	
Fayette, GA	2,897	Pediatric_Infe	1 in 30 miles	10	289.7	2,897	100.0	0	0.0	5.2	5.4	
Forsyth, GA	3,255	Pediatric_Infe	1 in 30 miles	8	406.9	3,255	100.0	0	0.0	6.1	6.9	
Fulton, GA	37,120	Pediatric_Infe	1 in 30 miles	86	431.6	37,120	100.0	0	0.0	3.7	4.4	
Gwinnett, GA	37,316	Pediatric_Infe	1 in 30 miles	17	2,195.1	37,316	100.0	0	0.0	3.9	4.7	
Henry, GA	14,152	Pediatric_Infe	1 in 30 miles	6	2,358.7	14,152	100.0	0	0.0	6.5	8.1	
Newton, GA		Pediatric Infe	1 in 30 miles	4	1,571.8	6,287	100.0	0	0.0	6.6	7.1	
Paulding, GA	5,485	Pediatric Infe	1 in 30 miles	0		5,485	100.0	0	0.0	12.0	14.6	
Rockdale, GA	4,729	Pediatric Infe	1 in 30 miles	6	788.2	4,729	100.0	0	0.0	4.4	4.4	
Spalding, GA	2,187	Pediatric_Infe	1 in 30 miles	1	2,187.0	2,187	100.0	0	0.0	3.9	14.3	
Walton, GA		Pediatric_Infe	1 in 30 miles	6	914.8	5,489		0	0.0	6.3	6.8	
Grand Totals	226,052	Pediatric_Inf	1 in 30 miles	224	1,009.2	226,052	100.0	0	0.0	5.0	6.1	

#### **Pediatric Infectious Disease - Rural**

December 27, 2023

Access Analysis

Pediatric Infectious Disease-Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Infectious Disease

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Infe	1 in 45 miles	0		1,051	100.0	(	0.0	18.1	23.4	
Haralson, GA	900	Pediatric_Infe	1 in 45 miles	0		900	100.0		0.0	16.1	18.8	
Jasper, GA	647		1 in 45 miles	0			100.0		0.0		21.8	
Pickens, GA			1 in 45 miles	4	245.8	983	100.0	(	0.0	5.4	5.4	
Grand Totals	3,581	Pediatric_Inf	1 in 45 miles	4	895.3	3,581	100.0	(	0.0	14.0	17.0	
© 2023 Quest Analytics II C												

## **Pediatric Nephrology - Urban**

December 27, 2023

Access Analysis
Pediatric Nephrology- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Nephrology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Nep	1 in 30 miles	11	387.5	4,263	100.0	0	0.0	3.4	4.8		
Bartow, GA	4,740	Pediatric_Nep	1 in 30 miles	21	225.7	4,740	100.0	0	0.0	6.1	6.2		
Carroll, GA	4,670	Pediatric_Nep	1 in 30 miles	28	166.8	4,670	100.0	0	0.0	4.7	4.8		
Cherokee, GA	7,700	Pediatric_Nep	1 in 30 miles	59	130.5	7,700	100.0	0	0.0	3.4	3.9		
Clayton, GA	16,345	Pediatric_Nep	1 in 30 miles	42	389.2	16,345	100.0	0	0.0	2.3	2.6		
Cobb, GA		Pediatric_Nep	1 in 30 miles	200	126.9	25,381		0	0.0	-	2.3		
Coweta, GA	4,029	Pediatric_Nep	1 in 30 miles	6	671.5	4,029	100.0	0	0.0	5.4	6.0		
DeKalb, GA	32,113	Pediatric_Nep	1 in 30 miles	188		32,113	100.0	0	0.0		2.4		
Douglas, GA	7,894	Pediatric_Nep	1 in 30 miles	52	151.8	7,894	100.0	0	0.0	2.8	3.2		
Fayette, GA	2,897	Pediatric_Nep	1 in 30 miles	9	321.9	2,897	100.0	0	0.0	4.2	4.3		
Forsyth, GA	3,255	Pediatric_Nep	1 in 30 miles	24	135.6	3,255	100.0	0	0.0	5.5	5.6		
Fulton, GA	37,120	Pediatric_Nep	1 in 30 miles	244	152.1	37,120	100.0	0	0.0	2.1	2.2		
Gwinnett, GA	37,316	Pediatric_Nep	1 in 30 miles	74	504.3	37,316	100.0	0	0.0	2.5	3.1		
Henry, GA	14,152	Pediatric_Nep	1 in 30 miles	16	884.5	14,152	100.0	0	0.0	4.2	5.5		
Newton, GA	6,287	Pediatric_Nep	1 in 30 miles	9	698.6	6,287	100.0	0	0.0	3.8	4.1		
Paulding, GA	5,485	Pediatric_Nep	1 in 30 miles	52	105.5	5,485	100.0	0	0.0	3.3	3.7		
Rockdale, GA	4,729	Pediatric_Nep	1 in 30 miles	13	363.8	4,729	100.0	0	0.0	2.3	2.5		
Spalding, GA	2,187	Pediatric Nep	1 in 30 miles	5	437.4	2,187	100.0	0	0.0	3.1	3.8		
Walton, GA	5,489	Pediatric_Nep	1 in 30 miles	15	365.9	5,489	100.0	0	0.0	3.4	3.8		
Grand Totals	226,052	Pediatric_Ne	1 in 30 miles	1,068	211.7	226,052	100.0	0	0.0	2.8	3.2		

## **Pediatric Nephrology - Rural**

December 27, 2023

Access Analysis
Pediatric Nephrology- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_Nephrology

Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Nep	1 in 45 miles	1	1,051.0	1,051	100.0	0	0.0	5.8	11.5	
Haralson, GA	900	Pediatric_Nep	1 in 45 miles	8	112.5	900	100.0	0	0.0	7.1	7.2	
Jasper, GA	647	Pediatric_Nep	1 in 45 miles	7	92.4	647	100.0	0	0.0	6.4	8.1	
Pickens, GA	983	Pediatric_Nep	1 in 45 miles	7	140.4	983	100.0	0	0.0	4.5	5.2	
Grand Totals	3,581	Pediatric_Ne	1 in 45 miles	23	155.7	3,581	100.0	0	0.0	5.9	8.1	

## **Pediatric Neurology - Urban**

December 27, 2023

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Neurology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Neu	1 in 30 miles	9	473.7	4,263	100.0	0	0.0	4.3	4.3	
Bartow, GA	4,740	Pediatric_Neu	1 in 30 miles	13	364.6	4,740	100.0	0	0.0	7.0	7.3	
Carroll, GA	4,670	Pediatric_Neu	1 in 30 miles	20	233.5	4,670	100.0	0	0.0	5.2	5.5	
Cherokee, GA	7,700	Pediatric_Neu	1 in 30 miles	16	481.3	7,700	100.0	0	0.0	6.0	6.2	
Clayton, GA	16,345	Pediatric_Neu	1 in 30 miles	11	1,485.9	16,345	100.0	0	0.0	3.2	3.5	
Cobb, GA	25,381	Pediatric_Neu	1 in 30 miles	36	705.0	25,381	100.0	0	0.0	3.1	3.9	
Coweta, GA	4,029	Pediatric_Neu	1 in 30 miles	31	130.0	4,029	100.0	0	0.0	4.8	5.9	
DeKalb, GA	32,113	Pediatric_Neu	1 in 30 miles	201	159.8	32,113	100.0	0	0.0	3.7	3.9	
Douglas, GA	7,894	Pediatric_Neu	1 in 30 miles	6	1,315.7	7,894	100.0	0	0.0	4.1	4.9	
Fayette, GA	2,897	Pediatric_Neu	1 in 30 miles	26	111.4	2,897	100.0	0	0.0	3.8	5.3	
Forsyth, GA	3,255	Pediatric_Neu	1 in 30 miles	23	141.5	3,255	100.0	0	0.0	5.4	6.2	
Fulton, GA	37,120	Pediatric_Neu	1 in 30 miles	234	158.6	37,120	100.0	0	0.0	4.8	5.0	
Gwinnett, GA	37,316	Pediatric_Neu	1 in 30 miles	73	511.2	37,316	100.0	0	0.0	2.9	3.5	
Henry, GA	14,152	Pediatric Neu	1 in 30 miles	17	832.5	14,152	100.0	0	0.0	6.8	7.2	
Newton, GA	6,287	Pediatric_Neu	1 in 30 miles	22	285.8	6,287	100.0	0	0.0	6.9	7.0	
Paulding, GA		Pediatric_Neu	1 in 30 miles	2	2,742.5	5,485	100.0	0	0.0	4.5	8.6	
Rockdale, GA		Pediatric Neu	1 in 30 miles	10		4,729		0	0.0	4.3	4.3	
Spalding, GA		Pediatric Neu	1 in 30 miles	2		2,187		0	0.0	4.2	17.8	
Walton, GA		Pediatric_Neu	1 in 30 miles	14	392.1	5,489		0	0.0	4.5	6.3	
Our wid Totale	000.050	Dadistala Na	4 in 00 miles	700	005.4	000 050	400.0			4.0	4.0	
Grand Totals	226,052	Pediatric_Ne	1 in 30 miles	766	295.1	226,052	100.0	0	0.0	4.2	4.9	

## **Pediatric Neurology - Rural**

December 27, 2023

Access Analysis
Pediatric Neurology- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_Neurology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,051	Pediatric_Neu	1 in 45 miles	1	1,051.0	1,051	100.0		0.0		6.1		
Haralson, GA	900	Pediatric_Neu	1 in 45 miles	0		900	100.0		0.0	7.0			
Jasper, GA			1 in 45 miles	0			100.0		0.0		17.3		
Pickens, GA	983	Pediatric_Neu	1 in 45 miles	18	54.6	983	100.0		0.0	5.2	5.3		
Grand Totals	3,581	Pediatric_Ne	1 in 45 miles	19	188.5	3,581	100.0		0.0	8.0	8.3		
© 2023 Quest Analytics IIIC		•	•					-	-	-			

## **Pediatric Ophthalmology - Urban**

December 27, 2023

Access Analysis
Pediatric Ophthalmology- Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Ophthalmology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Op	1 in 30 miles	1	4,263.0	4,263	100.0	0	0.0	5.6	11.0		
Bartow, GA	4,740	Pediatric_Op	1 in 30 miles	4	1,185.0	4,740	100.0	0	0.0	7.6	7.6		
Carroll, GA	4,670	Pediatric_Op	1 in 30 miles	2	2,335.0	4,467	95.7	203	4.3	12.5	12.5		
Cherokee, GA	7,700	Pediatric_Op	1 in 30 miles	10	770.0	7,700	100.0	0	0.0	4.5	4.5		
Clayton, GA	16,345	Pediatric_Op	1 in 30 miles	13	1,257.3	16,345	100.0	0	0.0	4.0	5.8		
Cobb, GA	25,381	Pediatric_Op	1 in 30 miles	55	461.5	25,381	100.0	0	0.0	4.3	4.3		
Coweta, GA	4,029	Pediatric_Op	1 in 30 miles	7	575.6	4,029	100.0	0	0.0	6.1	6.1		
DeKalb, GA	32,113	Pediatric_Op	1 in 30 miles	46	698.1	32,113	100.0	0	0.0	3.7	5.3		
Douglas, GA	7,894	Pediatric_Op	1 in 30 miles	14	563.9	7,894	100.0	0	0.0	5.0	5.0		
Fayette, GA	2,897	Pediatric_Op	1 in 30 miles	25	115.9	2,897	100.0	0	0.0	4.5	4.5		
Forsyth, GA	3,255	Pediatric_Op	1 in 30 miles	13	250.4	3,255	100.0	0	0.0	4.6	5.8		
Fulton, GA	37,120	Pediatric_Op	1 in 30 miles	118	314.6	37,120	100.0	0	0.0	4.1	4.6		
Gwinnett, GA	37,316	Pediatric_Op	1 in 30 miles	37	1,008.5	37,316	100.0	0	0.0	4.0	4.9		
Henry, GA	14,152	Pediatric_Op	1 in 30 miles	11	1,286.5	14,152	100.0	0	0.0	7.6	7.9		
Newton, GA	6,287	Pediatric_Op	1 in 30 miles	2	3,143.5	6,287	100.0	0	0.0	5.8	5.8		
Paulding, GA	5,485	Pediatric_Op	1 in 30 miles	3		5,485	100.0	0	0.0	4.4	5.2		
Rockdale, GA	4,729	Pediatric_Op	1 in 30 miles	6	788.2	4,729	100.0	0	0.0	3.2	3.2		
Spalding, GA	2,187	Pediatric Op	1 in 30 miles	1	2,187.0	2,187	100.0	0	0.0	4.2	17.2		
Walton, GA	5,489	Pediatric_Op	1 in 30 miles	3	1,829.7	5,489	100.0	0	0.0	6.3	6.4		
Grand Totals	226,052	Pediatric_Op	1 in 30 miles	371	609.3	225,849	99.9	203	0.1	4.7	5.6		

## **Pediatric Ophthalmology - Rural**

December 27, 2023

Access Analysis

Pediatric Ophthalmology- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_Ophthalmology

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Op	1 in 45 miles	0		1,051	100.0	0	0.0		20.3	
Haralson, GA			1 in 45 miles	0			100.0		0.0		17.8	
Jasper, GA			1 in 45 miles	0			100.0		0.0		21.1	
Pickens, GA	983	Pediatric_Op	1 in 45 miles	0		983	100.0	0	0.0	17.4	17.4	
Grand Totals	3,581	Pediatric_Op	1 in 45 miles	0		3,581	100.0	0	0.0	18.3	19.0	
© 2023 Quest Analytics. LLC.												

## **Pediatric Optometry - Urban**

December 27, 2023

Access Analysis
Pediatric Optometry- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Optometry

	Members With and Without Access  Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Opt	1 in 30 miles	3	1,421.0	4,263	100.0	0	0.0	4.7	5.6		
Bartow, GA	4,740	Pediatric_Opt	1 in 30 miles	11	430.9	4,740	100.0	0	0.0	7.0	8.1		
Carroll, GA	4,670	Pediatric_Opt	1 in 30 miles	0		4,670	100.0	0	0.0	12.2	12.5		
Cherokee, GA	7,700	Pediatric_Opt	1 in 30 miles	43	179.1	7,700	100.0	0	0.0	3.3	3.7		
Clayton, GA	16,345	Pediatric_Opt	1 in 30 miles	8	2,043.1	16,345	100.0	0	0.0	2.7	3.6		
Cobb, GA	25,381	Pediatric_Opt	1 in 30 miles	39	650.8	25,381	100.0	0	0.0	2.8	3.5		
Coweta, GA	4,029	Pediatric_Opt	1 in 30 miles	4	1,007.3	4,029	100.0	0	0.0	5.5	6.4		
DeKalb, GA	32,113	Pediatric_Opt	1 in 30 miles	51	629.7	32,113	100.0	0	0.0	2.7	3.4		
Douglas, GA	7,894	Pediatric_Opt	1 in 30 miles	7	1,127.7	7,894	100.0	0	0.0	3.9	4.4		
Fayette, GA	2,897	Pediatric_Opt	1 in 30 miles	9	321.9	2,897	100.0	0	0.0	3.9	4.4		
Forsyth, GA	3,255	Pediatric_Opt	1 in 30 miles	5	651.0	3,255	100.0	0	0.0	4.4	5.7		
Fulton, GA	37,120	Pediatric_Opt	1 in 30 miles	96	386.7	37,120	100.0	0	0.0	2.8	3.9		
Gwinnett, GA	37,316	Pediatric_Opt	1 in 30 miles	59	632.5	37,316	100.0	0	0.0	2.7	3.6		
Henry, GA	14,152	Pediatric_Opt	1 in 30 miles	13	1,088.6	14,152	100.0	0	0.0	3.8	5.1		
Newton, GA	6,287	Pediatric_Opt	1 in 30 miles	0		6,287	100.0	0	0.0	10.4	16.4		
Paulding, GA	5,485	Pediatric_Opt	1 in 30 miles	3	1,828.3	5,485	100.0	0	0.0	4.3	5.7		
Rockdale, GA	4,729	Pediatric_Opt	1 in 30 miles	1	4,729.0	4,729	100.0	0	0.0	4.2	11.7		
Spalding, GA	2,187	Pediatric_Opt	1 in 30 miles	2	1,093.5	2,187	100.0	0	0.0	3.5	4.5		
Walton, GA	5,489	Pediatric_Opt	1 in 30 miles	6	914.8	5,489	100.0	0	0.0	4.5	4.6		
Grand Totals	226,052	Pediatric_Op	1 in 30 miles	360	627.9	226,052	100.0	0	0.0	3.6	4.8		

## **Pediatric Optometry - Rural**

December 27, 2023

Access Analysis
Pediatric Optometry- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_Optometry

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,051	Pediatric_Opt	1 in 45 miles	0		1,051	100.0	0		14.5	15.6	
Haralson, GA			1 in 45 miles	2	450.0		100.0		0.0	7.6	7.6	
Jasper, GA			1 in 45 miles	0			100.0				23.3	
Pickens, GA	983	Pediatric_Opt	1 in 45 miles	1	983.0	983	100.0	0	0.0	5.3	14.8	
Grand Totals	3,581	Pediatric_Op	1 in 45 miles	3	1,193.7	3,581	100.0	0	0.0	11.8	14.8	
© 2023 Quest Analytics, LLC.					ļ.							

## **Pediatric Orthopedics - Urban**

December 27, 2023

Access Analysis
Pediatric Othopedics- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Orthopedics

Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	4,263	Pediatric_Ort	1 in 30 miles	7	609.0	4,263	100.0	0	0.0	3.8	4.1	
Bartow, GA	4,740	Pediatric_Ort	1 in 30 miles	23	206.1	4,740	100.0	0	0.0	4.1	6.6	
Carroll, GA	4,670	Pediatric_Ort	1 in 30 miles	3	1,556.7	4,670	100.0	0	0.0	5.8	9.1	
Cherokee, GA	7,700	Pediatric_Ort	1 in 30 miles	141	54.6	7,700		0	0.0	3.4	3.4	
Clayton, GA	16,345	Pediatric_Ort	1 in 30 miles	50	326.9	16,345	100.0	0	0.0	2.0	2.6	
Cobb, GA		Pediatric_Ort	1 in 30 miles	283	89.7	25,381		0	0.0	2.7	2.9	
Coweta, GA	4,029	Pediatric_Ort	1 in 30 miles	54	74.6	4,029	100.0	0	0.0	4.6	4.8	
DeKalb, GA	32,113	Pediatric_Ort	1 in 30 miles	198	162.2	32,113	100.0	0	0.0	2.7	3.2	
Douglas, GA	7,894	Pediatric_Ort	1 in 30 miles	59	133.8	7,894	100.0	0	0.0	3.0	4.2	
Fayette, GA	2,897	Pediatric_Ort	1 in 30 miles	138	21.0	2,897	100.0	0	0.0	3.1	3.2	
Forsyth, GA	3,255	Pediatric_Ort	1 in 30 miles	73	44.6	3,255	100.0	0	0.0	4.3	4.4	
Fulton, GA	37,120	Pediatric_Ort	1 in 30 miles	515	72.1	37,120	100.0	0	0.0	2.6	3.0	
Gwinnett, GA	37,316	Pediatric_Ort	1 in 30 miles	206	181.1	37,316	100.0	0	0.0	2.3	3.0	
Henry, GA	14,152	Pediatric_Ort	1 in 30 miles	123	115.1	14,152	100.0	0	0.0	3.0	3.7	
Newton, GA	6,287	Pediatric_Ort	1 in 30 miles	53	118.6	6,287	100.0	0	0.0	4.8	5.3	
Paulding, GA	5,485	Pediatric_Ort	1 in 30 miles	30	182.8	5,485	100.0	0	0.0	4.5	4.8	
Rockdale, GA	4,729	Pediatric_Ort	1 in 30 miles	8	591.1	4,729	100.0	0	0.0	2.2	3.2	
Spalding, GA	2,187	Pediatric_Ort	1 in 30 miles	17	128.6	2,187	100.0	0	0.0	2.8	2.9	
Walton, GA	5,489	Pediatric_Ort	1 in 30 miles	14	392.1	5,489	100.0	0	0.0	2.9	3.9	
Grand Totals	226,052	Pediatric_Ort	1 in 30 miles	1,995	113.3	226,052	100.0	0	0.0	2.9	3.5	

## **Pediatric Orthopedics - Rural**

December 27, 2023

Access Analysis

Pediatric Orthopedics- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Orthopedics

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,051	Pediatric_Ort	1 in 45 miles	0			100.0		0.0		14.9		
Haralson, GA			1 in 45 miles	0			100.0				19.0		
Jasper, GA			1 in 45 miles	1	647.0		100.0				19.5		
Pickens, GA			1 in 45 miles	7	140.4	983	100.0	C	0.0	3.9	5.2		
Grand Totals	3,581	Pediatric_Ort	1 in 45 miles	8	447.6	3,581	100.0	C	0.0	11.0	14.1		
© 2023 Quest Analytics 11 C		L											

## **Pediatric Rheumatology - Urban**

December 27, 2023

Access Analysis
Pediatric Rheumatology- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Rheumatology

	Members With and Without Access  Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Rhe	1 in 30 miles	0		4,263	100.0	0	0.0	12.5	12.9		
Bartow, GA	4,740	Pediatric_Rhe	1 in 30 miles	0		4,740	100.0	0	0.0	18.6	22.7		
Carroll, GA	4,670	Pediatric_Rhe	1 in 30 miles	0		1,984	42.5	2,686	57.5	30.7	33.8		
Cherokee, GA	7,700	Pediatric_Rhe	1 in 30 miles	3	2,566.7	7,700	100.0	0	0.0	5.9	8.7		
Clayton, GA	16,345	Pediatric_Rhe	1 in 30 miles	3	5,448.3	16,345	100.0	0	0.0	5.6	5.8		
Cobb, GA	25,381	Pediatric_Rhe	1 in 30 miles	7	3,625.9	25,381	100.0	0	0.0	5.7	7.6		
Coweta, GA	4,029	Pediatric_Rhe	1 in 30 miles	1	4,029.0	4,029	100.0	0	0.0	8.5	12.8		
DeKalb, GA	32,113	Pediatric_Rhe	1 in 30 miles	17	1,889.0	32,113	100.0	0	0.0	6.1	6.8		
Douglas, GA	7,894	Pediatric_Rhe	1 in 30 miles	0		7,894	100.0	0	0.0	18.9	20.3		
Fayette, GA	2,897	Pediatric_Rhe	1 in 30 miles	1	2,897.0	2,897	100.0	0	0.0	8.5	11.7		
Forsyth, GA	3,255	Pediatric_Rhe	1 in 30 miles	0		3,255	100.0	0	0.0	14.6	15.0		
Fulton, GA	37,120	Pediatric_Rhe	1 in 30 miles	34	1,091.8	37,120	100.0	0	0.0	7.2	7.8		
Gwinnett, GA	37,316	Pediatric_Rhe	1 in 30 miles	12	3,109.7	37,316	100.0	0	0.0	4.1	4.8		
Henry, GA	14,152	Pediatric_Rhe	1 in 30 miles	1	14,152.0	14,152	100.0	0	0.0	8.4	11.8		
Newton, GA	6,287	Pediatric Rhe	1 in 30 miles	0		6,287	100.0	0	0.0	13.0	18.4		
Paulding, GA	5,485	Pediatric_Rhe	1 in 30 miles	0		5,485	100.0	0	0.0	16.4	17.5		
Rockdale, GA		Pediatric_Rhe	1 in 30 miles	1	4,729.0		100.0	0	0.0	4.5	14.4		
Spalding, GA		Pediatric Rhe	1 in 30 miles	0			100.0	0	0.0	19.0	20.8		
Walton, GA	5,489	Pediatric_Rhe	1 in 30 miles	1	5,489.0	5,489	100.0	0	0.0	8.2	13.2		
Grand Totals	226,052	Pediatric_Rh	1 in 30 miles	81	2,790.8	223,366	98.8	2,686	1.2	8.1	9.8		

## **Pediatric Rheumatology - Rural**

December 27, 2023

Access Analysis
Pediatric Rheumatology- Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Rheumatology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,051	Pediatric_Rhe	1 in 45 miles	0		1,051	100.0	C	0.0	26.6	28.6		
Haralson, GA	900	Pediatric_Rhe	1 in 45 miles	0		900	100.0	C	0.0	36.1	41.7		
Jasper, GA			1 in 45 miles	0			100.0				35.1		
Pickens, GA	983	Pediatric_Rhe	1 in 45 miles	0		983	100.0	C	0.0	15.0	17.8		
Grand Totals	3,581	Pediatric_Rh	1 in 45 miles	0		3,581	100.0	C	0.0	26.7	30.1		
© 2023 Quest Analytics 11C		•						-					

## **Pediatric Vascular Surgery - Urban**

December 27, 2023

**Access Analysis** 

Pediatric Vascular Surgery-Urban

Member / Provider Groups

Pediatric Urban Members (ATLANTA\_URBAN) Pediatric\_Vascular Surgery

	Members With and Without Access  Member Provider Counts Patic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Vas	1 in 30 miles	0		4,263	100.0	0	0.0	10.6	11.4		
Bartow, GA	4,740	Pediatric_Vas	1 in 30 miles	5	948.0	4,740	100.0	0	0.0	7.3	7.7		
Carroll, GA	4,670	Pediatric_Vas	1 in 30 miles	11	424.5	4,670	100.0	0	0.0	5.5	5.5		
Cherokee, GA	7,700	Pediatric_Vas	1 in 30 miles	12	641.7	7,700	100.0	0	0.0	4.2	4.2		
Clayton, GA	16,345	Pediatric_Vas	1 in 30 miles	2	8,172.5	16,345	100.0	0	0.0	5.4	7.2		
Cobb, GA	25,381	Pediatric_Vas	1 in 30 miles	20	1,269.1	25,381	100.0	0	0.0	4.4	5.0		
Coweta, GA	4,029	Pediatric_Vas	1 in 30 miles	7	575.6	4,029	100.0	0	0.0	5.9	6.6		
DeKalb, GA	32,113	Pediatric_Vas	1 in 30 miles	41	783.2	32,113	100.0	0	0.0	3.9	4.4		
Douglas, GA	7,894	Pediatric_Vas	1 in 30 miles	5	1,578.8	7,894	100.0	0	0.0	4.9	5.0		
Fayette, GA	2,897	Pediatric_Vas	1 in 30 miles	7	413.9	2,897	100.0	0	0.0	5.9	6.2		
Forsyth, GA	3,255	Pediatric_Vas	1 in 30 miles	9	361.7	3,255	100.0	0	0.0	5.6	5.9		
Fulton, GA	37,120	Pediatric_Vas	1 in 30 miles	85	436.7	37,120	100.0	0	0.0	4.1	4.4		
Gwinnett, GA	37,316	Pediatric_Vas	1 in 30 miles	31	1,203.7	37,316	100.0	0	0.0	4.4	4.9		
Henry, GA	14,152	Pediatric_Vas	1 in 30 miles	7	2,021.7	14,152	100.0	0	0.0	8.0	8.4		
Newton, GA		Pediatric_Vas	1 in 30 miles	0		6,287	100.0	0	0.0	13.0	13.1		
Paulding, GA		Pediatric_Vas	1 in 30 miles	5	1,097.0	5,485	100.0	0	0.0	5.4	5.4		
Rockdale, GA		Pediatric_Vas	1 in 30 miles	8		4,729	100.0	0	0.0	4.2	4.3		
Spalding, GA		Pediatric Vas	1 in 30 miles	0			100.0	0	0.0	18.8	18.9		
Walton, GA	5,489	Pediatric_Vas	1 in 30 miles	0		5,489	100.0	0	0.0	12.2	12.3		
Grand Totals	226,052	Pediatric_Va	1 in 30 miles	255	886.5	226,052	100.0	0	0.0	5.5	5.9		
	,	_				,							

## **Pediatric Vascular Surgery -Rural**

December 27, 2023

**Access Analysis** 

Pediatric Vascular Surgery-Rural

Member / Provider Groups

Pediatric Rural Members (ATLANTA\_RURAL) Pediatric\_Vascular Surgery

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Acce	ess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	1	%	1	2	
Butts, GA	1,051	Pediatric_Vas	1 in 45 miles	0			100.0		0	0.0	26.3	26.4	
Haralson, GA			1 in 45 miles	3	300.0		100.0			0.0	7.7	7.7	
Jasper, GA			1 in 45 miles	0			100.0			0.0	28.2	30.4	
Pickens, GA			1 in 45 miles	4	245.8	983	100.0		0	0.0	5.2	5.3	
Grand Totals	3,581	Pediatric_Va	1 in 45 miles	7	511.6	3,581	100.0		0	0.0	16.2	16.6	
© 2023 Quest Analytics II C													

## **Pediatric Urology - Urban**

December 27, 2023

Access Analysis
Pediatric Urology- Urban

Member / Provider Groups
Pediatric Urban Members
(ATLANTA\_URBAN)
Pediatric\_Urology

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Barrow, GA	4,263	Pediatric_Urol	1 in 30 miles	2	2,131.5	4,263	100.0	0	0.0	5.9	5.9		
Bartow, GA	4,740	Pediatric_Urol	1 in 30 miles	13	364.6	4,740	100.0	0	0.0	7.2	7.4		
Carroll, GA	4,670	Pediatric_Urol	1 in 30 miles	8	583.8	4,670	100.0	0	0.0	5.3	5.6		
Cherokee, GA	7,700	Pediatric_Urol	1 in 30 miles	52	148.1	7,700	100.0	0	0.0	3.8	3.9		
Clayton, GA	16,345	Pediatric_Urol	1 in 30 miles	13	1,257.3	16,345	100.0	0	0.0	2.8	3.1		
Cobb, GA	25,381	Pediatric_Urol	1 in 30 miles	81	313.3	25,381	100.0	0	0.0	3.6	3.9		
Coweta, GA	4,029	Pediatric_Urol	1 in 30 miles	5	805.8	4,029	100.0	0	0.0	5.5	6.5		
DeKalb, GA	32,113	Pediatric_Urol	1 in 30 miles	92	349.1	32,113	100.0	0	0.0	4.3	4.8		
Douglas, GA	7,894	Pediatric_Urol	1 in 30 miles	28	281.9	7,894	100.0	0	0.0	4.7	4.7		
Fayette, GA	2,897	Pediatric_Urol	1 in 30 miles	8	362.1	2,897	100.0	0	0.0	5.4	5.5		
Forsyth, GA	3,255	Pediatric_Urol	1 in 30 miles	52	62.6	3,255	100.0	0	0.0	4.3	5.6		
Fulton, GA	37,120	Pediatric Urol	1 in 30 miles	207	179.3	37,120		0	0.0	3.9	4.2		
Gwinnett, GA	37,316	Pediatric Urol	1 in 30 miles	66	565.4	37,316	100.0	0	0.0	4.3	4.8		
Henry, GA	14,152	Pediatric Urol	1 in 30 miles	5	2,830.4	14,152		0	0.0	6.9	7.3		
Newton, GA		Pediatric Urol	1 in 30 miles	3	2,095.7	6,287		0	0.0	6.9	7.0		
Paulding, GA	5,485	Pediatric_Urol	1 in 30 miles	8	685.6	5,485	100.0	0	0.0	4.9	4.9		
Rockdale, GA		Pediatric Urol	1 in 30 miles	11		4,729		0	0.0	4.3	4.5		
Spalding, GA		Pediatric Urol	1 in 30 miles	0		2,187		0	0.0	4.2	18.7		
Walton, GA		Pediatric Urol	1 in 30 miles	5	1,097.8	5,489		0	0.0	6.7	6.7		
,	,	_			,	,							
Grand Totals	226,052	Pediatric_Ur	1 in 30 miles	659	343.0	226,052	100.0	0	0.0	4.5	5.0		
0.00000 (4.14)			<del></del>										

## **Pediatric Urology -Rural**

December 27, 2023

Access Analysis
Pediatric Urology- Rural

Member / Provider Groups
Pediatric Rural Members
(ATLANTA\_RURAL)
Pediatric\_Urology

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	vider	Counts	Patio Mombors	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,051	Pediatric_Urol	1 in 45 miles	0		1,051	100.0	0	0.0	18.2	23.0		
Haralson, GA			1 in 45 miles	2	450.0	900	100.0	0	0.0		7.7		
Jasper, GA	647	Pediatric_Urol		0		647	100.0	0	0.0	19.8	20.9		
Pickens, GA	983	Pediatric_Urol	1 in 45 miles	3	327.7	983	100.0	0	0.0	4.6	5.1		

## **Pharmacy - Urban**

December 27, 2023

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
PHARMACY

			Members W	ith and W	ithout Access	S					
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	PHARMACY	1 in 15 miles	13	422.8	5,496	100.0	0	0.0	2.6	3.2
Bartow, GA	6,211	PHARMACY	1 in 15 miles	13	477.8	6,211	100.0	0	0.0	3.3	4.3
Carroll, GA	6,153	PHARMACY	1 in 15 miles	21	293.0	6,153	100.0	0	0.0	3.2	4.0
Cherokee, GA	9,834	PHARMACY	1 in 15 miles	35	281.0	9,834	100.0	0	0.0	1.7	2.3
Clayton, GA	21,493	PHARMACY	1 in 15 miles	31	693.3	21,493	100.0	0	0.0	1.2	1.6
Cobb, GA	32,898	PHARMACY	1 in 15 miles	118	278.8	32,898	100.0	0	0.0	1.2	1.7
Coweta, GA	5,365	PHARMACY	1 in 15 miles	25	214.6	5,365	100.0	0	0.0	2.9	3.4
DeKalb, GA	42,120	PHARMACY	1 in 15 miles	109	386.4	42,120	100.0	0	0.0	1.1	1.6
Douglas, GA	10,450	PHARMACY	1 in 15 miles	19	550.0	10,450	100.0	0	0.0	1.9	2.6
Fayette, GA	3,804	PHARMACY	1 in 15 miles	19	200.2	3,804	100.0	0	0.0	2.1	2.6
Forsyth, GA	4,143	PHARMACY	1 in 15 miles	37	112.0	4,143	100.0	0	0.0	1.7	2.4
Fulton, GA	50,153	PHARMACY	1 in 15 miles	185	271.1	50,153	100.0	0	0.0	1.2	1.7
Gwinnett, GA	46,781	PHARMACY	1 in 15 miles	140	334.2	46,781	100.0	0	0.0	1.2	1.6
Henry, GA	18,943	PHARMACY	1 in 15 miles	37	512.0	18,943	100.0	0	0.0	1.7	2.4
Newton, GA	8,292	PHARMACY	1 in 15 miles	13	637.8	8,292	100.0	0	0.0	2.9	3.9
Paulding, GA	7,138	PHARMACY	1 in 15 miles	19	375.7	7,138	100.0	0	0.0	2.0	2.8
Rockdale, GA		PHARMACY	1 in 15 miles	17	368.2		100.0	0	0.0	1.5	1.8
Spalding, GA		PHARMACY	1 in 15 miles	10	302.3		100.0	0	0.0	2.4	3.2
Walton, GA	7,058	PHARMACY	1 in 15 miles	11	641.6		100.0	0	0.0	2.6	3.5
Grand Totals	295,614	PHARMACY	1 in 15 miles	872	339.0	295,614	100.0	0	0.0	1.5	2.1

## **Pharmacy -Rural**

December 27, 2023

Access Analysis
Pharmacy- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
PHARMACY

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	1,425	PHARMACY	1 in 30 miles	4	356.3	1,425	100.0	0	0.0	5.3	5.7
Haralson, GA	1,202	PHARMACY	1 in 30 miles	8			100.0		0.0	3.4	
Jasper, GA		PHARMACY	1 in 30 miles	2			100.0				
Pickens, GA	1,288	PHARMACY	1 in 30 miles	9	143.1	1,288	100.0	0	0.0	3.5	4.2
Grand Totals	4,748	PHARMACY	1 in 30 miles	23	206.4	4,748	100.0	0	0.0	4.4	5.4
© 2023 Quest Analytics, LLC.											

## 24 Hour Pharmacy - Urban

December 27, 2023

Access Analysis 24 Hour Pharmacy- Urban Member / Provider Groups Urban Members (ATLANTA\_URBAN)

24 Hour Pharmacy

			Members W	ith and W	ithout Acces	S					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	24 Hour Phar	1 in 15 miles	0		0	0.0	5,496	100.0	24.7	30.8
Bartow, GA	6,211	24 Hour Phar	1 in 15 miles	1	6,211.0	5,270	84.8	941	15.2	7.6	19.6
Carroll, GA	6,153	24 Hour Phar	1 in 15 miles	1	6,153.0	3,878	63.0	2,275	37.0	11.4	27.7
Cherokee, GA	9,834	24 Hour Phar	1 in 15 miles	1	9,834.0	8,684	88.3	1,150	11.7	8.4	19.5
Clayton, GA	21,493	24 Hour Phar	1 in 15 miles	0		8,307	38.6	13,186	61.4	15.7	31.3
Cobb, GA	32,898	24 Hour Phar	1 in 15 miles	0		31,023	94.3	1,875	5.7	11.3	17.4
Coweta, GA	5,365	24 Hour Phar	1 in 15 miles	0		0	0.0	5,365	100.0	30.2	34.7
DeKalb, GA	42,120	24 Hour Phar	1 in 15 miles	0		27,639	65.6	14,481	34.4	13.2	27.8
Douglas, GA	10,450	24 Hour Phar	1 in 15 miles	0		7,899	75.6	2,551	24.4	12.8	15.5
Fayette, GA	3,804	24 Hour Phar	1 in 15 miles	0		0	0.0	3,804	100.0	25.7	38.3
Forsyth, GA	4,143	24 Hour Phar	1 in 15 miles	0		313	7.6	3,830	92.4	20.7	29.1
Fulton, GA	50,153	24 Hour Phar	1 in 15 miles	1	50,153.0	32,751	65.3	17,402	34.7	12.0	27.6
Gwinnett, GA	46,781	24 Hour Phar	1 in 15 miles	0		12	0.1	46,769	99.9	24.2	29.8
Henry, GA	18,943	24 Hour Phar	1 in 15 miles	0		64	0.3	18,879	99.7	24.7	31.4
Newton, GA	8,292	24 Hour Phar	1 in 15 miles	1	8,292.0	8,117	97.9	175	2.1	7.3	36.3
Paulding, GA			1 in 15 miles	1	7,138.0	7,138	100.0	0	0.0	5.3	16.8
Rockdale, GA	6,259	24 Hour Phar	1 in 15 miles	0		5,017	80.2	1,242	19.8	12.6	26.6
Spalding, GA	3,023	24 Hour Phar	1 in 15 miles	0		0	0.0	3,023	100.0	36.9	43.3
Walton, GA	7,058	24 Hour Phar	1 in 15 miles	0		1,073	15.2	5,985	84.8	18.7	32.7
Grand Totals	295,614	24 Hour Phar	1 in 15 miles	6	49,269.0	147,185	49.8	148,429	50.2	15.9	27.1

## 24 Hour Pharmacy - Rural

December 27, 2023

Access Analysis 24 Hour Pharmacy- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
24 Hour Pharmacy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	1,425	24 Hour Phar	1 in 30 miles	0		1,136	79.7	289	20.3	25.1	43.3
Haralson, GA			1 in 30 miles	0		1,201		1			30.1
Jasper, GA			1 in 30 miles	0		804	96.5	29	3.5		38.6
Pickens, GA	1,288	24 Hour Phar	1 in 30 miles	0		1,066	82.8	222	17.2	27.7	34.1
Grand Totals	4,748	24 Hour Phar	1 in 30 miles	0		4,207	88.6	541	11.4	23.1	36.6
			!								

## **Occupational Therapy - Urban**

December 27, 2023

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)

Occupational Therapy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Occupational	1 in 30 miles	2	2,748.0	5,496	100.0	0	0.0	4.5	4.9
Bartow, GA	6,211	Occupational	1 in 30 miles	4	1,552.8	6,211	100.0	0	0.0	5.8	7.4
Carroll, GA	6,153	Occupational	1 in 30 miles	10	615.3	6,105	99.2	48	0.8	10.1	10.5
Cherokee, GA	9,834	Occupational	1 in 30 miles	15	655.6		100.0	0	0.0	3.5	4.2
Clayton, GA	21,493	Occupational	1 in 30 miles	15	1,432.9	21,493	100.0	0	0.0	2.9	3.6
Cobb, GA	32,898	Occupational	1 in 30 miles	71	463.4	32,898		0	0.0	2.1	2.8
Coweta, GA	5,365	Occupational	1 in 30 miles	1	5,365.0	5,365	100.0	0	0.0	5.9	13.4
DeKalb, GA	42,120	Occupational	1 in 30 miles	102	412.9	42,120	100.0	0	0.0	2.3	3.0
Douglas, GA	10,450	Occupational	1 in 30 miles	11	950.0	10,450	100.0	0	0.0	4.9	5.6
Fayette, GA	3,804	Occupational	1 in 30 miles	27	140.9	3,804	100.0	0	0.0	2.9	3.5
Forsyth, GA	4,143	Occupational	1 in 30 miles	103	40.2	4,143	100.0	0	0.0	2.3	2.9
Fulton, GA	50,153	Occupational	1 in 30 miles	53	946.3	50,153	100.0	0	0.0	3.2	3.9
Gwinnett, GA	46,781	Occupational	1 in 30 miles	176	265.8	46,781	100.0	0	0.0	2.1	2.6
Henry, GA	18,943	Occupational	1 in 30 miles	19	997.0	18,943	100.0	0	0.0	3.9	4.4
Newton, GA	8,292	Occupational	1 in 30 miles	2	4,146.0	8,292	100.0	0	0.0	4.4	7.5
Paulding, GA	7,138	Occupational	1 in 30 miles	27	264.4	7,138	100.0	0	0.0	5.3	6.3
Rockdale, GA	6,259	Occupational	1 in 30 miles	6	1,043.2	6,259	100.0	0	0.0	2.9	3.3
Spalding, GA	3,023	Occupational	1 in 30 miles	3	1,007.7	3,023	100.0	0	0.0	3.8	5.4
Walton, GA	7,058	Occupational	1 in 30 miles	0		7,058	100.0	0	0.0	7.0	7.7
Grand Totals	295,614	Occupationa	1 in 30 miles	647	456.9	295,566	99.9	48	0.1	3.3	4.1

## **Occupational Therapy - Rural**

December 27, 2023

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members

(ATLANTA\_RURAL)
Occupational Therapy

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Butts, GA	1,425	Occupational	1 in 45 miles	0		1,425	100.0		0.0	10.3	10.6			
Haralson, GA		Occupational	1 in 45 miles	0			100.0		0.0					
Jasper, GA		Occupational	1 in 45 miles	0			100.0		0.0					
Pickens, GA	1,288	Occupational	1 in 45 miles	2	644.0	1,288	100.0		0.0	5.3	5.5			
Grand Totals	4,748	Occupationa	1 in 45 miles	2	2,374.0	4,748	100.0		0.0	11.2	12.1			
© 2023 Quest Analytics, LLC.			l				<u> </u>	L		L				

## **Physical Therapy - Urban**

December 27, 2023

Access Analysis
Physical Therapy- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Physical Therapy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Physical Ther	1 in 30 miles	8	687.0	5,496	100.0	0	0.0	4.2	5.4
Bartow, GA	6,211	Physical Ther	1 in 30 miles	13	477.8	6,211		0	0.0	4.9	5.2
Carroll, GA	6,153	Physical Ther	1 in 30 miles	14	439.5	6,153	100.0	0	0.0	5.1	5.2
Cherokee, GA	9,834	Physical Ther	1 in 30 miles	23		9,834		0	0.0	_	3.6
Clayton, GA	21,493	Physical Ther	1 in 30 miles	5	4,298.6	21,493	100.0	0	0.0	3.2	3.9
Cobb, GA	32,898	Physical Ther	1 in 30 miles	61	539.3	32,898	100.0	0	0.0	2.9	3.7
Coweta, GA	5,365	Physical Ther	1 in 30 miles	2	2,682.5	5,365	100.0	0	0.0	6.7	6.8
DeKalb, GA	42,120	Physical Ther	1 in 30 miles	90	468.0	42,120	100.0	0	0.0	2.1	2.8
Douglas, GA	10,450	Physical Ther	1 in 30 miles	12	870.8	10,450	100.0	0	0.0	3.4	4.4
Fayette, GA	3,804	Physical Ther	1 in 30 miles	16	237.8	3,804	100.0	0	0.0	3.9	4.6
Forsyth, GA	4,143	Physical Ther	1 in 30 miles	68	60.9	4,143	100.0	0	0.0	2.9	3.7
Fulton, GA	50,153	Physical Ther	1 in 30 miles	90	557.3	50,153	100.0	0	0.0	2.9	3.7
Gwinnett, GA	46,781	Physical Ther	1 in 30 miles	184	254.2	46,781	100.0	0	0.0	2.1	2.5
Henry, GA	18,943	Physical Ther	1 in 30 miles	25	757.7	18,943	100.0	0	0.0	3.9	4.9
Newton, GA	8,292	Physical Ther	1 in 30 miles	4	2,073.0	8,292	100.0	0	0.0	3.9	5.1
Paulding, GA	7,138	Physical Ther	1 in 30 miles	10	713.8	7,138	100.0	0	0.0	4.1	6.5
Rockdale, GA	6,259	Physical Ther	1 in 30 miles	11	569.0	6,259	100.0	0	0.0	2.0	2.5
Spalding, GA	3,023	Physical Ther	1 in 30 miles	10	302.3	3,023	100.0	0	0.0	3.9	4.2
Walton, GA	7,058	Physical Ther	1 in 30 miles	14	504.1	7,058	100.0	0	0.0	4.5	5.4
Grand Totals	295,614	Physical The	1 in 30 miles	660	447.9	295,614	100.0	0	0.0	3.0	3.8

## **Physical Therapy - Rural**

December 27, 2023

Access Analysis
Physical Therapy- Rural
Member / Provider Groups

Member / Provider Group Rural Members (ATLANTA\_RURAL) Physical Therapy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without	Access	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	1,425	Physical Ther	1 in 45 miles	0		1,425	100.0		0.0	10.5	13.9
Haralson, GA	1,202		1 in 45 miles	0		1,202	100.0		0.0	13.2	13.3
Jasper, GA	833		1 in 45 miles	0		833	100.0		0.0	18.1	20.3
Pickens, GA	1,288	Physical Ther	1 in 45 miles	7	184.0	1,288	100.0		0.0	5.2	5.3
Grand Totals	4,748	Physical The	1 in 45 miles	7	678.3	4,748	100.0		0.0	11.1	12.5
© 2023 Quest Analytics 11 C	•	•						•			

## **Speech Therapy - Urban**

December 27, 2023

Access Analysis
SpeechTherapy- Urban
Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Speech Therapy

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Speech Therapy	1 in 30 miles	3	1,832.0	5,496	100.0	0	0.0	4.4	4.9
Bartow, GA	6,211	Speech Therapy	1 in 30 miles	13	477.8	6,211	100.0	0	0.0	4.6	6.8
Carroll, GA	6,153	Speech Therapy	1 in 30 miles	10	615.3	6,153	100.0	0	0.0	4.9	5.4
Cherokee, GA	9,834	Speech Therapy	1 in 30 miles	27	364.2	9,834	100.0	0	0.0	2.8	3.5
Clayton, GA	21,493	Speech Therapy	1 in 30 miles	32	671.7	21,493	100.0	0	0.0	2.0	2.5
Cobb, GA	32,898	Speech Therapy	1 in 30 miles	100	329.0	32,898	100.0	0	0.0	2.0	2.7
Coweta, GA	5,365	Speech Therapy	1 in 30 miles	3	1,788.3	5,365	100.0	0	0.0	8.3	10.4
DeKalb, GA	42,120	Speech Therapy	1 in 30 miles	175	240.7	42,120	100.0	0	0.0	1.9	2.2
Douglas, GA	10,450	Speech Therapy	1 in 30 miles	6	1,741.7	10,450	100.0	0	0.0	3.9	4.5
Fayette, GA	3,804	Speech Therapy	1 in 30 miles	41	92.8	3,804	100.0	0	0.0	2.6	3.1
Forsyth, GA	4,143	Speech Therapy	1 in 30 miles	100	41.4	4,143	100.0	0	0.0	2.5	3.5
Fulton, GA		Speech Therapy		112	447.8	50,153	100.0	0	0.0	2.3	2.8
Gwinnett, GA	46,781	Speech Therapy	1 in 30 miles	256	182.7	46,781	100.0	0	0.0	1.8	2.3
Henry, GA	18,943	Speech Therapy	1 in 30 miles	32	592.0	18,943	100.0	0	0.0	3.6	4.3
Newton, GA		Speech Therapy		2	4,146.0	8,292	100.0	0	0.0	5.6	8.0
Paulding, GA	7,138	Speech Therapy	1 in 30 miles	31	230.3	7,138	100.0	0	0.0	5.8	6.2
Rockdale, GA		Speech Therapy		11	569.0	6,259		0	0.0		4.3
Spalding, GA		Speech Therapy		6		3,023		0	0.0	3.4	3.6
Walton, GA		Speech Therapy		2	3,529.0	7,058		0	0.0	4.7	6.8
Grand Totals	295,614	Speech Ther	1 in 30 miles	962	307.3	295,614	100.0	0	0.0	2.8	3.5
0.000000 1.4 1.5 11.0											

## **Speech Therapy - Rural**

December 27, 2023

Access Analysis Speech Therapy- Rural Member / Provider Groups Rural Members (ATLANTA\_RURAL)

Speech Therapy

	Members With and Without Access  Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	vider	Counts	Patio Members	With Acc	ess	Without A	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	Speech Therapy	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	5.8	10.8		
Haralson, GA	1,202	Speech Therapy	1 in 45 miles	1	1,202.0	1,202	100.0	0		7.2	14.3		
Jasper, GA	833	Speech Therapy	1 in 45 miles	0		833	100.0	0	0.0	15.2	19.5		
Pickens, GA		Speech Therapy		4	322.0	1,288	100.0	0	0.0	4.6	5.4		
Grand Totals	4,748	Speech Ther	1 in 45 miles	6	791.3	4,748	100.0	0	0.0	7.5	11.7		

## **Outpatient Radiology Services - Urban**

December 27, 2023

**Access Analysis** 

Outpatient Radiology Services-Urban

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Outpatient Radiology Services

			Members W	ith and W	ithout Acces	s					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Outpatient Ra	1 in 30 miles	16	343.5	5,496	100.0	0	0.0	5.6	5.6
Bartow, GA	6,211	Outpatient Ra	1 in 30 miles	75	82.8	6,211	100.0	0	0.0	5.2	6.9
Carroll, GA	6,153	Outpatient Ra	1 in 30 miles	107	57.5	6,153	100.0	0	0.0	4.6	4.9
Cherokee, GA	9,834	Outpatient Ra	1 in 30 miles	419	23.5	9,834	100.0	0	0.0	2.8	3.0
Clayton, GA	21,493	Outpatient Ra	1 in 30 miles	183	117.4	21,493	100.0	0	0.0	2.6	3.0
Cobb, GA	32,898	Outpatient Ra	1 in 30 miles	1,001	32.9	32,898	100.0	0	0.0	2.1	2.4
Coweta, GA	5,365	Outpatient Ra	1 in 30 miles	43	124.8	5,365	100.0	0	0.0	3.9	4.2
DeKalb, GA	42,120	Outpatient Ra	1 in 30 miles	372	113.2	42,120	100.0	0	0.0	3.1	3.3
Douglas, GA	10,450	Outpatient Ra	1 in 30 miles	114	91.7	10,450	100.0	0	0.0	4.4	4.7
Fayette, GA	3,804	Outpatient Ra	1 in 30 miles	84	45.3	3,804	100.0	0	0.0	3.4	3.8
Forsyth, GA	4,143	Outpatient Ra	1 in 30 miles	220	18.8	4,143	100.0	0	0.0	3.2	3.2
Fulton, GA	50,153	Outpatient Ra	1 in 30 miles	1,062	47.2	50,153	100.0	0	0.0	3.1	3.5
Gwinnett, GA	46,781	Outpatient Ra	1 in 30 miles	250	187.1	46,781	100.0	0	0.0	3.2	3.4
Henry, GA	18,943	Outpatient Ra	1 in 30 miles	147	128.9	18,943	100.0	0	0.0	3.9	4.5
Newton, GA	8,292	Outpatient Ra	1 in 30 miles	31	267.5	8,292	100.0	0	0.0	5.4	5.8
Paulding, GA	7,138	Outpatient Ra	1 in 30 miles	107	66.7	7,138	100.0	0	0.0	3.9	4.0
Rockdale, GA	6,259	Outpatient Ra	1 in 30 miles	67	93.4	6,259	100.0	0	0.0	2.3	3.1
Spalding, GA	3,023	Outpatient Ra	1 in 30 miles	19	159.1	3,023	100.0	0	0.0	4.2	4.2
Walton, GA	7,058	Outpatient Ra	1 in 30 miles	10	705.8	7,058	100.0	0	0.0	4.0	4.8
Grand Totals	295,614	Outpatient R	1 in 30 miles	4,327	68.3	295,614	100.0	0	0.0	3.3	3.6
© 2023 Quest Analytics 11 C											

## **Outpatient Radiology Services - Rural**

December 27, 2023

#### **Access Analysis**

Outpatient Radiology Services-Rural

#### Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Outpatient Radiology Services

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Withou	t Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA			1 in 45 miles	4	356.3	1,425	100.0		0	0.0	5.7	5.7
Haralson, GA			1 in 45 miles	32	37.6	1,202	100.0		0	0.0	6.5	6.7
Jasper, GA	833	Outpatient Ra	1 in 45 miles	0		833	100.0		0	0.0	15.7	15.7
Pickens, GA	1,288	Outpatient Ra	1 in 45 miles	29	44.4	1,288	100.0		0	0.0	4.8	4.9
Grand Totals	4,748	Outpatient R	1 in 45 miles	65	73.0	4,748	100.0		0	0.0	7.4	7.5
© 2023 Quest Analytics 11 C												



# Amerigroup Community Care-Behavioral Health Providers

Access Analysis
Atlanta

December 27, 2023

#### **Behavioral Health - Urban**

December 27, 2023

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Behavioral Health

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	5,496	Behavioral He	1 in 30 miles	220	25.0	5,496	100.0	0	0.0	2.7	3.2	
Bartow, GA	6,211	Behavioral He	1 in 30 miles	113		6,211	100.0	0	0.0	3.3	4.6	
Carroll, GA	6,153	Behavioral He	1 in 30 miles	92	66.9	6,153	100.0	0	0.0	3.4	4.1	
Cherokee, GA	9,834	Behavioral He	1 in 30 miles	158	62.2	9,834		0	0.0	2.0	2.4	
Clayton, GA	21,493	Behavioral He	1 in 30 miles	134	160.4	21,493	100.0	0	0.0	1.0	1.4	
Cobb, GA	32,898	Behavioral He	1 in 30 miles	561	58.6	32,898	100.0	0	0.0	1.1	1.4	
Coweta, GA	5,365	Behavioral He	1 in 30 miles	145	37.0	5,365	100.0	0	0.0	2.5	2.9	
DeKalb, GA	42,120	Behavioral He	1 in 30 miles	804	52.4	42,120	100.0	0	0.0	1.1	1.3	
Douglas, GA	10,450	Behavioral He	1 in 30 miles	94	111.2	10,450	100.0	0	0.0	1.7	2.0	
Fayette, GA	3,804	Behavioral He	1 in 30 miles	215	17.7	3,804	100.0	0	0.0	1.8	2.0	
Forsyth, GA	4,143	Behavioral He	1 in 30 miles	298	13.9	4,143	100.0	0	0.0	2.0	2.6	
Fulton, GA	50,153	Behavioral He	1 in 30 miles	1,786	28.1	50,153	100.0	0	0.0	1.2	1.4	
Gwinnett, GA	46,781	Behavioral He	1 in 30 miles	636	73.6	46,781	100.0	0	0.0	1.2	1.5	
Henry, GA	18,943	Behavioral He	1 in 30 miles	181	104.7	18,943	100.0	0	0.0	2.4	3.0	
Newton, GA	8,292	Behavioral He	1 in 30 miles	78	106.3	8,292	100.0	0	0.0	3.0	3.3	
Paulding, GA	7,138	Behavioral He	1 in 30 miles	58	123.1	7,138	100.0	0	0.0	2.1	2.5	
Rockdale, GA	6,259	Behavioral He	1 in 30 miles	57	109.8	6,259	100.0	0	0.0	1.3	1.6	
Spalding, GA	3,023	Behavioral He	1 in 30 miles	28	108.0	3,023	100.0	0	0.0	1.9	2.1	
Walton, GA	7,058	Behavioral He	1 in 30 miles	32	220.6	7,058	100.0	0	0.0	2.0	3.0	
Grand Totals	295,614	Behavioral H	1 in 30 miles	5,690	52.0	295,614	100.0	0	0.0	1.5	1.9	

#### **Behavioral Health - Rural**

December 27, 2023

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members

(ATLANTA\_RURAL)
Behavioral Health

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA			1 in 45 miles	10			100.0		0.0	5.2	5.3	
Haralson, GA			1 in 45 miles	28			100.0		0.0	4.2		
Jasper, GA			1 in 45 miles	1			100.0		0.0	8.1		
Pickens, GA	1,288	Behavioral He	1 in 45 miles	14	92.0	1,288	100.0	0	0.0	3.4	3.9	
Grand Totals	4,748	Behavioral H	1 in 45 miles	53	89.6	4,748	100.0	0	0.0	5.0	6.3	
© 2023 Quest Analytics II C												

#### **Behavioral Health Facilities - Urban**

December 27, 2023

Access Analysis

Behavioral Health Facilities-

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Behavioral Health Facilities

Bartow, GA 6,211 Behavioral He 1 in 30 miles 28 221.8 6,211 100.0 0 0.0 3.7 Carroll, GA 6,153 Behavioral He 1 in 30 miles 1 6,153.0 6,153 100.0 0 0.0 8.5 1 in 30 miles 45 218.5 9,834 100.0 0 0.0 3.1 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 3.1 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 32,898 Behavioral He 1 in 30 miles 185 177.8 32,898 100.0 0 0.0 1.9 Coweta, GA 5,365 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 3.6 DeKalb, GA 42,120 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 3.6 Fayette, GA 3,804 Behavioral He 1 in 30 miles 79 48.2 3,804 100.0 0 0.0 3.0 Fayette, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.5 Forsyth, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 8,292 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 5 1,251.8 6,259 100.0 0 0.0 2.3 Spalding, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	Members With and Without Access											
County         #         Group         Standard         #         to Providers         #         %         #         %         1         2           Barrow, GA         5,496         Behavioral He         1 in 30 miles         104         52.8         5,496         100.0         0         0.0         3.9           Bartow, GA         6,211         Behavioral He         1 in 30 miles         28         221.8         6,211         100.0         0         0.0         3.7           Carroll, GA         6,153         Behavioral He         1 in 30 miles         45         218.5         9,834         100.0         0         0.0         8.5         1           Clayton, GA         21,493         Behavioral He         1 in 30 miles         29         741.1         21,493         100.0         0         0.0         3.1           Cobb, GA         32,898         Behavioral He         1 in 30 miles         185         177.8         32,898         100.0         0         0.0         1.8           Coweta, GA         5,365         Behavioral He         1 in 30 miles         185         177.8         32,898         100.0         0         0.0         3.0           DeVSAID, GA </th <th></th> <th>Member</th> <th>Pro</th> <th>ovider</th> <th>Counts</th> <th>Datia Mambara</th> <th>With Acc</th> <th>ess</th> <th>Without Ac</th> <th>cess</th> <th>Average</th> <th>Distance</th>		Member	Pro	ovider	Counts	Datia Mambara	With Acc	ess	Without Ac	cess	Average	Distance
Bartow, GA 6,211 Behavioral He 1 in 30 miles 28 221.8 6,211 100.0 0 0.0 3.7 Carroll, GA 6,153 Behavioral He 1 in 30 miles 1 6,153.0 6,153 100.0 0 0.0 8.5 1 in 30 miles 29 218.5 9,834 100.0 0 0.0 3.1 Clayton, GA 21,493 Behavioral He 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 32,898 Behavioral He 1 in 30 miles 185 177.8 32,898 100.0 0 0.0 1.9 Coweta, GA 5,365 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 3.6 DeKalb, GA 42,120 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 3.6 Fayette, GA 3,804 Behavioral He 1 in 30 miles 21 497.6 10,450 100.0 0 0.0 3.0 Fayette, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.5 Forsyth, GA 46,781 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 18,943 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 5 1,251.8 6,259 100.0 0 0.0 2.3 Spalding, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	County	#	Group	Standard	#		#	%	#	%		
Carroll, GA 6,153 Behavioral He 1 in 30 miles 1 6,153.0 6,153 100.0 0 0.0 8.5 1 Cherokee, GA 9,834 Clayton, GA 21,493 Behavioral He 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 32,898 Behavioral He 1 in 30 miles 185 177.8 32,898 100.0 0 0.0 1.9 Coweta, GA 5,365 DeKalb, GA 42,120 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 1.9 Douglas, GA 10,450 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 1.9 Ehavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 1.9 Ehavioral He 1 in 30 miles 179 48.2 3,804 100.0 0 0.0 2.5 Forsyth, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.5 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.4 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.8 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.8 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Ehavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.0 Ehavior, GA 18,943 Ehavioral He 1 in 30 miles 144 430.5 18,943 100.0 0 0.0 2.8 Ehavioral He 1 in 30 miles 15 1,251.8 6,259 100.0 0 0.0 2.8 Ehavioral He 1 in 30 miles 15 1,251.8 6,259 100.0 0 0.0 0.0 3.9 Ehavioral He.	Barrow, GA	5,496		1 in 30 miles	104	52.8		100.0	0	0.0	3.9	4.7
Cherokee, GA 9,834 Behavioral He 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 21,493 Behavioral He 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 32,898 Behavioral He 1 in 30 miles 185 177.8 32,898 100.0 0 0.0 1.9 Coweta, GA 5,365 Behavioral He 1 in 30 miles 44 121.9 5,365 100.0 0 0.0 3.6 DeKalb, GA 42,120 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 1.9 Coweta, GA 10,450 Behavioral He 1 in 30 miles 21 497.6 10,450 100.0 0 0.0 3.0 Fayette, GA 3,804 Behavioral He 1 in 30 miles 79 48.2 3,804 100.0 0 0.0 2.5 Forsyth, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.8 Fulton, GA 50,153 Behavioral He 1 in 30 miles 703 71.3 50,153 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 18,943 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 18 396.6 7,138 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 1 3,023.0 3,023 100.0 0 0.0 2.3 Spalding, GA 7,058 Behavioral He 1 in 30 miles 1 3,023.0 3,023 100.0 0 0.0 3.9 Walton, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	Bartow, GA	6,211	Behavioral He	1 in 30 miles	28	221.8	6,211	100.0	0	0.0	3.7	5.1
Cherokee, GA 9,834 Behavioral He 1 in 30 miles 45 218.5 9,834 100.0 0 0.0 3.1 Clayton, GA 21,493 Behavioral He 1 in 30 miles 29 741.1 21,493 100.0 0 0.0 1.8 Cobb, GA 32,898 Behavioral He 1 in 30 miles 185 177.8 32,898 100.0 0 0.0 1.9 Coweta, GA 5,365 Behavioral He 1 in 30 miles 44 121.9 5,365 100.0 0 0.0 3.6 DeKalb, GA 42,120 Behavioral He 1 in 30 miles 175 240.7 42,120 100.0 0 0.0 1.9 Coweta, GA 10,450 Behavioral He 1 in 30 miles 21 497.6 10,450 100.0 0 0.0 3.0 Fayette, GA 3,804 Behavioral He 1 in 30 miles 79 48.2 3,804 100.0 0 0.0 2.5 Forsyth, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.8 Fulton, GA 50,153 Behavioral He 1 in 30 miles 703 71.3 50,153 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 18,943 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 18 396.6 7,138 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 1 3,023.0 3,023 100.0 0 0.0 2.3 Spalding, GA 7,058 Behavioral He 1 in 30 miles 1 3,023.0 3,023 100.0 0 0.0 3.9 Walton, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	Carroll, GA	6,153	Behavioral He	1 in 30 miles		6,153.0			0	0.0	8.5	17.3
Cobb, GA         32,898         Behavioral He         1 in 30 miles         185         177.8         32,898         100.0         0         0.0         1.9           Coweta, GA         5,365         Behavioral He         1 in 30 miles         44         121.9         5,365         100.0         0         0.0         3.6           DeKalb, GA         42,120         Behavioral He         1 in 30 miles         175         240.7         42,120         100.0         0         0.0         1.9           Douglas, GA         10,450         Behavioral He         1 in 30 miles         21         497.6         10,450         100.0         0         0.0         3.0           Fayette, GA         3,804         Behavioral He         1 in 30 miles         79         48.2         3,804         100.0         0         0.0         2.5           Forsyth, GA         4,143         Behavioral He         1 in 30 miles         129         32.1         4,143         100.0         0         0.0         2.8           Fulton, GA         50,153         Behavioral He         1 in 30 miles         217         215.6         46,781         100.0         0         0.0         2.4           Henry, GA	Cherokee, GA			1 in 30 miles	45	218.5	9,834	100.0	0	0.0	3.1	3.8
Coweta, GA         5,365         Behavioral He         1 in 30 miles         44         121.9         5,365         100.0         0 0.0         3.6           DeKalb, GA         42,120         Behavioral He         1 in 30 miles         175         240.7         42,120         100.0         0 0.0         1.9           Douglas, GA         10,450         Behavioral He         1 in 30 miles         21         497.6         10,450         100.0         0 0.0         3.0           Fayette, GA         3,804         Behavioral He         1 in 30 miles         79         48.2         3,804         100.0         0 0.0         2.5           Forsyth, GA         4,143         Behavioral He         1 in 30 miles         129         32.1         4,143         100.0         0 0.0         2.8           Fulton, GA         50,153         Behavioral He         1 in 30 miles         703         71.3         50,153         100.0         0 0.0         2.4           Gwinnett, GA         46,781         Behavioral He         1 in 30 miles         217         215.6         46,781         100.0         0 0.0         2.0           Henry, GA         8,292         Behavioral He         1 in 30 miles         24 <t< td=""><td>Clayton, GA</td><td>21,493</td><td>Behavioral He</td><td>1 in 30 miles</td><td>29</td><td>741.1</td><td>21,493</td><td>100.0</td><td>0</td><td>0.0</td><td>1.8</td><td>2.3</td></t<>	Clayton, GA	21,493	Behavioral He	1 in 30 miles	29	741.1	21,493	100.0	0	0.0	1.8	2.3
DeKalb, GA       42,120       Behavioral He       1 in 30 miles       175       240.7       42,120       100.0       0 0.0       1.9         Douglas, GA       10,450       Behavioral He       1 in 30 miles       21       497.6       10,450       100.0       0 0.0       3.0         Fayette, GA       3,804       Behavioral He       1 in 30 miles       79       48.2       3,804       100.0       0 0.0       2.5         Forsyth, GA       4,143       Behavioral He       1 in 30 miles       129       32.1       4,143       100.0       0 0.0       2.8         Fulton, GA       50,153       Behavioral He       1 in 30 miles       703       71.3       50,153       100.0       0 0.0       2.4         Gwinnett, GA       46,781       Behavioral He       1 in 30 miles       217       215.6       46,781       100.0       0 0.0       2.0         Henry, GA       18,943       Behavioral He       1 in 30 miles       44       430.5       18,943       100.0       0 0.0       3.8         Newton, GA       8,292       Behavioral He       1 in 30 miles       24       345.5       8,292       100.0       0 0.0       2.8         Rockdale, GA <td>Cobb, GA</td> <td>32,898</td> <td>Behavioral He</td> <td>1 in 30 miles</td> <td>185</td> <td>177.8</td> <td>32,898</td> <td>100.0</td> <td>0</td> <td>0.0</td> <td>1.9</td> <td>2.3</td>	Cobb, GA	32,898	Behavioral He	1 in 30 miles	185	177.8	32,898	100.0	0	0.0	1.9	2.3
Douglas, GA         10,450         Behavioral He         1 in 30 miles         21         497.6         10,450         100.0         0 0.0         3.0           Fayette, GA         3,804         Behavioral He         1 in 30 miles         79         48.2         3,804         100.0         0 0.0         2.5           Forsyth, GA         4,143         Behavioral He         1 in 30 miles         129         32.1         4,143         100.0         0 0.0         2.8           Fulton, GA         50,153         Behavioral He         1 in 30 miles         703         71.3         50,153         100.0         0 0.0         2.4           Gwinnett, GA         46,781         Behavioral He         1 in 30 miles         217         215.6         46,781         100.0         0 0.0         2.4           Henry, GA         18,943         Behavioral He         1 in 30 miles         44         430.5         18,943         100.0         0 0.0         3.8           Newton, GA         8,292         Behavioral He         1 in 30 miles         24         345.5         8,292         100.0         0 0.0         4.3           Paulding, GA         7,138         Behavioral He         1 in 30 miles         5 <t< td=""><td>Coweta, GA</td><td>5,365</td><td>Behavioral He</td><td>1 in 30 miles</td><td>44</td><td>121.9</td><td>5,365</td><td>100.0</td><td>0</td><td>0.0</td><td>3.6</td><td>3.9</td></t<>	Coweta, GA	5,365	Behavioral He	1 in 30 miles	44	121.9	5,365	100.0	0	0.0	3.6	3.9
Fayette, GA 3,804   Behavioral He   1 in 30 miles   79   48.2   3,804   100.0   0   0.0   2.5   Forsyth, GA 4,143   Behavioral He   1 in 30 miles   129   32.1   4,143   100.0   0   0.0   2.8   Fulton, GA 50,153   Behavioral He   1 in 30 miles   703   71.3   50,153   100.0   0   0.0   2.4   Gwinnett, GA 46,781   Behavioral He   1 in 30 miles   217   215.6   46,781   100.0   0   0.0   2.0   Henry, GA 18,943   Behavioral He   1 in 30 miles   44   430.5   18,943   100.0   0   0.0   3.8   Newton, GA 8,292   Behavioral He   1 in 30 miles   24   345.5   8,292   100.0   0   0.0   4.3   Paulding, GA 7,138   Behavioral He   1 in 30 miles   18   396.6   7,138   100.0   0   0.0   2.8   Rockdale, GA 6,259   Behavioral He   1 in 30 miles   5   1,251.8   6,259   100.0   0   0.0   2.3   Spalding, GA 7,058   Behavioral He   1 in 30 miles   5   1,411.6   7,058   100.0   0   0.0   3.9	DeKalb, GA	42,120	Behavioral He	1 in 30 miles	175	240.7	42,120	100.0	0	0.0	1.9	2.4
Fayette, GA 3,804 Behavioral He 1 in 30 miles 79 48.2 3,804 100.0 0 0.0 2.5 Forsyth, GA 4,143 Behavioral He 1 in 30 miles 129 32.1 4,143 100.0 0 0.0 2.8 Fulton, GA 50,153 Behavioral He 1 in 30 miles 703 71.3 50,153 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 18,943 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 3.8 Newton, GA 8,292 Behavioral He 1 in 30 miles 18 396.6 7,138 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 5 1,251.8 6,259 100.0 0 0.0 2.3 Spalding, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	Douglas, GA	10,450	Behavioral He	1 in 30 miles	21	497.6	10,450	100.0	0	0.0	3.0	3.5
Fulton, GA 50,153 Behavioral He 1 in 30 miles 703 71.3 50,153 100.0 0 0.0 2.4 Gwinnett, GA 46,781 Behavioral He 1 in 30 miles 217 215.6 46,781 100.0 0 0.0 2.0 Henry, GA 18,943 Behavioral He 1 in 30 miles 44 430.5 18,943 100.0 0 0.0 3.8 Newton, GA 8,292 Behavioral He 1 in 30 miles 24 345.5 8,292 100.0 0 0.0 4.3 Paulding, GA 7,138 Behavioral He 1 in 30 miles 18 396.6 7,138 100.0 0 0.0 2.8 Rockdale, GA 6,259 Behavioral He 1 in 30 miles 5 1,251.8 6,259 100.0 0 0.0 2.3 Spalding, GA 3,023 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9		3,804	Behavioral He	1 in 30 miles	79	48.2	3,804	100.0	0	0.0	2.5	2.8
Gwinnett, GA       46,781       Behavioral He       1 in 30 miles       217       215.6       46,781       100.0       0 0.0       2.0         Henry, GA       18,943       Behavioral He       1 in 30 miles       44       430.5       18,943       100.0       0 0.0       3.8         Newton, GA       8,292       Behavioral He       1 in 30 miles       24       345.5       8,292       100.0       0 0.0       4.3         Paulding, GA       7,138       Behavioral He       1 in 30 miles       18       396.6       7,138       100.0       0 0.0       2.8         Rockdale, GA       6,259       Behavioral He       1 in 30 miles       5       1,251.8       6,259       100.0       0 0.0       2.3         Spalding, GA       3,023       Behavioral He       1 in 30 miles       1       3,023.0       3,023       100.0       0 0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5       1,411.6       7,058       100.0       0 0.0       3.9	Forsyth, GA	4,143	Behavioral He	1 in 30 miles	129	32.1	4,143	100.0	0	0.0	2.8	3.3
Gwinnett, GA       46,781       Behavioral He       1 in 30 miles       217       215.6       46,781       100.0       0 0.0       2.0         Henry, GA       18,943       Behavioral He       1 in 30 miles       44       430.5       18,943       100.0       0 0.0       3.8         Newton, GA       8,292       Behavioral He       1 in 30 miles       24       345.5       8,292       100.0       0 0.0       4.3         Paulding, GA       7,138       Behavioral He       1 in 30 miles       18       396.6       7,138       100.0       0 0.0       2.8         Rockdale, GA       6,259       Behavioral He       1 in 30 miles       5       1,251.8       6,259       100.0       0 0.0       2.3         Spalding, GA       3,023       Behavioral He       1 in 30 miles       1       3,023.0       3,023       100.0       0 0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5       1,411.6       7,058       100.0       0 0.0       3.9		50,153	Behavioral He	1 in 30 miles	703	71.3	50,153	100.0	0	0.0	2.4	3.0
Newton, GA       8,292       Behavioral He       1 in 30 miles       24       345.5       8,292       100.0       0       0.0       4.3         Paulding, GA       7,138       Behavioral He       1 in 30 miles       18       396.6       7,138       100.0       0       0.0       2.8         Rockdale, GA       6,259       Behavioral He       1 in 30 miles       5       1,251.8       6,259       100.0       0       0.0       2.3         Spalding, GA       3,023       Behavioral He       1 in 30 miles       1       3,023.0       3,023       100.0       0       0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5       1,411.6       7,058       100.0       0       0.0       3.9		46,781	Behavioral He	1 in 30 miles	217	215.6	46,781	100.0	0	0.0	2.0	2.4
Newton, GA       8,292       Behavioral He       1 in 30 miles       24       345.5       8,292       100.0       0       0.0       4.3         Paulding, GA       7,138       Behavioral He       1 in 30 miles       18       396.6       7,138       100.0       0       0.0       2.8         Rockdale, GA       6,259       Behavioral He       1 in 30 miles       5       1,251.8       6,259       100.0       0       0.0       2.3         Spalding, GA       3,023       Behavioral He       1 in 30 miles       1       3,023.0       3,023       100.0       0       0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5       1,411.6       7,058       100.0       0       0.0       3.9	Henry, GA	18,943	Behavioral He	1 in 30 miles	44	430.5	18,943	100.0	0	0.0	3.8	4.9
Rockdale, GA       6,259       Behavioral He       1 in 30 miles       5       1,251.8       6,259       100.0       0       0.0       2.3         Spalding, GA       3,023       Behavioral He       1 in 30 miles       1       3,023.0       3,023       100.0       0       0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5       1,411.6       7,058       100.0       0       0.0       3.9		8,292	Behavioral He	1 in 30 miles	24	345.5			0	0.0	4.3	4.9
Spalding, GA       3,023       Behavioral He       1 in 30 miles       1 3,023.0       3,023       100.0       0 0.0       4.9       1         Walton, GA       7,058       Behavioral He       1 in 30 miles       5 1,411.6       7,058       100.0       0 0.0       3.9	Paulding, GA	7,138	Behavioral He	1 in 30 miles	18	396.6	7,138	100.0	0	0.0	2.8	3.7
Walton, GA 7,058 Behavioral He 1 in 30 miles 5 1,411.6 7,058 100.0 0 0.0 3.9	Rockdale, GA	6,259	Behavioral He	1 in 30 miles	5	1,251.8	6,259	100.0	0	0.0	2.3	3.0
Walton, GA         7,058         Behavioral He         1 in 30 miles         5         1,411.6         7,058         100.0         0         0.0         3.9	Spalding, GA	3,023	Behavioral He	1 in 30 miles	1	3,023.0	3,023	100.0	0	0.0	4.9	14.4
Grand Totals 295,614 Behavioral H 1 in 30 miles 1,857 159.2 295,614 100.0 0 0.0 2.6				1 in 30 miles	5				0	0.0	3.9	4.6
Grand Totals 295,614 Benavioral H   Till 30 miles   1,657   159.2   295,614   100.0   0   0.0   2.6	Crond Totala	205 644	Dobovioral H	4 in 20 miles	4 057	450.0	205 644	100.0	0	0.0	2.6	3.5
	Grand Totals	295,614	Denavioral H	1 in 30 miles	1,057	159.2	295,614	100.0	ı v	0.0	2.6	3.5

## **Behavioral Health Facilities - Rural**

December 27, 2023

**Access Analysis** 

Behavioral Health Facilities-

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Behavioral Health Facilities

Haralson, GA       1,202       Behavioral He       1 in 45 miles       0        1,202       100.0       0       0.0       15.4       17.4         Jasper, GA       833       Behavioral He       1 in 45 miles       0        833       100.0       0       0.0       12.6       17.7	Members With and Without Access												
County         #         Group         Standard         #         to Providers         #         %         #         %         1         2           Butts, GA         1,425         Behavioral He         1 in 45 miles         1         1,425.0         1,425         100.0         0         0.0         6.1         15.7           Haralson, GA         1,202         Behavioral He         1 in 45 miles         0          1,202         100.0         0         0.0         15.4         17.4           Jasper, GA         833         Behavioral He         1 in 45 miles         0          833         100.0         0         0.0         12.6         17.7           Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1		Member	Pro	vider	Counts	Patio Members	With Acc	ess	Without A	ccess	Average	Distance	
Haralson, GA       1,202       Behavioral He       1 in 45 miles       0        1,202       100.0       0       0.0       15.4       17.4         Jasper, GA       833       Behavioral He       1 in 45 miles       0        833       100.0       0       0.0       12.6       17.7         Pickens, GA       1,288       Behavioral He       1 in 45 miles       1       1,288.0       1,288       100.0       0       0.0       5.5       14.1	County		Group	Standard	#	to Providers	#	%					
Jasper, GA     833     Behavioral He     1 in 45 miles     0      833     100.0     0     0.0     12.6     17.7       Pickens, GA     1,288     Behavioral He     1 in 45 miles     1     1,288.0     1,288     100.0     0     0.0     5.5     14.1	Butts, GA	1,425	Behavioral He	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	6.1	15.7	
Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1	Haralson, GA	1,202	Behavioral He	1 in 45 miles	0					0.0	15.4	17.4	
Pickens, GA         1,288         Behavioral He         1 in 45 miles         1         1,288.0         1,288         100.0         0         0.0         5.5         14.1	Jasper, GA	833	Behavioral He	1 in 45 miles	0		833	100.0	0	0.0	12.6	17.7	
Grand Totals 4,748 Behavioral H 1 in 45 miles 2 2,374.0 4,748 100.0 0 0.0 9.4 16.1	Pickens, GA	1,288	Behavioral He	1 in 45 miles	1	1,288.0				0.0	5.5	14.1	
	Grand Totals	4,748	Behavioral H	1 in 45 miles	2	2,374.0	4,748	100.0	0	0.0	9.4	16.1	

## **Community Service Boards - Urban**

December 27, 2023

**Access Analysis** 

Community Service Boards-Urban

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Community Service Boards

	Members With and Without Access										
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Community S	1 in 30 miles	1	5,496.0	5,496	100.0	0	0.0	5.4	9.1
Bartow, GA	6,211	Community S	1 in 30 miles	12	517.6	6,211	100.0	0	0.0	4.1	6.6
Carroll, GA	6,153	Community S	1 in 30 miles	2	3,076.5	6,153	100.0	0	0.0	7.9	9.6
Cherokee, GA	9,834	Community S	1 in 30 miles	3	3,278.0	9,834	100.0	0	0.0	8.5	8.9
Clayton, GA	21,493	Community S	1 in 30 miles	4	5,373.3	21,493	100.0	0	0.0	3.5	4.9
Cobb, GA	32,898	Community S	1 in 30 miles	6	5,483.0	32,898	100.0	0	0.0	4.6	6.4
Coweta, GA		Community S	1 in 30 miles	8	670.6	5,365	100.0	0	0.0	5.5	5.6
DeKalb, GA	42,120	Community S	1 in 30 miles	1	42,120.0	42,120	100.0	0	0.0	6.9	10.7
Douglas, GA	10,450	Community S	1 in 30 miles	2	5,225.0	10,450	100.0	0	0.0	3.9	6.4
Fayette, GA	3,804	Community S	1 in 30 miles	0		3,804		0	0.0	8.3	10.5
Forsyth, GA	4,143	Community S	1 in 30 miles	2	2,071.5	4,143	100.0	0	0.0	4.6	6.3
Fulton, GA	50,153	Community S	1 in 30 miles	0		50,153	100.0	0	0.0	10.7	12.8
Gwinnett, GA	46,781	Community S	1 in 30 miles	2	23,390.5	46,781	100.0	0	0.0	5.5	11.0
Henry, GA	18,943	Community S	1 in 30 miles	2	9,471.5	18,943	100.0	0	0.0	5.3	9.1
Newton, GA	8,292	Community S	1 in 30 miles	5	1,658.4	8,292		0	0.0	4.9	5.8
Paulding, GA	7,138	Community S	1 in 30 miles	4	1,784.5	7,138	100.0	0	0.0	3.5	5.6
Rockdale, GA	6,259	Community S	1 in 30 miles	2	3,129.5	6,259	100.0	0	0.0	3.9	4.2
Spalding, GA	3,023	Community S	1 in 30 miles	4	755.8	3,023	100.0	0	0.0	3.0	4.3
Walton, GA	7,058	Community S	1 in 30 miles	2	3,529.0	7,058	100.0	0	0.0	8.7	12.3
Grand Totals	295,614	Community	1 in 30 miles	62	4,768.0	295,614	100.0	0	0.0	6.4	9.2

## **Community Service Boards - Rural**

December 27, 2023

**Access Analysis** 

Community Service Boards-Rural

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Community Service Boards

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,425	Community S	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	5.9	15.3	
Haralson, GA			1 in 45 miles	1	1,202.0	1,202	100.0	0	0.0	7.1	16.1	
Jasper, GA			1 in 45 miles	0			100.0		0.0		21.2	
Pickens, GA	1,288	Community S	1 in 45 miles	3	429.3	1,288	100.0	0	0.0	4.4	6.0	
Grand Totals	4,748	Community	1 in 45 miles	5	949.6	4,748	100.0	0	0.0	7.6	14.0	

## **Psychiatric Residential Treatment Facilities - Urban**

December 27, 2023

#### **Access Analysis**

Psychiatric Residential Treatment Facilities(PRTFs)-Urban

#### Member / Provider Groups

Urban Members (ATLANTA\_URBAN)

Psychiatric Residential Treatment Facilities(PRTFs)

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	5,496	Psychiatric R	1 in 30 miles	0		0	0.0	5,496	100.0	51.7	51.7	
Bartow, GA	6,211	Psychiatric R	1 in 30 miles	0		4,703	75.7	1,508	24.3	27.4	27.4	
Carroll, GA	6,153	Psychiatric R	1 in 30 miles	1	6,153.0	5,877	95.5	276	4.5	12.6	12.6	
Cherokee, GA	9,834	Psychiatric R	1 in 30 miles	0		9,278	94.3	556	5.7	17.0	17.0	
Clayton, GA	21,493	Psychiatric R	1 in 30 miles	0		0	0.0	21,493	100.0	38.4	38.4	
Cobb, GA	32,898	Psychiatric R	1 in 30 miles	2	16,449.0	32,898	100.0	0	0.0	10.0	10.0	
Coweta, GA	5,365	Psychiatric R	1 in 30 miles	0		2,217	41.3	3,148	58.7	32.1	32.1	
DeKalb, GA	42,120	Psychiatric R	1 in 30 miles	0		12,862	30.5	29,258	69.5	33.1	33.1	
Douglas, GA	10,450	Psychiatric R	1 in 30 miles	0		10,450	100.0	0	0.0	12.5	12.5	
Fayette, GA	3,804	Psychiatric R	1 in 30 miles	0		0	0.0	3,804	100.0	39.2	39.2	
Forsyth, GA	4,143	Psychiatric R	1 in 30 miles	0		97	2.3	4,046	97.7	38.1	38.1	
Fulton, GA	50,153	Psychiatric R	1 in 30 miles	1	50,153.0	40,432	80.6	9,721	19.4	25.6	25.6	
Gwinnett, GA	46,781	Psychiatric R	1 in 30 miles	0		14,112	30.2	32,669	69.8	33.7	33.7	
Henry, GA	18,943	Psychiatric R	1 in 30 miles	0		0	0.0	18,943		51.0	51.0	
Newton, GA	8,292	Psychiatric R	1 in 30 miles	0		0	0.0	8,292	100.0	58.7	58.7	
Paulding, GA	7,138	Psychiatric R	1 in 30 miles	0		7,138	100.0	0	0.0	12.9	12.9	
Rockdale, GA		Psychiatric R	1 in 30 miles	0		0	0.0	6,259	100.0	49.7	49.7	
Spalding, GA		Psychiatric R	1 in 30 miles	0		0	0.0		100.0	58.1	58.1	
Walton, GA	7,058	Psychiatric R	1 in 30 miles	0		0	0.0	7,058	100.0	49.8	49.8	
Grand Totals	295,614	Psychiatric	1 in 30 miles	4	73,903.5	140,064	47.4	155,550	52.6	30.8	30.8	

## **Psychiatric Residential Treatment Facilities - Rural**

December 27, 2023

#### Access Analysis

Psychiatric Residential Treatment Facilities(PRTFs)-Rural

#### Member / Provider Groups

Rural Members (ATLANTA\_RURAL)

Psychiatric Residential Treatment Facilities(PRTFs)

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,425	Psychiatric R	1 in 45 miles	0		0	0.0	1,425	100.0	69.1	69.1	
Haralson, GA			1 in 45 miles	0		1,202	100.0		0.0		17.8	
Jasper, GA	833		1 in 45 miles	0		0	0.0	833	100.0	76.1	76.1	
Pickens, GA	1,288	Psychiatric R	1 in 45 miles	0		1,280	99.4	8	0.6	37.3	37.3	
Grand Totals	4,748	Psychiatric	1 in 45 miles	0		2,482	52.3	2,266	47.7	48.7	48.7	
© 2023 Quest Analytics 11 C				<u> </u>								

## **Psychologists - Urban**

December 27, 2023

Access Analysis
Psychologists- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Psychologists

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	5,496	Psychologists	1 in 30 miles	0		5,496	100.0	0	0.0	8.7	9.6	
Bartow, GA	6,211	Psychologists	1 in 30 miles	4	1,552.8	6,211	100.0	0	0.0	7.0	7.6	
Carroll, GA	6,153	Psychologists	1 in 30 miles	1	6,153.0	6,153	100.0	0	0.0	9.4	21.0	
Cherokee, GA	9,834	Psychologists	1 in 30 miles	17	578.5	9,834	100.0	0	0.0	3.4	4.2	
Clayton, GA	21,493	Psychologists	1 in 30 miles	2	10,746.5	21,493	100.0	0	0.0	4.1	7.1	
Cobb, GA	32,898	Psychologists	1 in 30 miles	33	996.9	32,898	100.0	0	0.0	3.0	4.6	
Coweta, GA	5,365	Psychologists	1 in 30 miles	8	670.6	5,365	100.0	0	0.0	4.3	5.1	
DeKalb, GA	42,120	Psychologists	1 in 30 miles	135	312.0	42,120	100.0	0	0.0	3.4	4.3	
Douglas, GA	10,450	Psychologists	1 in 30 miles	2	5,225.0	10,450	100.0	0	0.0	4.5	9.5	
Fayette, GA	3,804	Psychologists	1 in 30 miles	2		3,804	100.0	0	0.0	5.4	5.6	
Forsyth, GA	4,143	Psychologists	1 in 30 miles	18		4,143	100.0	0	0.0	4.5	5.2	
Fulton, GA	50,153	Psychologists	1 in 30 miles	94	533.5	50,153	100.0	0	0.0	3.4	4.2	
Gwinnett, GA	46,781	Psychologists	1 in 30 miles	24	1,949.2	46,781	100.0	0	0.0	2.7	4.0	
Henry, GA	18,943	Psychologists	1 in 30 miles	8	2,367.9	18,943	100.0	0	0.0	6.6	8.2	
Newton, GA	8,292	Psychologists	1 in 30 miles	4	2,073.0	8,292	100.0	0	0.0	5.7	6.8	
Paulding, GA		Psychologists	1 in 30 miles	0		7,138	100.0	0	0.0	11.2	13.6	
Rockdale, GA		Psychologists	1 in 30 miles	4		6,259		0	0.0	2.7	3.9	
Spalding, GA		Psychologists	1 in 30 miles	0		3,023		0	0.0	13.8	18.7	
Walton, GA		Psychologists	1 in 30 miles	0		7,058		0	0.0	10.3	12.1	
Grand Totals	295,614	Psychologists	1 in 30 miles	356	830.4	295,614	100.0	0	0.0	4.4	6.1	

## **Psychologists - Rural**

December 27, 2023

Access Analysis
Psychologists- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Psychologists

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Butts, GA	1,425	Psychologists	1 in 45 miles	0		1,425	100.0	0	0.0	21.1	22.4	
Haralson, GA		Psychologists	1 in 45 miles	0		1,202	100.0	0			25.6	
Jasper, GA	833	Psychologists	1 in 45 miles	0		833	100.0	0	0.0	19.9	21.5	
Pickens, GA	1,288	Psychologists	1 in 45 miles	0		1,288	100.0	0	0.0	14.7	16.7	
Grand Totals	4,748	Psychologists	1 in 45 miles	0		4,748	100.0	0	0.0	18.6	21.5	

## **Psychiatrists - Urban**

December 27, 2023

Access Analysis
Psychiatry- Urban

Member / Provider Groups
Urban Members
(ATLANTA\_URBAN)
Psychiatry

Members With and Without Access												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Barrow, GA	5,496	Psychiatry	1 in 30 miles	6	916.0	5,496	100.0	0	0.0	4.8	5.7	
Bartow, GA		Psychiatry	1 in 30 miles	22	282.3	6,211		0	0.0	7.6	7.7	
Carroll, GA	6,153	Psychiatry	1 in 30 miles	49	125.6	6,153		0	0.0	5.0	5.0	
Cherokee, GA		Psychiatry	1 in 30 miles	8		9,834		0	0.0	5.3	6.0	
Clayton, GA		Psychiatry	1 in 30 miles	10	2,149.3	21,493		0	0.0	2.9	3.4	
Cobb, GA		Psychiatry	1 in 30 miles	45		32,898		0	0.0	2.9	3.6	
Coweta, GA	5,365	Psychiatry	1 in 30 miles	3	1,788.3		100.0	0	0.0	5.1	6.2	
DeKalb, GA	42,120	Psychiatry	1 in 30 miles	104	405.0	42,120	100.0	0	0.0	2.7	3.3	
Douglas, GA	10,450	Psychiatry	1 in 30 miles	8	1,306.3	10,450		0	0.0	4.9	8.7	
Fayette, GA	3,804	Psychiatry	1 in 30 miles	4	951.0	3,804	100.0	0	0.0	3.7	5.7	
Forsyth, GA	4,143	Psychiatry	1 in 30 miles	7	591.9	4,143	100.0	0	0.0	5.3	5.7	
Fulton, GA	50,153	Psychiatry	1 in 30 miles	89	563.5	50,153	100.0	0	0.0	2.8	3.6	
Gwinnett, GA	46,781	Psychiatry	1 in 30 miles	56		46,781	100.0	0	0.0	2.5	3.4	
Henry, GA	18,943	Psychiatry	1 in 30 miles	15	1,262.9	18,943		0	0.0	5.0	6.2	
Newton, GA	8,292	Psychiatry	1 in 30 miles	3	2,764.0	8,292	100.0	0	0.0	5.5	5.9	
Paulding, GA	7,138	Psychiatry	1 in 30 miles	3		7,138		0	0.0	5.3	5.3	
Rockdale, GA	6,259	Psychiatry	1 in 30 miles	5	1,251.8	6,259	100.0	0	0.0	2.8	3.3	
Spalding, GA	3,023	Psychiatry	1 in 30 miles	2	1,511.5	3,023	100.0	0	0.0	4.7	14.2	
Walton, GA	7,058	Psychiatry	1 in 30 miles	5	1,411.6	7,058	100.0	0	0.0	3.8	4.3	
Grand Totals	295,614	Psychiatry	1 in 30 miles	444	665.8	295,614	100.0	0	0.0	3.5	4.4	

## **Psychiatrists - Rural**

December 27, 2023

Access Analysis Psychiatry- Rural

Member / Provider Groups
Rural Members
(ATLANTA\_RURAL)
Psychiatry

			Members W	ith and W	ithout Acces	s						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Access		cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#		%	1	2
Butts, GA		Psychiatry	1 in 45 miles	3	475.0		100.0		0	0.0	6.1	6.1
Haralson, GA	1,202	Psychiatry	1 in 45 miles	20	60.1	1,202	100.0		0	0.0	6.9	6.9
Jasper, GA	833	Psychiatry	1 in 45 miles	0		833	100.0		0	0.0	17.3	17.3
Pickens, GA	1,288	Psychiatry	1 in 45 miles	1	1,288.0	1,288	100.0		0	0.0	5.2	15.0
Grand Totals	4,748	Psychiatry	1 in 45 miles	24	197.8	4,748	100.0		0	0.0	8.0	10.7
© 2023 Quest Analytics 11 C												

## **Autism Spectrum Disorder Treatment Provider - Urban**

December 27, 2023

#### **Access Analysis**

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

#### Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Autism Spectrum Disorder(ASD) Treatment Provider

			Members W	ith and W	ithout Acces	s					
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Autism Spectr	1 in 30 miles	207	26.6	5,496	100.0	0	0.0	3.9	3.9
Bartow, GA	6,211	Autism Spectr	1 in 30 miles	44	141.2	6,211	100.0	0	0.0	5.6	5.6
Carroll, GA	6,153	Autism Spectr	1 in 30 miles	0		5,830	94.8	323	5.2	17.2	17.4
Cherokee, GA	9,834	Autism Spectr	1 in 30 miles	90	109.3	9,834	100.0	0	0.0	3.3	3.3
Clayton, GA	21,493	Autism Spectr	1 in 30 miles	44	488.5	21,493	100.0	0	0.0	2.5	2.5
Cobb, GA	32,898	Autism Spectr	1 in 30 miles	351	93.7	32,898	100.0	0	0.0	1.9	2.0
Coweta, GA	5,365	Autism Spectr	1 in 30 miles	79	67.9	5,365	100.0	0	0.0	3.6	3.6
DeKalb, GA	42,120	Autism Spectr	1 in 30 miles	342	123.2	42,120	100.0	0	0.0	2.1	2.3
Douglas, GA	10,450	Autism Spectr	1 in 30 miles	41	254.9	10,450	100.0	0	0.0	3.4	3.7
Fayette, GA	3,804	Autism Spectr	1 in 30 miles	146	26.1	3,804	100.0	0	0.0	2.6	2.6
Forsyth, GA	4,143	Autism Spectr	1 in 30 miles	244	17.0	4,143	100.0	0	0.0	2.9	3.0
Fulton, GA	50,153	Autism Spectr	1 in 30 miles	1,363	36.8	50,153	100.0	0	0.0	2.3	2.9
Gwinnett, GA	46,781	Autism Spectr	1 in 30 miles	406	115.2	46,781	100.0	0	0.0	2.1	2.2
Henry, GA	18,943	Autism Spectr	1 in 30 miles	82	231.0	18,943	100.0	0	0.0	5.0	5.0
Newton, GA	8,292	Autism Spectr	1 in 30 miles	47	176.4	8,292	100.0	0	0.0	4.7	4.7
Paulding, GA	7,138	Autism Spectr	1 in 30 miles	26	274.5	7,138	100.0	0	0.0	3.3	3.3
Rockdale, GA	6,259	Autism Spectr	1 in 30 miles	12		6,259		0	0.0	2.3	2.3
Spalding, GA		Autism Spectr	1 in 30 miles	0			100.0	0	0.0	17.7	17.7
Walton, GA		Autism Spectr	1 in 30 miles	6	1,176.3		100.0	0	0.0	6.8	6.8
Grand Totals	295,614	Autism Spec	1 in 30 miles	3,530	83.7	295,291	99.9	323	0.1	3.3	3.4
		l			<u> </u>		Ц				

## **Autism Spectrum Disorder Treatment Provider - Rural**

December 27, 2023

#### Access Analysis

Autism Spectrum
Disorder(ASD) Treatment
Provider- Rural

#### Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Autism Spectrum Disorder(ASD) Treatment Provider

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without A	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Butts, GA	1,425	Autism Spectr	1 in 45 miles	0		1,425	100.0	(	0.0	17.4	17.4
Haralson, GA	1,202	Autism Spectr	1 in 45 miles	0		1,202	100.0	(	0.0	19.4	19.4
Jasper, GA			1 in 45 miles	0		833	100.0	(			14.4
Pickens, GA	1,288	Autism Spectr	1 in 45 miles	0		1,288	100.0	(	0.0	17.0	17.0
Grand Totals	4,748	Autism Spec	1 in 45 miles	0		4,748	100.0	(	0.0	17.3	17.3
© 2023 Quest Analytics II C											

## **Narcotic Treatment Program - Urban**

December 27, 2023

Access Analysis

Narcotic Treatment Program-

Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Narcotic Treatment Program

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	ccess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Narcotic Treat	1 in 30 miles	0		5,460	99.3	36	0.7	19.7	21.5
Bartow, GA	6,211	Narcotic Treat	1 in 30 miles	0		0	0.0	6,211	100.0	46.6	47.5
Carroll, GA	6,153	Narcotic Treat	1 in 30 miles	0		630	10.2	5,523	89.8	36.4	41.9
Cherokee, GA	9,834	Narcotic Treat	1 in 30 miles	0		4,520	46.0	5,314	54.0	29.8	31.7
Clayton, GA	21,493	Narcotic Treat	1 in 30 miles	0		21,493	100.0	0	0.0	8.7	13.9
Cobb, GA	32,898	Narcotic Treat	1 in 30 miles	0		30,471	92.6	2,427	7.4	22.3	23.6
Coweta, GA	5,365	Narcotic Treat	1 in 30 miles	0		5,029	93.7	336	6.3	20.5	36.1
DeKalb, GA	42,120	Narcotic Treat	1 in 30 miles	0		42,120	100.0	0	0.0	10.0	11.9
Douglas, GA	10,450	Narcotic Treat	1 in 30 miles	0		10,043	96.1	407	3.9	22.3	31.8
Fayette, GA	3,804	Narcotic Treat	1 in 30 miles	1	3,804.0	3,804	100.0	0	0.0	6.2	18.5
Forsyth, GA	4,143	Narcotic Treat	1 in 30 miles	0		4,143	100.0	0	0.0	12.9	16.8
Fulton, GA	50,153	Narcotic Treat	1 in 30 miles	1	50,153.0	50,153	100.0	0	0.0	9.3	16.8
Gwinnett, GA	46,781	Narcotic Treat	1 in 30 miles	4	11,695.3	46,781	100.0	0	0.0	7.3	9.1
Henry, GA	18,943	Narcotic Treat	1 in 30 miles	0		18,905	99.8	38	0.2	17.3	23.6
Newton, GA	8,292	Narcotic Treat	1 in 30 miles	0		3,436	41.4	4,856	58.6	31.2	33.9
Paulding, GA	7,138	Narcotic Treat	1 in 30 miles	0		208	2.9	6,930	97.1	34.5	35.3
Rockdale, GA	6,259	Narcotic Treat	1 in 30 miles	0		6,259	100.0	0	0.0	23.9	26.5
Spalding, GA	3,023	Narcotic Treat	1 in 30 miles	0		3,023	100.0	0	0.0	22.3	29.8
Walton, GA	7,058	Narcotic Treat	1 in 30 miles	0		4,694	66.5	2,364	33.5	25.4	26.4
Grand Totals	295,614	Narcotic Tre	1 in 30 miles	6	49,269.0	261,172	88.3	34,442	11.7	15.9	20.0

## **Narcotic Treatment Program - Rural**

December 27, 2023

**Access Analysis** 

Narcotic Treatment Program-Rural

Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Narcotic Treatment Program

	Members With and Without Access												
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ad	ccess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	Narcotic Treat	1 in 45 miles	0		1,425	100.0	0	0.0	21.1	33.9		
Haralson, GA			1 in 45 miles	0		551					53.1		
Jasper, GA			1 in 45 miles	0			100.0				37.0		
Pickens, GA	1,288	Narcotic Treat	1 in 45 miles	0		1,288	100.0	0	0.0	27.5	44.9		
Grand Totals	4,748	Narcotic Tre	1 in 45 miles	0		4,097	86.3	651	13.7	31.7	42.3		
© 2023 Quest Analytics, LLC.													

# **Licensed Counselors and Social Workers - Urban**

December 27, 2023

#### Access Analysis

Licensed Counsler and Social Workers- Urban

#### Member / Provider Groups

Urban Members (ATLANTA\_URBAN) Licensed Counsler and Social Workers

			Members W	ith and W	ithout Acces	s					
	Member	Pro	vider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Barrow, GA	5,496	Licensed Cou	1 in 30 miles	1	5,496.0	5,496	100.0	0	0.0	5.3	8.6
Bartow, GA	6,211	Licensed Cou	1 in 30 miles	5	1,242.2	6,211	100.0	0	0.0	7.6	8.0
Carroll, GA	6,153	Licensed Cou	1 in 30 miles	1	6,153.0	6,153	100.0	0	0.0	9.6	18.2
Cherokee, GA	9,834	Licensed Cou	1 in 30 miles	16	614.6	9,834	100.0	0	0.0	3.1	3.9
Clayton, GA	21,493	Licensed Cou	1 in 30 miles	9	2,388.1	21,493	100.0	0	0.0	2.8	3.4
Cobb, GA	32,898	Licensed Cou	1 in 30 miles	29	1,134.4	32,898	100.0	0	0.0	2.7	3.8
Coweta, GA	5,365	Licensed Cou	1 in 30 miles	12	447.1	5,365	100.0	0	0.0	4.6	5.4
DeKalb, GA	42,120	Licensed Cou	1 in 30 miles	40	1,053.0	42,120	100.0	0	0.0	2.6	3.4
Douglas, GA	10,450	Licensed Cou	1 in 30 miles	6	1,741.7	10,450	100.0	0	0.0	3.0	4.7
Fayette, GA	3,804	Licensed Cou	1 in 30 miles	13	292.6	3,804	100.0	0	0.0	3.2	3.8
Forsyth, GA	4,143	Licensed Cou	1 in 30 miles	5	828.6	4,143	100.0	0	0.0	4.7	6.8
Fulton, GA	50,153	Licensed Cou	1 in 30 miles	41	1,223.2	50,153	100.0	0	0.0	2.9	4.4
Gwinnett, GA	46,781	Licensed Cou	1 in 30 miles	28	1,670.8	46,781	100.0	0	0.0	2.6	3.4
Henry, GA	18,943	Licensed Cou	1 in 30 miles	12	1,578.6	18,943	100.0	0	0.0	4.0	4.8
Newton, GA	8,292	Licensed Cou	1 in 30 miles	4	2,073.0	8,292	100.0	0	0.0	4.6	6.3
Paulding, GA	7,138	Licensed Cou	1 in 30 miles	3	2,379.3	7,138	100.0	0	0.0	4.6	6.0
Rockdale, GA	6,259	Licensed Cou	1 in 30 miles	6	1,043.2	6,259	100.0	0	0.0	2.4	3.7
Spalding, GA	3,023	Licensed Cou	1 in 30 miles	4	755.8	3,023	100.0	0	0.0	4.3	4.3
Walton, GA	7,058	Licensed Cou	1 in 30 miles	5	1,411.6	7,058	100.0	0	0.0	3.6	4.5
Grand Totals	295,614	Licensed Co	1 in 30 miles	240	1,231.7	295,614	100.0	0	0.0	3.3	4.5
© 2023 Quest Analytics II C											

# **Licensed Counselors and Social Workers - Rural**

December 27, 2023

#### Access Analysis

Licensed Counsler and Social Workers- Rural

#### Member / Provider Groups

Rural Members (ATLANTA\_RURAL) Licensed Counsler and Social Workers

	Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Butts, GA	1,425	Licensed Cou	1 in 45 miles	1	1,425.0	1,425	100.0	0	0.0	6.0	17.0		
Haralson, GA			1 in 45 miles	0			100.0	0	0.0	12.0	21.2		
Jasper, GA		Licensed Cou		0			100.0		0.0		19.9		
Pickens, GA	1,288	Licensed Cou	1 in 45 miles	5	257.6	1,288	100.0	0	0.0	5.1	5.3		
Grand Totals	4,748	Licensed Co	1 in 45 miles	6	791.3	4,748	100.0	0	0.0	8.9	15.4		
© 2023 Quest Analytics, LLC.				<u> </u>									